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N p.cen =V p.oer= |l
Toww. = T Towd, = Tl
BII3- 145 . BII3- 150
Fowt = 9.26 ' Font = 455
Q ke, = 2.509 - Q ke, = 1.233
D onm= 127.0 - D on.uv= 82.0
P uMM = 455.6 P umm = 347.8]
P BH.MM= 345.6 P Bu.Mu= 123
[p. c1. =0cob. 465 [p.cr = VI
Toww. = Tl Tows. = Tl
laer  11-014



bII3-151 bII3-156
Fout = 2.789 - 1A - Fem = 8.820
Qe = 0756 | Q ke. = 2.390
D on.mm= 20.0 3" D on.mm= 126.5
P hav = 628 95| P Hwm = 3997
P BH.umM= 21,05 " I P BHumM= 315.0
[p.ca. = |l — p.av= N
Touw. = H Towh. = I
_ » blI3-152 bII3-157
Fem? =7.360 3 7y B Fem? = 1.800
= I 0 = 1.99 ; 2 Q ke. = 0.487
D on.mm= 95.3 7z | D onmm= 24.0
3 P HaM = 3025 2 P HMM = 66.5
‘ P Bx.um= 156.0 - P Bx.mm= 46.0
b0 L ez v p.cn = I
Tow. = T To. = H
bll3-0153] W _ bII3-158
I D Fou = 2519 Fov =9.130
~ Q k2. = 0.683 b | Qke = 2480
L D on.umM= 56.0 "y | D onmm= 105.0
a2
N/ Pt = 1940 Pt = 346.0
P Bx.uM= 65.5 P Bx.mM= 236.0
- ol —| | Ip. ca. =0cob. 100 [p.cn. = IV
Toww, = Tl Tow. = 1T
T bII3-0154 B bII3-159
Fow =40% | | D Fout = 7.540
© Q ke. = 1.094 ] Q ke. = 2.043
= D onmm= 30.0 | _ &) | Donmv= 980
;;E P umv = 183.2] ™y 1 | PHmv = 3430
P Br.um= 210.2 P Bx.mm=206.0
44 [p. ca. =0cob. | Tpoen =V
—- - Tous, = Tl Tow. = 1T
blI3-195| 7 30 bII3-160
Fow =680 | 1 Fowt = 8.000
Q ke = 1.348 ! Q ke = 217
D onm= 894 | 8 D on.mmM= 69.0
P umm = 2/8.7 Y P uv = 223.0
P Br.um= 235.0 P Bn.umM= 144.0
[p.cr = IV 60 [p.cr. = IV
Toww, = Tl Tow. = 1T
lmer  1I-015




= 30 bII3-161 , bII3-166
" e S|
Fou = 8310 - Fom? = 2.680
_ Q k2. = 2.252 Q k2. = 0.725
=1 1 | D onmu= 780 D onmm= 73.0
R 1 | PoHam = 2810 P o = 167.0
00 P Br.um= 144.0 ] P Br.mmM= 115.0
I [p.ca = IV N B [p. cx. =0cob.
Tow. = T Touw. = H
w . |BI3-167
- e |Fowr = 2380
Q k2. = 0.64
D on.mm= 61.0
P uv = 143.0
_ 9 P Bram= 91.0
[p. 1. =0cab.
Tow. = H
blI3-168
Fem? =7.800
Q ke = 2114
D on.mm= 78.0
P umm = 2370
P Bu.mv= 170.0
[p. o=V
Tow. = T
| bII3-164 blI3-169
Fom? = 13.07 Fem? =20.200
Q ke. = 3.54 Q0 ke. = 5.49
D on.mm= 96.0 D on.mm= 134.0
P M = 265.0 P um = 440.0
P Brm= 229.0 130 P Br.mm= 275.0
[p.ca. = I - - [p. e = VI
Toww. = T Tow. = 1T
bIIo-165 bII3-170
= S| | Feut 23350 Fout = 3420
| ~ - Q k2. = 0.909 Q ke. = 0.93
i 17 D on.uu= 98.0 D on.MM= 51.8
06 P o = 217.0{ 7 P HM = 2125
- P Bx.mm= 126.0 —| P BH.Mv= 106.0
[p. ca. =0cob. [p.en. = VI
Tow. = H Tow. = 1T
JTaer [1-016




BI3-171] =y  |BI3-176
F e = 3.6/0 F cm? =6.328
Ok = 0991 | 29 | 1 o Q k. = 1715
D on.wm= 1.8 D on.mm= 99.4
P umM = 236.5 P umm = 3263
P BH.uv= 106.0 vt M | P BH.uu= 232.8
[p.ca. = VI U [p. ca. =0cob.
Tow. = T Toww. = 1l
BII3-172 0 BII3-177

— | Fomr =3.920 F e = 4.69
Q k2. = 1.064 I 1 |Qke = 1.271
D onmm= 1.8 | 923 D on.mm= 36.4
P Hmm = 260.5 —~— IS [P oMM = 257
P B1.mm=106.0 | P BH.mv= 148.2
[p.cn. = Wl — 1| Tp. en. =0cob.
Tow. = T Town. = 1l
bII3-173 . blI3-178
Fow 23260 | 08 N Fon = 1.040
Q ke = 0.883 Q ke. = 0.282
D on.mm= 38.3 D on.mm= 14.0
P umm = 256.0 P umy = 44.0
P BH.umM= 43.0 P BH.uM= 29.1
[p.ca =V p.an= IV
Tow. = T Tow. = T
blI3-174 bII3-179
Fem? = 7.540 Fem? =1.370
Q ke = 2.04 Q ke = 0.371
D on.wm= 70.7 D on.mm= 16.0
P HmM = 3575 P uwm = 30.2
P Bh.mv= 163.2 P BH.mu= 28.3
[p. ca. =0cob. p.av= N
Tow. = T Toh. = T
bII3-175 bII3-180
Fem? =3.320 Fem? =1.600
Q k2. = 0.900 Q ke. = 0.434
D on.mm= 38.3 D on.mm= 18.0
P wwm = 260.0 P HmM = 369
P BH.mv= 4.2 P BH.MM= 4.5
[p. ca. =0cob. p.ean= IV
Tow. = T Toh. = T

V(& [I-017




bII3-0181 bII3-186
Femt = 3.032 Fem? = 2.760
0 Q ke. = 0.822 Q ke. = 0.748
D on.mM= 63.0 D on.mM= 26.0
P wmM = 209.2 P HM = 81.6
60 P Bu.um= 94.0 P BH.umM= 56.3
p.ca.= IV fp. o = |l
Toww. = Tl Tow. = 1T
blI3-182 bII3-187
Fem? = 1.810 Fem? = 2,410
Q ka. = 0.491 Q k. = 0.669
D on.mm= 20.0 D on.mmM=26.0
P HM = 62.8 P uM = 81.6
P Br.um= 40.8 P Brm= 59.7
[p.en. = IV [p. e = |
Tow. = T Tow. = 1T
blI3-183
Fem? = 2.260
Q k2. = 0.612
D on.mm= 22.0
P HmM = 69.1
P Bu.mv= 44.0
p.en= N
Tow. = T
bll3-184 27 bII3-189
Fem? = 2910 Fem? =26
Qke. = 0680 | Q ke. = 0.705
Donmu= 240 | 0 D onmm=43.0
Pumv = 754 _ P HM = 152
P Br.um= 50.2 P Br.mmM= 92
[p.ca. = |l 20 p.on =V
Toww. = T Towh. = I
bII3-185 bII3-190
Fem? = 2.250 Fem? =16.300
Q ke. = 0610 ol |0 ke = 442
D onmm= 240 | = D on.mm= 104.0
P HmM = 754 100 P um = 303.0
P Br.um= 953.4 P Bx.mm= 250.0
[p. e = | [p. 1. =0cob.
Touw. = T Tow. = 1T
JTaer II-018




BII3-191 BII3-0196
Fem? =1.65 Fem? = 3.770
Q ke. = 0.447 Q ke. = 1.022
D on.wm= 30.0 D on.mu= 434
P umm = 1047 P umm = 3094
P Bu.mv= 57.4 P Bu.Mu= 62.8
[p.cn= N [p. ca. =0cob.
Tow. = H Toww. = 1l
bII3-192 bII3-0197
Fom? = 22.560 Fom? = 3.440
Qe = 6.114 |4 Q ke = 0.932
D onmm= 70.0 | = D on.mm= 36.4
P wmv = 219.9 P umm = 920
P Brum= 141.3 345 P Brmm= 25.8
[p. e = | [p. 1. =0cab.
Tow. = T Town. = 1l
n
o BII3-193
, , Fem = 7.037
Q ke = 1.907
|| D onmv=118.0
| P umv = 408.1
: P BH.um= 301.6
Nt [p.cr.= Ml
Toww. = 1l
blI3-0194 bII3-199
, F e =5.052 Fem? = 8.075
S 0k = 1389 0 k2 = 2,188
D on.mm= 102.0 D on.mm= 48.0
P Hmv = 289.2 P Hmm = 151.2
100 P Bhuw= 194.0 P Bruw= 1127
[p. ca. =0cob. p.av= N
Toww. = 1l Town. = 1l
bII3-200
Fem? = 20.504
Q k2. = 5.556
D on.mm= 120.0
P HmM = 377.6
P Bnmu= 341.8
p.ean= IV
Town. = 1l

[I-019




bll3-0206

Fem? = 3.108
Q k. = 0.842
7N D on.um= 98.0
© 95 P HM = 215.0
P Br.um= 190.3
[p. ca. =0cob.
Toww. = I
BII3-0207
Fem? = 7.492
- Q ke. = 2.030
LN D on.mm= 92.0
P Hm = 287.7
P Bx.mm=280.6
80 [p. 1. =0cab.
Towd, = Tl
_2 | BII3-203 BII3-208
_] Fout = 5.337 Fowt = 12,060
m Q ke = 1.446 Q ke. = 3.268
— 3 D on.mm= 82.0 D on.um= 98.0
— P umv = 3479 P Hm = 307.1
) P Br.mu= 182 P BH.mu= 278.5
55 [p.ca. = VI [p.ca. = VI
Toww. = Tl Tow. = T
v | blI3-204 bII3-209
1 Fem? = 4.908 Fem? = 3.220
= Qke. = 1.33 Q k2. = 0.873
S| | D onmu= 820 D on.mm= 92.3
P wmm = 290.3 P HM = 192.0
P Bu.mM= 182 P Bx.um= 118.0
55 [p.ca. = VI [p.ca. = V
Towd, = Tl Tow. = T
bII3-209 25 blI3-210
F et =25.298 — Fem? = 3.558
0 k2. = 6.856 o1l | Qxe = 0.964
D on.mm= 148.0 =1 D onmw= 220
S P hww = 397.4 — 1| P Hm = 1574
P Bn.m= 359.4 P Br.um= 82.0
R lp.oea = V[ 38 p.cr.= N
Touw. = H Toww. = I
JTacr I1-020




7 BII3-211 BII3-0216
Fem? =8.090 Fom? = 12400
Q ke. = 2.192 Q k2. = 3.360
i <'| |D onmm= 50.0 D on.um= 81.5
. P uw = 1730 P umm = 317.8
_ P Bu.mv= 57.0 P BH.mv= 139.0
y 38 p.cn= N fp.ca = W
Tow. = T Toww. = 1l
bII3-212 bII3-217
Fem? = 1.805 Femt = 3.612
Q ke = 0.489 Q ke = 0.979
D on.mm= 33.7 D on.mm= 32.0
P HM = 96.6 P wmM = 126.2
P Br.um= 84 P Bum= 102.3
[p. e = I fp. e = VI
Toww. = Tl Touw. = H
20 _ |BI3-0213 bII5-0218
Fem? = 1.369 Femt =222/
! Q ke = 0371 Q ke = 0.604
D on.wmM= 354 D on.mm= 35.0
'3 P umm = 159.0 7 P umv = 129.3
P Bh.mu= 63.9 % 74 | P Bhwv= 637
[p. ca. =0cob. [p. ¢4 =0cob.
! Toww. = Tl ~ 20 - Toww. = Tl
bII3-0214 bII5-0219
! Fou? = 1.547 ,A | Fout = 2544
| 7 7=z 0k = 0419 [=1f 7 Eﬁ 710 = 0689
a2 D on.mm= 42.8 ' <ZZ21 D on.mM= 63.0
i 0 P HM = 185.0 60 P wwM = 288.1
2722 P Bu.mmv= 740 = 1| P Bu.mm= 0.0
B 39.6 [p.cn = VI Ip. c1. =0cob.
- Toww. = I Tows, = Tl
bII3-215
! Fowt = 7,338
Q ke, = 1.989
3 D on.mm= 60.0
< P Hm = 5415
P Br.um= 128.5
! [p. ca. =0cob.
Tows, = I
Taer [1-021




& BII3-0221 53 BII3-226
1 777 Fou? =1.723 Fout =2
i Qe = 0467 | ] 0 . = 054
- D on.mm= 400 [ < D on.mm= 7.0
™ Puww = 2309 P M = 2320
P Br.mwm= 0.0 245 P BH.mm= 101.3
i [p. ca. =0cob. [p. ca. =0cob.
- Toww. = 1l Town. = H
T bII3-0222 = | blI3-227
Fomt = 3.349 g ——— | | CM? = 2,68
= o 2 9 Q| |0k =008 ! Q k. = 0.726
D on.mm= 71.0 - % ‘ D on.mm= 80.0
P umv = 397 <= P umv = 306.5
L4 4 L |P Bummu= 1240 N P BHwm= 101.3
50 M.cn= IV 1 o - Ip. ca. =0cob.
- = Toww. = 1l Ton. = H
bII3-223 bII3-228
Fem? =1.820 F et =1.000
Q ke = 0.493 Q ke = 0.271
D on.mm= 31.0 D on.mm= 18.0
P umv = 973 P HMM = 56.5
P BH.umM= 84.8 P BH.MuM= 44,0
[p.ca. = I p.cn= IV
Tow. = T Tow. = T
_ bl[3-224 bI13-229
e L F ot = 8441 ot = 10,55
- T 0 ke = 2.268 0 ke = 3347
A Eﬁ % < D onmm= 129.0 D on.mm= 88.0
P uwv = 2374 P Hwmv = 226.7
199 P Bh.mv= 521.8 P Bn.mv= 100.9
—= - [p.ca. = VI fp.ca =V
Toww. = 1l Tow. = H
| 100 bll3-024v] ., . blI3-230
y (Pt =3d1 | T Fowt =1.16
Q0 ke. = 1.456 — b0k = 0314
I |D onmu= 1000 —y | D onmmu= 260
2| |PHmw= 2277 P HmM = 76,5
— P Buwmn= 317 97 P BH.M= 28.3
p.cn.= N - p.c.= N
Toww. = 1l Tow. = H

lTuer
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bII3-231 bII3-236
Fem? = 6.870 Fem? = 7.600
0. = 1858 & 0 . = 2060
- / o -
D on.uM= 68.0 - / D on.um= 40.0
P = 416.0 ) P o = 1257
P Bh.mu= 0.0 P Br.mm= 78.
[p. ca. =0cob. 04 fp.cr. = |
Toww. = Tl Tow. = T
blI3-232 bII3-237
F e =6.120 Fem? =23.700
Q k2. = 1.659 Q ke = 6.423
D on.mm= 39.0 D on.mM= 7.0
P umM = 324.0 P HM = 235.6
P Bh.mv= 0.0 P Bx.mm= 160.0
[p. ca. =0cob. fp.cn = |
Tows, = Tl Tow. = 1T
blI3-233-01 blI3-236
0 F et =6.140 Fem? = 30,600
o Q k2. = 1.664 Q ke = 8.293
! D on.mm=98.0 D on.mmv=80.0
P umv = 317.0 P umm = 2513
P BH.mv= 237.0 P Bu.mu= 157.1
fp.ca =V fp.cr = |
Toww. = Tl Tow. = T
blI3-234-01 bII3-0239
Tz Fout = 6.730 Fout = 19.986
3 _? ﬁ q fm Q ke. = 1.824 Q k. = 5.416
‘ o D on.mM= 98.0 D on.mmM= 95.0
91 P HmM = 385.0 P wM = 264.4
— -— P Bn.mM= 228.0 P BH.mM= 62.8
fp.ca = M p.av= N
Toww, = Tl Touw. = H
blI3-0235| - bII3-0240
1 Z& 227
1 F et =15.800 - Fem? = 2.097
of Qe = 4282 | == Q k2. = 0.568
ﬁv D onww= 1140] D on.mmv= 42.8
P wmM = 289.9 P HM = 2125
113 P Bhuuz 346 | 22| P i 00
[p.cn = IV 33 p.en. =V
Tow. = H = = Towh. = Tl
leer  1I-023




77 /4

28

7777

blI3-0241

bI13-247

| S 7 - 9 Fom? = 1.916 o) D Fout = 7.780
7 7 Q ke. = 0.519 g 7R Q ke. = 2178
| / D on.uv= 42.0 b 4 D onmw= 3.0
~> Gty P Hww = 1832 & 2 P Hwm = 217.6
/A P Bu.um= 738 ' P 8= 30.7
— - Mp.cr.= VI [p. cn. =0co.
A7 “ Y T(F))MH. = T(F))HH. =
5 | bll3-242 bII3-248
— [Fowt =5.418 Fout = 1.803
— Qe = 1468 | 2 B 0 ke. = (.494
e | D onw= 950 D onmw= 27.2
- P H.MM = 401 NN P HMM = 122.6
P BH.mum= 148.5 P BH.mm= 0.0
p.en= IV [p.en = i
Toww. = 1l Toww. = 1l
BII3-243 BII3-249
Fowt = 6.53 2 | Fowt =295
Q ke, = 177 0 0 Q ke. = 0.799
D onww= 1200] V| [ | Donww= 400
P Hm = 293.2 A /] P Ham = 125.6
P Bz 2748 ) 1P B 1099
[p. ca. =0cof. 2z Mp.cn. =
Towr. = Tl Town. = T
—
7 7 |B-0ad BII3-250
2 7 F ot = 0615 F ot = 3900
/ . .
= Z“””Z 0k = 067 | | 0 . = 1057
o Z Z D onwm= 200 | &1 = | D onmm= 1205
7 7 P = 665 | P = 2683
V T P b= 268 || || U P Biaw= 117.6
76 ’ [p.ca = VI [p. ca. =0cob.
: Towr. = H Touw, = T
. |BI3-0245 BI3-250-01
G e it |F oMt = 4R Fowt = 3.818
= /7% 7 lee=um | 0 . = 105
/A D onn= 1730 B0 | D onn= 1200
v U b P HMM = 6421 P hum = 2680
’ ' P BH.um= 607.9 P Br.mm= 113.0
- 140 e =V [p. ¢1. =0cob.
Toww. = 1l Toww. = H

lTuer

[I-024




bII3-251

Fent = 3.070
Q ke. = 0.832
D on.mm= 32.0
P wuM = 96.2
P Bn.mM= 116.5
p.en= N
Toww. = I
. 13 bII3-0252 . bII3-257
- Fout = 29700 ' Fout = 6.86
@ Q ke. = 8.049 I Q ke. = 1.839
Yo D onmn= 187.0| = D on.mmv= 91.7
= P oam = 5714y g5 |t = 3432
P Br.mm= 246.4 —=t <" | P BH.um= 229.8
19 fp.en. = VI [p.en. = VI
Tows. = Tl Towh. = Tl
i BI13-253 . BI13-258
/' 1 — 7 —
= R E
%.% | (D onwe 1100] 7T 0o 1020
/é’//// / - P uum = 80| el i | P Hv = 296.1
7 - -
V|1 o
Touw. = T Touw. = H
BII3-254 o BII3-259
Fem? =13.35 = I Fem? =8.300
Q ke. = 3.618 o Q ke, = 2.249
Donwn= 880 | T = D onm=_ 103.0
P Hm = 226.2 S 1 P Hom = 329.5
P Bu.mm= 94.2 % P Bx.mmM= 161.0
[p.cn = IV - [p.cn. = VI
Toww. = Tl Touw. = H
| blI3-499 bII3-260
I owt = 8.660 boIFow = 1200
Q ke, = 2,347 - Q ke, = 3.297
D on.mm= 80.0 e D on.mm= 118.0
i || P umm = 2357 gzﬁ I P umm = 385.0
“ P Buu= 198.0 - P Buun= 349.0
fp.cr. =V 44—« fp.ca. = VI
Town. = Tl Touw. = H
lmer  1I-025




15 bII3-0261 bII3-266
7 7 Fowt =22 Fom? = 4.018
Q ke. = 0.527 Q ke. = 1.089
o D on.mM= 28.0 D on.mM= 69.3
a2 P umv = 79.0 P umm = 207.9
P BH.mv= 6/.9 P Bn.mu= 194
- ' [p. ca. =0cob. [p. e = VI
§ Touw. = 1l Tows. = H
blIo-262-01| bII3-0267
Feu? = 13.731 Fem? = 2.000
0 ke. = 3.721 g Q ke, = 0.542
D on.mv= 8.6 |2 D on.mm= 32.0
P Hwmv = 331.7 7 P oy = 1098
P BH.mu= 0.0 ' P BHmu= 31.7
p.ca= N 28.9 fp.ca =V
Toww. = 1l Towr. = Tl
blI3-263-01 bII3-268
Four =5180 | Fcm? = 5.61
0 ke = 1404 |3 Q ke, = 1.92
D on.mM= 520 ! D on.mv= 83
P hum = 291.8 81.5 P hm = 280.4
P BH.mm= 0.0 P BH.um= 37.7
poon= V p. o= VI
Tow. = H Town. = 1
bII3-264 0 bII3-269
Fem® = 14.840 Fem? = 6.860
Q0 ke = 4,022 1 Qe = 1859
D onww=103.0 ~>y | D onmm= 105.0
P Hmv = 581.0 P Hwm = 3378
P Buw= 0.0 ot P Bz 124.6
p.en. = IV [p.en. = VI
Tow. = H To. = H
N bII3-265 bII3-270
18 Fouwt = 9.670 ! F ot = 2.470
I 0 ke = 2601 | = Q ke. = 0.669
D on.mv= 100.5 = D on.mM= 31.5
S8 P umv = 426.0 P umm = 138.1
I P BH.mm= 111.0 ! P BH.MmM= T75.4
Sl Mp.ca = IV Mp.ca = I
Tow. = H To. = H
ITacr 26




BlI3-271 BII3-276
Fem? =0.589 Fem? = 3.040
Q k2. = 0.160 Q ke. = 0.824
D on.mm= 14,0 D on.mmM= 39.0
P umv = 440 P uwm = 1460
P BH.mv= 345 P BH.mM= 89.0
p.a= NV fp.cr. = Wl
Tows. = Tl Touw. = H
bII3-272 bII3-277
Fem? =0.960 Fem? = 3.880
Q ke. = 0.260 Q ke. = 1.051
D on.mv= 22.0 D on.mm= 42.0
P umM = 69.1 P uwM = 168.0
P Bu.um= 39.7 P Bu.wum= 124.0
p.en= IV [p. cn. =0cob.
Tows. = Tl Tow. = H
bII3-273 wr___ blI3-278
Femt =0.780 7 Fem? =13.500
Q ke = 0.211 Q ke = 3.659
D onmm= 180 | = D on.mm= 151.0
P HMM = 56, V 1~ | P M= 4280
P Bu.mv= 47.1 P Bu.mv= 388.0
p.on= N ‘ 10 fp.ea= Wl
Tows. = Tl - Touw. = H
blI3-274 Vo bII3-279
Fem? =3.230 Fem? =3.972
Q ke. = 1.417 | Q ke. = 1.076
D on.mm= 90.0 - D on.mm= 80.0
P umm = 303.0 Lo P Hum = 306.8
P BH.mv= 246.0 ‘ P Bn.mm= 81.7
[p.cr. = VI 60 [p.cr. = VI
To. = H Town. = H
bII3-275 0 1 | bII3-280
Fem? =6.100 1 Fem? = 6010
Q ke. = 1.653 Q0 ke. = 1.764
D onmn= 8.5 | _ 15 D on.mv=70.0
P umM = 2660 = P wwM = 200.0
P Bu.mv= 209.0 P Bu.mm= 172.0
[p. ¢ =0cob. | fp.cn = IV
Tow. = H Tow. = H

lmer  11-027




_ bII3-2061 18 bII3-286
Fem? = 3.840 F e = 5.2604
= 210 ke = 1.04 | [0k =140
Donmv= 700 | | |Donmv= 903
Pumv = 2000 = 95 P umm = 3873
50 P BH.mv= 184.0 ‘ — P BH.mM= 146.5
fp.cn. = VI 64 fp.cn. = VI
Toww. = T - - Toww. = 1l
BII3-262) +— BI13-287
Fom? =1.679 i Fom? = 4520
Qke. = 049 | = Q ke = 1.225
D on.mm= 41.0 D on.mm= 720
P Hmv = 1166 | 0 P Ham = 332.0
P Bu.mv= 107.1 —~— P Bu.mm= 120.0
[p. ¢ =0cob. k) [p.ca = VI
To. = H Toun. = Tl
blI3-283 bII3-288
F et =2.240 Femr = 4740
Q k2. = 0.607 Q ke = 1.284
D on.mv= 44.0 D on.mm= 61.5
P umv = 120.0 P HMM = 163.5
P Bn.mv= 104.0 P Bn.mv= 138.7
p.ocr =V p.cn= IV
To. = H Toun. = H
) BII3-284 4 BI13-289
“ F ot = 260 F ot = 4884
- i Q ke. = 0.715 Q ke, = 1.34
ik D onmn= 51,0 | B D onmm= 71.0
! P umv = 140.0 P uwM = 3948
P BH.mv= 124.0 P BH.mv= 123
al | {Tpoan =V 6 fp.ca.= Wl
Town. = H - - Towr. = 1l
bII3-285
F M = 2.264
Q ke = 0.614
D on.mv= 47.0
P Hav = 205.5
P Bn.mmv= 70.4
p.en= IV
Toww. = 1l
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bII5-291

F oM =9.9)
Qe =19

D on.mv= 60.0
P umv = 188.7
P BH.MM= 165.2
p.a.= NV
To. = H

blI3-299

Fem? =0.992
Q ke. = 0.258
D on.mm= 13.0
P umm = 48.13
P BH.mv= 17.28
p.ca.= IV
Toww. = H

bI13-300

Fem? =7.910

0 = 214

D on.mv= 91.0
P v = 303.0
P Bn.mv= 226.0
[p. cn. =0cob.
Toun. = H

JlHer

[1-029
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bII5-301

F oM =1.848
Q k2. = 0.501
D on.mv= 2.3
P umv = 118.1
P BH.mv= 84.8
p.a= NV
To. = H

blI3-306

Fom? = 4.560
Q k2. = 1.236
D on.mm= 45.0
Pumv = 1414
P BH.mmv= 119.4
fp.cn = |
Town. = H

blI3-302

0 105

Fem? = 11.160
Q ke = 3.024
D on.mm= 105.0
P umv = 330.0
P Bu.mv= 308.0
[p.ca =V
To. = H

bIl3-307

Fcm? = 3570
Q k2. = 0,967
D on.mm= 36.0
P uamv = 1131
P Bu.muM= 91.1
fp.cn = |l
Toun. = H

130

bl13-308

Fcm? = 3.665
Q k2. = 0,993
D on.mv= 130
P v = 2/0.8
P Bn.mmv= 194.4
[p.cn. = VI
Toww, = I

blI3-309

58

Fem?t =3.920
Q k2. = 1.604
D on.mv= 88.0
P uwm = 275.7
P BH.mv= 299.0
[p. c1. =0cob.
Towr. = 1l

bll3-310

Fcm? =10.200
Q k2. = 2.766
D on.mm=70.0
P Hav = 219.8
P Bn.mv= 188.4
fp.cn = |l
Toun. = H

JlHer
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bll3-317

Fcm? = 6.240
Q k2. = 1.691
D on.mm= 113.1
P uam = 320.0
P Bn.mv= 304.0
[p.cn = IV
Ton. = H

blI3-318

F e =0.2/6
Q k2. = 0.075
D on.mm= 7.0
P HMM = 223
P BH.mv= 12.2
p.cn =V
Toun. = H

blI3-319

Fem? = 0.461
Q k2. = 0.125
D on.mm= 9.0
P Hmm = 28.6
P BH.Mm= 154
fp.cr =V
Toww. = H

G

0 6 S

blI3-320

Fem? =052/
Q ke = 0.143
D on.mm=10.0
P Ham = 317
P Bu.mv= 18.5
fp.cn= V
Toun. = H

Jlmer
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blI3-321

s ot = 0750
| Q k2. = 0.203
D on.wm= 12.0
“ | P uwm = 37.7
v ‘ P Bhwu= 219
p.cr.= IV
Touw. = H
BII3-322 ; BI13-327
Fom? =1.810 T t o Fou? = 3.978
Q k2. = 0.491 21 Q ke = 1.076
Donmu= 200 | = 7= | D onwm= 68.0
P HMM = 62.8 | g P HMM = 200.5
P Br.mm= 40.8 55 P BH.mm= 158
fp.ca = I - = [p.cn = IV
Touw. = H Toww. = Tl
. BII3-323 1t BI13-328
Fom? = 2.28 \ Sorrd Fom = 4.458
Y& Q k2. = 0.618 _ Q k2. = 1.241
g/ % st D onwM= 365 | = D on.wmM= 77.8
o oo r——— | P = 906 | P hwm = 285.5
P Bu.mm= 35.4 P Bu.mM= 188
p.cn= IV % p.cn= IV
Touw. = H Toww. = Tl
~w , |blI3-J%4 N bII3-329
H N i [ F o = 4907
I Q ke. = 1751 . Qke. = 1.33
I Aé‘ 3 D onmn= 1100 =3 D on.mm= 81.4
! ] oy | P = 4152 P Hwm = 326.2
P BH.uM= 172.8 ‘ P Bn.mv= 188
% = N 55 oon=
Towh. = Tl Towh, = I
0 blI3-325 /s bII3-330
i L1 | Foow =3.240 L |Fow =058
Q ke. = 0.878 Q ke. = 0.160
| D onwn= 805 B D on.mv= 140
07 - P umv = 233.0 A P HmM = 44.0
\Q ! P Bu.mv= 133.0 = P Bu.mm= 345
[p. cn. =0cob. = fp.cn = IV
Toww. = Tl Tow. = H
(5 32




& [BII3-331
_ “ Fom? = 3.640
N (0 ke = 0.986
o~ D on.mv= 57.8
il P i = 190.0
| P BH.mv= 72.3
- 32 _ p.a= NV
Towh. = 1l
bII3-332 bII3-337
ST S L [Foezosm | OB S F ot = 0454
! v | Qe = 0.691 Q ke, = 0123
_] = D on.mm= 354 D on.mm= 10.0
A 395 P HuM = 184.4 P HuM = 317
B P Bu.mv= 82.6 P Bu.mv= 20.42
fp.ca = I fp.cn = |l
To. = H Toun. = H
blI3-333 bII3-338
=~ 62 F et =2.800 Fem? = 3.520
| ‘—j: 0 e, = 0.5 0 e, = 0954
— Kz—’: D onmn= 63.2 D onmm=27.0
\ — [P ow = 2004 P hm = 85.1
P BH.mv= 102.6 P BH.MM= 53.1
fp.ca = fp. o=
To. = H Toun. = H
‘ BII3-334 ; BI13-339
A Fom? =15.660 Fom? =1.840
0 ke = 4.244 [ Q xe. = 0.499
2 Donmm= 9.7 | o D on.m= 36.0
7 Pumw = 2100] P v = 100.0
k! PP o= 1194 L P Bz B4
p.ca.= NV p.cr. =V
Town. = H Toww. = H
bII3-340
S M0 o =485
r Q k2. = 1.308
! D on.mv= 103.0
‘ ‘ P Ham = 246.6
P Bn.mmv= 231.4
[p. cn. =0cob.
Toun. = H
lmer  11-033




BII3-341 BII3-346
Fout = 1440 |2 2| Fomt = 2440
Q ke. = 0.390 1 |0Q ke = 0.661
D on.uv= 28.0 %\ D on.wm= 75.1
P uwv = 80.0 P uwm = 164.0
P B 640 | |~ P faw= 1310
p.a= NV p.cr =V
Toud. = Qcod. Toww. = Tl
blI3-342 C bII3-347
Fem? =9.292 Fem? = 2.240
0 ke = 2518 | 2 =| |0k = 0607
D on.mv= 12/.0 D on.mm= 42.0
P HuM = 5395 v | P = 1192
P Bx.mum= 369.9 P Bu.um= 104.0
[p.ca. = VI 0 [p.cn =V
Tows. = Tl Tous. = Ocod.
bll3-343 blI3-3486
= 18 | oo F cm? = 4.56 Fem? =1.182
i 17| Qe = 1.236 Q ke. = 0.320
| | D on.uv=80.3 D on.mm= 28.0
m [P Hmm = 3740 P Hmm = 795
30 P Bu.uv= 82.0 P BH.MM= 67.6
[p. c1. =0cod. fp.ca= Wl
Tows. = Tl Touw. = H
bll3-344 blI3-349
o~ < Fom? =5.250 Fom? = 3.240
3 | r Q ke, = 1.423 Q k2. = 0.878
B | D on.mv= 103.0 D on.mm= 42.0
10 \ P HM = 2465 P uwv = 1191
- — P Bn.mu= 227.4 P BH.mm= 96.0
[p. c1. =0cob. fp.ca. =
Toud. = Ocod. Toud. = Qcob.
BII3-345 . BII3-350
Fem? =12.160 B = Fom? = 2.640
QOke.= 3295 | _, L0 = 0715
D onwv= 1000 — w D on.m= 47.9
P HmM = 663.9 P waM = 182.0
P Bhun= 285.5 4 P Buuw= 82.0
[p. ¢ =0cob. [p. cn. =0cob.
Tow. = H Toww. = Tl
- Tmer  11-034




bII3-351 bII3-356

F et = 2,880 ////////// Fem? = 3.250

Q k2. = 0.780 ) Q ke. = 0.875

11D onmv= 50.0 // D on.wmM= 31.0

- P wmm = 206.0 P umM = 859

P BH.mv= 82.0 P BH.mM= 37.7

[p. c1. =0cob. fp.ca. =

Tows. = Tl Touw. = H
BII3-352 BII3-357

Fem? =3.120 Fem? = 3,580

Q ke. = 0.846 Q0 ke. = 1512

D on.mv=50.0 D on.mv=36.0
P umm = 230 P uwM = 127.4

P Bu.mum= 82.0 P Bx.um= 96.0

[p. ¢ =0cob. fp.cno = I

Tows. = Tl Tow. = H
bII3-353 blI3-358

F et =0.640 Fem? =5.825

| Qke = 0173 Q ke. = 1.579
\ D on.mm= 14,0 D on.mm= 42.0
P Hmv = 38.3 P umm = 116.0

P Bumv= 25.7 P Bu.mM= 78.2

fp.ca = fp. o=

Touw. = H Touw. = H
BII3-354 BII3-359

Fewt = 1,100 / o, | [Far =110

N Q k2. = 0.298 "" / Q ke. = 2.095
o~ | D on.mv=19.0 £>‘> / D on.mm= 48.0
P Hmv = 3.7 / P Hmv = 1325

ﬁpBHér i < //////// ﬁpsHé:Mi i

To. = H ‘—’ Town. = H
blI3-355 bII3-360

Fem? = 2.000 Fem? =9.910

Q0 ke. = 0.542 Q ke. = 2.686

D on.mm= 23.0 D on.mm= 340
P HwM = 68.2 P uwM = 1490

P Bu.mv= 46.3 P Bu.mM= 98.8

fp. o= I fp.cno = i

Tow. = H Tow. = H
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blI3-361 bII3-366
Four =12360 | Fom? = 28.460
Qe = 3350 % / i /////// Qe = 1713
D onmm= 600 | = % / D on.mm= 90.0
P = 1655 T / P = 2470
P BH.mv= 109.1 P BH.mv= 159.0
Mp.ca = i %0 Mp.cn = i
To. = H Town. = H
bII3-362 bII3-367
Four =13.080 | Fom? = 32510
Qe = 4087 % / 4 //////// Q2. = 8810
D onum= 660 | =2 %/ // D onu= 960
P v = 182.0 o / P M = 263.8
P Bu.mu= 119.4 /////////// P Bu.mM= 169.6
[p.cr = % (Tpeen=
To. = H Toun. = H
blI3-363 bII3-368
Four =18.050 1 Fom? = 37.640
0 ke = 4892 / ) ///////% 0 ke. = 10.200
D onw= 720 | B %/ // D onii= 1040
v | | |11
Mp. oo = I 104 lp. e = I
To. = H Toun. = H
blI3-364 bII3-369
Fom? = 21.310 Fom? = 42.500
Qke. =58 Q ke. = 11.518
D on.mv= 78.0 D on.mm=110.0
P umm = 2153 P uwm = 303.2
P BH.mv=140.0 P BH.mM= 196.5
fp.ca. = fp.ca. =
Town. = H Toww. = H
bII3-365 bII3-370
Fem? = 24.700 Fem? =1.640
Q ke = 6.7 Q ke = 0.444
D on.mv= 84.0 D on.mv= 34.5
P Hav = 230.7 P Hav = 901
P Br.um= 149.1 10 P Br.mmu= 66.9
fp. o= I [p.cn =V
To. = H Toun. = H
lmer  11-036




bII3-371 bII3-376
Fout = 7.850 %/WWWZ F out = 5.760
0 ke = 213 é Z Q k. = 1.561
D o= 1040 g . D o= 56.6
P ww = 270.0 . P wa = 160.0
P Bhwn= 2278 P Bhww= 1260
fp.cr. = Wl fp.ca. =
Tows. = Tl Tows. = DIN
BII3-372 BII3-377
Fem? =26.200 Fcm? =7.360
Q ke. = 7.100 Q0 ke. = 1.995
D on.mv=86.0 D on.mm=70.7
P umM = 226.9 P wam = 200.0
P Bu.um= 31.4 P Bu.um= 168.0
p.en= IV fp.cno = I
Tows. = Tl Tows. = DIN
bII3-373 blI3-378
Fem? = 32.780 Fem? = 1.840
Q ke. = 8.883 Q ke = 0.499
D on.mM= 116.0 D on.m= 35.4
P Hmv = 238.6 P wmm = 100.0
P Bu.mv= 125.6 P Bu.mv= 84.0
fp.ca = p.cr =V
Touw. = H Tows. = DIN
blI3-374
7] Fem? =52.350
- / 0 ke. = 14187
= / / D on.mm= 122.0
| L
HMM= 219,
122 fp.ca. = I
- - Tows. = H
BII3-375
F et = 3.810
Q ke. = 1.033
D on.mm= 48.0
P wmM = 136.6
P Bu.mv= 116.0
fp. o= I
i Tows. = DIN
lmer  11-037




.10 |BII3-386
A Fom? =15.360
Q k2. = 4.163
- 4 D onwm=141.4
= P wmm = 400.0
P BH.mv= 368.0
I p.cr =V
— Town. = H
, bII3-382 - bII3-387
Fom? = 5.640 Fom? = 3.240
A Q ke = 1.528 Q ke = 0.878
= D onmm= 70.7 | K D on.mm= 44.]
y P = 2000 P wmm = 1200
- P Bu.mv= 176.0 P Bu.mm= 96.0
Mot = IV 0 ez
To. = H Toun. = H
60 blI3-383 bII3-388
‘ F e =6.840 Fem? = 3.840
Q ke = 1.854 Q k2. = 1.041
2 D onmv= 849 | = D on.mm= 49.6
P nuv = 240.0 / P umv = 139.1
1 P bz 2160\ V), | P b= 1160
p.ocr =V fp. o=
To. = H Toun. = H
] BII3-384 § I13-389
Few =8960 | — Fom? = 2,640
I O ke = 2428 | _1 0 ke = 0715
- D on.mm= 849 | < D on.wm= 339
= P umv = 2400 ! P ham = 140.0
' P BHuw= 208.0 30 P Bhw= 124.0
B p.c.= IV [p.ca. = VI
Town. = H Toww. = H
) BII3-385 ~ BII3-390
‘ Few = 12160 Fem? = 3.040
Q ke = 3.295 Q ke = 0.824
D onwn= 113.1] = D on.mm= 53.8
= P Hww = 3200 " P Hm = 160.0
P Bn.mv= 288.0 P Bu.mv= 144.0
R o=V 30 M. cn = VI
To. = H Toun. = H
et [1-038




bII3-391 bII3-396
Fout = 3,040 "’ F ot = 4,440
Q k2. = 0.824 NW i Q k2. = 1.203
D onun= 63.2 S| 7 2 D on.mm= 58.3
P uuv = 160.0 VD P wm = 160.0
P Bnmv= 1440 50 P BH.mM= 136.0
fp.cr. = Wl p.an= IV
Touw. = H Touw. = H
-~ BII3-392 ) BI13-397
_ ‘ Fem? = 3.840 _ Fom? = 5,040
“ | Ok = 1041 | _]1 0 ke = 1.366
=2 D on.mv= 721 "”" D on.mm= 67.1
| P Hm = 200.0 P Hmv = 180.0
” P Bz 1840 0 [P tuawes 1560
- [p.ca. = VI [p.cn = IV
Tow. = H Tow. = H
- BII3-393 BII3-398
Femt = 4.750 F em? = 6.840
! Q ke = 1.287 Q k2. = 1.854
< D on.mv= 721 D on.mv=89.4
| P wmmv = 200.0 P um = 240.0
60 P Bu.mv= 180.0 P Bu.mm= 216.0
p.ocr =V p.cr =V
Touw. = H Touw. = H
- bII3-394 blI3-399
[y Fem? = 5.640 F cm? = 8.600
- Q ke, = 1.528 Q ke, = 2.331
= D on.mmM= 72,1 D on.mm= §9.4
\ P Hmv = 200.0 P um = 240.0
P BH.mv= 176.0 P Bx.mM= 208.0
p.ca.= NV p.ca.= IV
To. = H Town. = H
~ blI3-395 bI13-400
T Fem? = 7.600 7] Fem? =9.760
- Q ke = 2.060 Q ke = 2.645
= D onmn= 721 | B D on.mv= 94.3
J P umv = 200.0 % | P umv = 260.0
60 P Bnwuw= 1680 ——(rrrrmmmmmmmy | p oy = 2080
fp. o= I fp.cn = IV
Tow. = H Tow. = H
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BII3-401 BI13-406
! T Fewt = 10.560 Fout = 2.550
- Q k2. = 2.862 Q k2. = 0.691

= D onmm= 1000 D onm= 30.0
P uuv = 280.0 P umm = 94.2

! P BH.uv= 248.0 P BH.Mm= 75.4
80 o= IV p.ocr = |l

To. = H Town. = H
BII3-402 BI13-407

= N Fow? = 3.840 Fom? = 3,020
! ! 0 ke = 1.04 0 ke = 0.818

! D on.mm= 82.3 D on.mm= 35.0
i P uamv = 199.2 P uamm = 110.0
80 P Bz 1840 P Bhuu= 911

[p. ¢ =0cob. fp.cno = I

To. = H Toun. = H
~ blI3-403 bII3-408

‘ F e = 4.640 Fem? =1.600

! | Q k2. = 157 Q k2. = 0434
< D on.mv=90.0 D on.mm= 20.0
| P nuv = 240.0 P HMM = 62.8
80 P Bn.mv= 224.0 P Bn.mv= 44.0

p.ocr =V p.cn= IV

To. = H Toun. = H
- bll3-404 bI13-409

1 F oM =6.240 Fom? = 2,940

Q k2. = 1.691 Q ke. = 0.797

B D onmm= T78.1 D on.mm= 40.0
' P umv = 220.0 P uwM = 125.6
P BH.mv= 196.0 P Bn.mv= 109.9

b0 Moo=V Mp.cr = |l

Town. = H Toww. = H
- blI3-405 bII3-410

y F e = 6.960 Fem? = 2,070

- Q ke = 1.778 Q k2. = 0.561
= D on.mv= 64.0 D on.mv= 25.0

‘ P v = 180.0 P Ham = 785

50 P Bn.mv= 148.0 P Bu.mv= 59.7

fp. o= I fp.cno = i

To. = H Toun. = H
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blI3-411 blI3-416
F et = 3470 Fem? = 4,250
Q k2. = 0.940 Q ke. = 1.192
D on.mm= 40.0 D on.mm= 48.0
P umv = 125.7 P uwm = 130.8
P BH.mv= 106.8 P Bn.mM= 1319
fp.ca. = fp.ca. =
Touw. = H Touw. = H
blI3-412 bII3-417
F et =5.410 Fem? =7.300
Q0 ke. = 1.482 Q ke. = 1.978
D on.mv=40.0 D on.mv=80.0
P umv = 125.7 P uwM = 2913
P BH.mum= 94.2 P Bu.um= 2325
fp.ca = | [p.cn =V
Tow. = H Tow. = H
bll3-413 bll3-418
Fem? = 4.400 Fem? = 11.800
Q ke = 1.192 Q ke = 3.198
D on.mm= 30.0 D on.wm= 80.0
P umv = 157.0 P Hmm = 2513
P Bu.mv= 130.2 P Bumm= 219.9
fp.ca = fp. o=
Touw. = H Touw. = H
blI3-414 bll3-419
F et =5.370 Fem? = 18,100
Q ke. = 1.455 Q ke. = 4,905
D on.mM= 60.0 D on.mm= 80.0
P umm = 1885 P Huv = 251.3
P BH.mv= 169.6 P BH.mm= 201.1
fp.ca. = fp.cr = |
To. = H Town. = H
blI3-415 bI13-420
F et = 8.640 F cm? = 6.876
Q ke, = 234 Q ke. = 1.863
D on.mm= 60.0 D on.mm= 76.0
P uwM = 188.9 P wwM = 238.7
P Bu.mv= 157.1 P BumM= 219.9
fp.ca. = |l fp.cno = i
Tow. = H Tow. = H
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bII3-421 blI3-426
F et = 2980 Femt = 1,759
w2, Q ke. = 0.808 Q ke. = 0.477
/ /f/// D on.mmM= 24.0 D on.mm= 30.0
) P M = 75.36 P M = 943
P BH.mv= 44,0 P Bn.mm= 81.7
fp.cr = | p.cr =V
Tows. = Tl Toud. = Qcod.
bll3=422 bII3-427
Font = 3490 Fowt = 3,220
310 ke = 0,94 0 k2 = 0.874
D on.mv=40.0 D on.mm= 51.2
P umM = 125.6 P uwm = 1723
0 40 Huv= 106.8 P Bu.wm= 147.3
-~ [p. o2 | [p. cn. =0cob.
Town. = Toun. =0cob.
bll3-423| bll3-428
////////// Fowr =10428] | _ Fout = 1.860
%e///// 0 0w =216 | - 0 k. = 0504
o Donwv= 420 | K D onwm= 35.0
//////// / P = 1321 P ham = 1160
P Bn.mMv= 68.8 9 P Bu.mm= 70.0
fp.cr = | p.cr =V
Tows. = Tl Toww. = Tl
bll3-424 blI3-429
Fom? = 8.454 Fem? = 2,160
Q ke. = 2.291 Q ke. = 0.585
D on.mM= 38.0 D on.mm= 40.0
P Hmv = 182.4 P Hm = 146.0
P BHmv= 130.9 P Bx.mm= 70.0
fp.cr = | p.cr. =V
Toww. = 1l Towh, = I
bll3-425 19 bII3-430
et = 10310 0 Fowt = 2776
0 ke = 2794 | \ 0 ke. = 0.5
Donwv= 600 | D on.mm= 32.0
S P = 1885 3 Lo |P o = 1884
HM= 130, ‘ ‘ P BH.wm= 89.27
0 60 [p. o | - - fp.en= Wl
= - Town. = Toww. = Tl
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" bll3-431 bII3-436
— Femt = 2170 Fcm? =0.628
\ 0 ke = 0.588 2 0 ke = 0.170
= D on.mv= 40.0 D on.mm= 12,0
B P Hwm = 1148 01 P Hwm = 37.7
30 P Brum= 1023 P Br.um= 20.1
p.cr =V p.ca.= IV
Tour. = Qcod. Town. = H
BII3-437
F e =7.823
Q ke = 212
D on.mv= 86.0
P uamm = 2/0.2
P Bu.mm= 2513
fp.cno = I
Toun. = H
i BI13-433 BII3-438
= - F e =9.250 F e = 2.796
I Q k2. = 2.507 Q ke = 0.758
W - D on.wm=130.0 D on.wm= 23.2
s P umm = 371.0 P Hmv = 729
| P BH.mv= 351.0 P BH.mv= 42.4
[p. ¢ =0cob. fp. o=
Toun. = H Touw. = H
BII3-434 3 BII3-0439
Fcm? =8.100 [ Fem? =1.570
Q k2. = 2.195 Q k2. = 0.425
D on.mv= 33.0 D on.mmv= 20.0
Pumv = 1039] = P M = 1533
P BH.Mv= 53.0 P BH.mM= 81.3
fp.cn. = | , [p.cn. = VI
Tows. = H - Toww. = 1l
blI3-435 : bII3-0440
F oM = 2.236 Fem? =18.820
Q k. = 0.605 - Q ke. = 5,100
D onmn= 240 | = D onmmv= 162.0
P HMM = 7D.6 Pumv = 7217
P Bn.mv= 59.4 | P BH.MmM=  868.6
[p.cn. = | [p. 1. =0cob.
Toww. = H Tour. = Tl
(% 43




BII3-441 BII3-446
3 Fout = 1.640 60 [ ow =28
Q ke. = 0.444 ‘ =/ 1 Q ke. = 0.762
o D onmu= 3.0 | D onmn=62.0
B P =900 P umv = 1741
P Bx.m= 74.0 P BH.mu= 129.4
o~ fp.cr =V p.cr.= IV
Toud. = Ocod. Tows. = Tl
BII3-442 BII3-447
40 Fom? = 2,040 Fom? = 1,54
_ Q k2. = 0.553 Q k2. = 0.421
o) D on.mu= 42.7 D on.uu=16.0
) | [P = 1100 P = 50.3
— | D = 94,0 P BH.um= 33.8
~ fp.cn =V p.cn= IV
Tous. = Ocod. Tow. = H
BII3-443 . Rl | BII3-0448
100
Few? = 11,360 @ Fom? =1.327
| Q ke, = 3.079 Q k2. = 0.560
= D onmmu= 114.0[ 2 D on.uu=28.0
, P v = 3000[ 2 A P Hv = 96.9
: P Biane 2680 ; % b TS
< p.cn =V , p. ch =
Tour. = Ocob. D Tow, =
bll3-444 . bll3-449
100 ot = 10.560 ot = 1,040
I Q k2. = 2.862 \ Q k2. = 0.336
= D onmm= 1090 = D onmn=20.0
7 P Hum = 280.0 1 P Hum = 70.0
N P BH.Mum= 218.0 P BH.M= 4.0
~ p.en= N o= IV
Toun. = Ocob. Toud. = Qcob.
bII3-445 5 bII3-450
120 F ot = 12.160 ‘ Fowt = 1.640
I Q ke. = 3.295 Q ke = 0.444
= D onmu= 1265 = D on.un=" 32.0
0 P Hmm = 320.0 A P v = 90.0
P Bx.mm= 288.0 P Bumv= 740
~ fp.en = V o~ [p.ca. =V
Toud. = Ocod. Toud. = Qcod.
et 44




blI3-451 bII3-456

_ 0 Fewt = 1,040 e B Fowt = 1,040

1 Q k2. = 0.282 ‘ 0 ke. = 0.282

D on.mv= 22.4 D on.mm= 21.2

vl P o = 60.0 y P o = 60.0
= P vz 44.0 L2 P vz 44.0
p.a= NV p.an= IV

Tou. = Qcob. Tou, = Qcob.
blI3-452 bII3-457

0 ot = 2400 2 o = 260

Q k2. = 0.661 I Q0 ke. = 0.715

- / D onmv=4/.2 3 . D onmmu=49.5
= | P = 1300 v P i = 140.0
P Bumv= 114.0 - P Bumv= 124.0

[p.ca =V [p.cn =V

Tou. = Qcod. Toud. = Qcob.
) BII3-453 BII3-458

Fem? = 3.640 Fem? = 10.560

\ Q k2. = 0.986 Q k2. = 2.862
o 31D onwu= 673 D on.mm= 99.0
P umv = 190.0 P nmv = 280.0
| P Bn.mv= 174.0 P Bn.mv= 248.0
p.c= IV p.cn= IV

Tou. = Qcob. Tou, = Qcob.
bll3-454| 1 bII3-459

F e =8.040 ; Fom? =9.240

ke = 2119 | o S < | (ke = 2504
D on.mv=107.7 D on.mm= 113.1
P umv = 280.0 P uwm = 3200
P BH.mv= 296.0| | P BH.mM= 296.0

fp.cr.= VI 80 fp.ca.= Wl

Toux. = Ocod. = - Toun. = Ocob.
] BII3-455 BI13-460

F et = 4.250 Femr =1.130

i 0 ke. = 1,152 Q k2. = 0.306
= 29 1) onww= 640 D on.wm=20.0
I P v = 180.0 P HmM = 62.8
- P Bn.mv= 160.0 P Bu.mv= 50.3
[p.ca =V fp.cno = i

Tou. = Qcod. Toud. = Qcob.
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BI13-461 BII3-466
Fem? = 1,450 Fem? =7.009
Q k2. = 0.393 Q k2. = 1.916
D on.mv= 25.0 D on.mm=30.0
P umv = 78.5 P umm = 157.0
P BH.MM= 66.0 P BH.mmv= 125.7
fp.ca. = fp.cn = |
Tou. = Qcob. Tou, = Qcob.
BII3-462 BII3-467
Fem? =2.390 Fem? = 2510
Q k2. = 0.648 Q k2. = 0.696
D on.mm= 40.0 D on.mm= 43.0
P umv = 125.7 P Hamm = 135.0
P Br.um= 113.1 P Bu.wm= 1225
[p.ca =V [p.cn = IV
Tou. = Qcod. Toun. = H
blI3-463 bII3-468
Fem? = 3.020 Fem? = 12.160
Q k2. = 0.819 Q ke, = 3.295
D on.mv=50.0 D on.mm= 116.6
P uuv = 157.0 P umv = 3200
P BH.mv= 144.5 P Bn.mv= 288.0
p.ocr =V p.cr =V
Tou. = Qcob. Tou, = Qcob.
bll3-464 bI13-469
Fem? = 4520 Fem? =3.280
Q ke. = 1.225 Q k2. = 1.431
D on.mv= 60.0 D on.mm= 69.0
P uwmv = 188.5 P uwm = 188.0
P BH.mv= 172.8 P BH.mv= 164.0
p.cr =V p.ca.= IV
Toux. = Ocod. Toun. = Ocob.
blI3-465 bII3-470
Fem? =13.760 Fcm? = 4.960

= 0 ke = 3729 0 ke, = 1.344

= D on.mv= 12/.2 - D on.mm= 50.0
P vy = 360.0 ~ P v = 140.0
P Bn.mv= 328.0 P Bn.mv= 108.0
[p.ca =V fp.cno = i
Tou. = Qcod. Toud. = Qcob.
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n_ n_
/////////// bII3-471 blI3-476
[/ //// Fom? = 3.920 Fom? = 18,060
% - 0 z. = 1.062 0 e, = 4894
///// / D on.mm= 30.0 D on.mm= 120.0
) A Py = 942 Py = 3770
P BH.mv= 62.8 P BH.mM= 343.6
fp.cr = | p.cr =V
Toud. = Qcod. Toud. = Qcod.
blI3-472 " bII3-477
Fem? = 3,140 F e =6.710
Q k2. = 0.851 Q ke. = 1.818
D on.mv= 25.0 D on.mv= 86.8
P umM = 789 P uaM = 2331
P BH.mm= 47.1 P Br.wm= 2143
fp.ca = | [p.cn =V
Tout. = Ocob. Toun. = Qcob.
bII3-473 blI3-478
F et = 2360 F em? =5.560
Q ke = 0.640 Q ke, = 1.453
D on.mm= 20.0 D on.mM= 68.3
P HMM = 62.8 P umm = 191.4
P Bu.mu= 31.4 P Bu.mm= 172.6
fp.cr = | p.cn= IV
Toud. = Qcod. Toud. = Ocod.
blI3-474 blI3-479
Fem? = 4,720 Fem? =5.010
Qke. = 1.279 Q ke = 1.493
D on.mmM= 33.0 D on.mm= 69.0
P umv = 110.0 P Hv = 1931
P BH.mM= 78.9 P Bh.mm= 1743
fp.cr = | p.ca.= IV
Toud. = Ocod. Toud. = Qcob.
blI3-475 bI13-480
Femt =14.920 30 Fem? = 2,940
Q0 ke. = 4.043 Q ke. = 0.797
D onmwv= 1000 D on.mm= 5.4
Pumn = 3142 ™ P Ham = 153.1
P Bu.mv= 282.7 P Bu.mm= 140.6
p.en= IV [p.cn = VI
Toys. = Qcod. Tous. = Ocod.
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0 blI3-481 blI3-486

F et = 13,760 F et = 5.780

I Q ke. = 3729 Q k2. = 1.566
= D on.mv= 134.2 D on.mm=30.0
1 P wmm = 360.0 P wam = 157.0
t P BH.mv= 328.0 P BH.mm= 132.0

- p.ar =V | fp.ca. =

Toud. = Qcod. Toud. = Qcod.
blI3-482 bII3-487

I F o = 12960 Fow =10

I 0 ke. = 3512 Q0 ke. = 0572
= D on.uv="130.0 D on.mm= T79.0
A ‘ P Hm = 340.0 P Hm = 176.4
P Bu.um= 308.0 P Br.um= 42.3

~ [p.ca =V [p.cn = IV

Toys. = Qcod. Toww. = Tl
blI3-483 blI3-4886

130 For =53600| = W ot = 2,60

I Q ke. = 4.163 Q ke. = 0.715
= D onuu= 158 31D onwm= 361
A P vuv = 400.0 - P wam = 100.0
P Bu.mv= 368.0 P Bu.mm= 76.0

~ p.c= IV fp. o=

Toud. = Qcod. Toud. = Ocod.
bll3-484 blI3-489

Fowr 22080 | =] = 100 v T ewr = 4560

Q ke. = 0.564 ' Q ke. = 1.236
D on.mmM= 33.0 D on.wm= 101.6
Puww = 1100] 4 9 P Hwm = 236.0
P BH.mM= 97.4 — | P Bu.uv= 220.0

p.ca.= NV [p. c1. =0cob.

Toud. = Ocod. Toud. = Qcob.
blI3-485 bI13-490

Fem? = 3.731 Fem? =0.048

Q ke. = 1.011 Q ke. = 0.149

D on.mm= 30.0 D on.mM= 23.5

P wwm = 137.1 P HwM = 62.6

P BHwm= 141.3 ! P BHwm= 42.0

p.en= IV [p.cn = VI

i Toys. = Qcod. Tow. = H

lmer  11-048




bII3-491 bI13-496

130 Fom® = 14.560 Fom® = 6.240

Q ke = 3.946 Q k2. = 1.691

<! D on.mmM= 155.2 D on.wm= 95.4
A P wwv = 380.0 P wwM = 220.0
PBu.uv = 348.0 PBu.um = 196.0

= [p.cr= V [p.cr. =V

Toys. = DIN Tows. = DIN
blI3-492 bII3-497

N Fou® = 2.560 F ot = 6.310
- Q ke. = 0.694 Q ke. = 1.710
= D on.mmM= 48.0 D on.wm= 70.0
! P umv = 136.0 P uwm = 2199
PBu.um = 120.0 PBu.um = 201.1

3 p.cr =V fp.ca =V

Toys. = DIN Tows. = DN
B blI3-493 45 o bl13-4986

! Fow® = 3720 S| [Fout=1876

= Q k2. = 1.008 1 |Q«e = 3.084
D onmv= 48.1 | _ D on.mv= 750

| P umv = 1360 = P ummv = 227

14 PBH.Mm = 112.0 T | PBuwv = 989

fp.ca. = — p.cr =V

Toys. = DIN Tows. = Tl
o blI3-494 " bll3-499

I Fem’ = 11,640 - Fov' =6.240

Q ke. = 3.154 Q ka. = 1.691
= L D onmv= 1414] < ‘ D onmm= 1265
— P um = 400.0 P umm = 320.0
I PBH.uv = 376.0 Nt PBH.mv = 304.0
[p. ¢ =0cob. [p. cn. =0cob.

Toww. = DIN Tows. = DIN
blI3-495 0 bII3-500

b0 o' = 3440 3 Fow' = 7840

[ Q ke. = 0932 Qke. = 2125
= D onmm= 670 | _ 2| D onww= 1414
1 P uuv = 180.0] = | PHwv= 4000
PBu.MM = 164.0 PBu.MM = 384.0

fp.cr = VI [p. ¢ =0cob.

o Toys. = DIN Tows. = DN

et [1-049




lIpogums 3akasumka |pI[3-501-3 BI13-506
= ) F ot = 1.096 F ot = 1.677
1 0 ke. = 0.297 Q ke. = 0.454
D on.mM= 33.9 D on.mm= 31.2
\ 35 P umM = 912 P uwm = 1424
P BH.mM= 83.9 P BH.mmM= 76.3
[p. c1. =0cob. [p.cr = VI
Tout. = Qcob. Touw. = 1l
J— J-
BII3-502 BII3-507
< o~ Fou' =5440 | 15 Fou? =1.874
y I Q ke, = 1.474 ‘ Q k2. = 0.508
] | D onmm= 121.6 %, D on.mm= 60.5
\ 190 Pumv = 28001 P umv = 155.3
— - PBu.MM = 264.0 60 P Bu.mu= 103.2
[p. ¢ =0cob. fp.cn = |
Tour. = DIN Toun. = 1l
BI13-503| !lpodmms saxasumka |BI13-508
Fow =515 | = F ot = 2.972
Q k2. = 1.396 ‘ Q k2. = 0.805
Donmm= 450 | e D on.mm= 101.1
P uwM = 141.4 P uwm = 2474
P = 1162 | 101 | | o = 2244
— fp.cn = | [p. ca. =0cob.
Tows. = DIN Toww. = Tl
. blI3-5H04| 1} bI15-0509
‘ Fou' =10.440 Fom? = 3.806
A * Qe = 2809 |~ Q k. = 1.031
= D onww= 134.0]~" D on.mm= 58.0
! P wwM = 360.0 P Hm = 283.8
120 PBH.MM = 336.0 I P BH.MM= 85.7
= =1 | Tp. ca. =0cob. 48.3 lp.cr= VI
Tows. = DIN - = [Toun, = Tl
bII3-505 bII3-510
Fol =486 | =] |- 148 1 |F o = 9.400
0 ke. = 1.317 | Q ke. = 2.547
D on.mm= 63.0 D on.mv=149.0
P = 1760 T ] [ Py = 3670
PBu.MM = 129.7 - PBu.mm = 614.0
p.cn =V [p. ¢ =0cob.
A Toww. = Tl Tows. = DIN
et 50




B bII3-0011 blI3-516
& Fon = 3,680 Fov =408
Q k2. = 0,997 , Q ke = 1.16
D onmmn= 75.1 Q&% D onmv= 64
v P HwM = 204.4 P umv = 340.6
‘ s P Bnuw= 1167 PBH.Mu = 0.6
- fp.cn =Vl [p. 1. = Oco.
Touw. = 1l Tous. = H
bII3-512 blI3-517
5 Fon’ = 2240 Fow’ = 5.231
I Q ke. = 0.607 Qke. = 1.418
- D on.mm= 43.0 D on.mm= 75.3
~ P umm = 1200 P uav = 2770
A PBH.um = 104.0 PBH.mm = 209.0
poca =V [p. c1. =0cob.
Tous. = DIN To. = H
bII3-513 blI3-518
= 100 Fom® = 4.640 Fou' =5.340
B 0 ke. = 1.287 0 ke = 1.447
| D on.mm= 1020 D on.mm= 96.0
[ \ P hav = 2400 P v = 2730
- PBH.uM = 224.0 PBH.uM = 260.0
[p. c1. =0cob. [p. c1. =0cob.
Tous. = DIN Toun. = DN
% blI3-514 bII3-519-01
\ Fev' =5.940 Feu' =5315
Q k2. = 1.610 Q ke = 1.440
= 30D o TAS | s D on.mmu= 63.0
Puam = 210.0] P Ham = 298.1
PBu.mm = 1860 — PBu.mm = 103.4
A p.ocn= IV [p.cn. = V
Tous. = DIN Toh. = H
2, |blI3-919 bI13-520
y L F o =33 Fon’ = 1.554
2 N Q k2. = 0.916 Q k. = 0.421
o % = D onww= 42 D onww= 48,0
R “r P Hwm = 280 P Ham = 139.0
1 (‘; / F’GH.MM = 0106 ; || PBrwm = 67.0
: 40 p. ¢1. = Ucob. [p. ca. =0cob.
-QO - ~ Tow, = H Toun. = H
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. bIIJ-521 bII3-526
— - Fem® =20.300 Fou' =3.890
I 2 % Q k2. = 5.501 0 ke = 1.054
N E ‘ D on.mm= 37.4 D on.mm= 28.0
1 2 2.2 | PHm = 2299 P uwv = 88.0
r PBrum = 100.7 PBHum = 534
= [p. ¢n. =0cob. fp.ca = |l
Towi. = DIN Town. = H
bII3-522 bII3-527
Fou® =4.620 Fev? =5.000
Q ke. = 1.252 Q ke, = 1.355
D on.mm= 23.0 D on.mm= 31.0
P umM = 789 P uwm = 97.4
PBx.mm = 18.8 PBx.MM = 56.6
fp.cr = | fp.cr = |
Tow. = H Tow. = H
blI3-543 bII3-528
Fow' =5410 2 124 | Fou =395
Q k2. = 1.466 = - v | Qke = 1.070
D on.mm= 33.0 _— D on.mM= 124.0
P wwm = 103.6 P uwM = 295.0
9, A P = 628 | O3 P = 25.0
[p.cn = | [p. ¢, =0cob.
Tow. = H Tow. = H
bll3-524 “ bII3-0529
Fou® =1.760 Fcm? = 3.670
Q k2. = 0.47] wo!| QK. =099
D on.mm= 18.0 \ D onmu= 62.9
P uwM = 56.6 P Hmv = 323.0
PBH.MM = 31.4 P Bn.mm= 55.9
fp.cn.= IV [p.cn =V
To. = H [ o8 - Towh, = Tl
] BII3-525
Feu' =1.711
\ Q ke. = 0.464
= D on.mm= 23.1
, Pumm = 773
15 PBu.mm = 34.7
[p.en = IV
| Toww. = Tl
et He




BII3-0531 BII3-536

, Fout = 5.284 | Fout = 2,000

A S @ Q ke, = 1.432 i Q ke. = 0.542
N' D on.mm= 81.0 D on.mv=20.0
& 01 P waw = 2608 P v = 628
7.2 P Buwm= 257.2 P Bu.um= 70.6

- = | Tp. ca. =0cob. [p. ¢a. =0cob.

Toww. = 1l Tows. = H

bll3-00d2 BII3-0537

Y 2> 1 | Fovt =1.824 Fom? = 8.400

A o | | Qe = 040 0. = 17T
), = | Donww= 3.1 153 D onww= 1430
2 | FE-HM::Mf %2065 | ¢z P Haw = 3368
MM= 20 P BH.mM= 251.6

- 34 S L 14e Ip. e

Tour. =] Town. = Tl

blI3-933| === bII3-0530

i D F emt =523 Fom? =2.980
- { ﬁd Qe = THT | o Q k2. = 0.808
a2 W{ j D onmm= 61 | o D onmm= 47.3
1 U P umv = 245.7 P umv = 1746

P Bnmm= 1317 0 0 P Bn.mm= 102.2

. 26 A Tpoen= N 40 lp. o= VI

Toww. = H - - Toww. = 1l

* bII3-0534 bII3-0539

F e = 4.478 F o = 2.084

3 0 ke, = 1.214 Q ke, = 0.565
e D onmm= 44,0 D onmm= 42.0
P umm = 197.4 P HM = 143.4

r P Bu.mv= 113.2 P Bu.mm= 131.4

fp.oen. =V [p.cn= IV

Town, = Tl = . Toww. = 1l
bII3-540

-~ B [Foe =58

‘ Q ke. = 1.977

m' D on.mv= 74.0
- P umM = 3245

S P Bn.mv= 73.0

p.en= NV

Tows. = DIN

Jlaer 53




BII3-541 BII3-546
Fen? =6.970 Fou® = 4900
Q ke. = 1.889 Q ke = 1,328
D on.mM= 160.7 D on.mm= 32.0
P uwv = 910, P waM = 1009
PBu.uM = 132.0 PBu.um = 62.8
[p. c1. =0cob. fp.cr = |
Touw. = H Touw. = H
BII3-542 BII3-547
Fen' =5.320 Fou' =0.880
Q ke. = 1.442 Q ke. = 0.238
D on.mmM= 43.3 D on.mm= 16.0
P umM = 3339 P uwm = 303
PBu.mm = 46.4 PBu.um = 37.7
[p.ca = VI fp.cno = i
Toww. = H Tows. = H
blI3-543 blI3-548
Fen® = 2.860 Fou' =1.260
Qke. = 0.775 Q ke. = 0.341
D on.mm= 92.0 D on.wm= 22.0
P umv = 184.2 P uwM = 69.0
PBH.MM = 96.0 PBH.MM = 36.6
[p. c1. =0cob. fp.ca. =
Touw. = H Touw. = H
bll3-544 5) blI3-549
Fen' = 2190 | Foeu® =15.480
Q k2. = 0.593 5 Vool Qke = 419
D on.mv=40.0 —— - =2 D on.wm= 111.8
P umm = 131.5 ! P Hv = 337.4
PBu.uv = 84.0 10 PBu.um = 166.8
[p.ca =V - - [p.ca = VI
Toh. = H Town. = H
blI3-545 bII3-950
Foew =3.020 | Feu' =8.150
Qke. = 0818 | | ; Q ke. = 2.209
D onww= 520 (&1 2 D onwm= 927
Puwi = 2055 ' Cwzmmmmmmdt | P oy = 3980
PBH.Mm = 66.0 PBH.MM = 132.6
[p. c1. =0cod. fp.ca= Wl

. Touw. = H Touw. = H

et [1-054




bII3-551 bII3-556

Fem? =13.790 Femr =1.310

Q ke, = 3.737 Q k2. = 0.355

D on.mm= 169.0 D on.mM= 25.0

P wwm = 446.1 P HmM = 783

P Bu.mv= 199.5 P BHmMu= 67.2

[p.ca = VI p.oca =V

Town. = H Ton. = H
BII3-552 BI13-0557

Fom? = 3.644 F e = 3.260

Q k2. = 0,988 Q k2. = 0.883
D on.mv= 60.0 = D on.mm= 1020
P umv = 1885 P umu = 2234
P Buww= 175.9(|= 100 _l== | | P Bhaw= 1983

[p.cn = VI [p. ca. =0cob.

Tows. = DIN Towh. = 1l

bII3-0553 bII3-558

A Fom? =1.323 Fem? =1.010
v Q ke. = 0.359 0 ke. = 0274
" D on.mM= 35.2 D on.mv= 38.6
P umv = 94.2 P umv = 116.3

3.5 P BH.mv= 82.2 P BH.Mm= 50.2

[p. c1. =0cob. [p. ca. =0cob.

Toun. = Qcob. Toww. = H

bII3-0554 bII3-559

Fow =24321 | 2 70 Fem? = 2430

Q k2. = 6.591 T | — | 0Q e = 0.659

D on.mmv= 100.0 D on.mm= 70.0
P umv = 8127 P uwM = 1928
025 P BH.Mu= 78.5 |F_’ 5H-MM=0113.0

—~ |'p = p. ¢, =Ucoo.

- 0100 - Town. = 1l Town. = H
bII3-555 P bII3-560

- - Few' =1.110 - - Few' = 2191

ol 0 ’ 0 ke. = 0301 0 ke. = 0.594
= <| |[Donw= 270 | | 4 4 18 (D onwuu= 463
| Kk 2 P Ham = 74.8 é P Hm = 1274
25 PBu.mM = 64.8 PBu.MM = 112.6

- . [p. ca. =0cob. p.ocn =V

Tow. = 1l Toww. = H

et Hd




bII3-561 . - \ bII3-566
Fen® = 30,630 o L Fcm? =5.236
Q ke. = 8.301 - Q ke. = 1.419
D on.mv=80.0 “ D on.mM= 83.6
P Hmv = 2513 @ i P wmM = 366.9
PBH.MM = 157.1 % P BH.MuM= 188
lp.cr= | - 63 _ p.cr =V
Toyn. = H Touw. = I
BII3-562 . BII3-567
| F ou® = 34560 - Fou’ = 4500
b [Qke = 9.366 1 Q ke = 1.220
/ S| [Donww= 750 | =y D onwm= 743
2V b = 2556 P i = 1900
PB.wM = 109.9 10 PB.wM = 170.0
075 fp.cn = | fp.cn. = IV
— - Tow. = H Tows. = DN
blI3-563 bII3-568
Fen' = 31,420 Fou' =23.256
Q ke. = 8515 Q0 ke. = 6.302
D on.mm= 70.0 D on.mm= 33.0
P umv = 2199 P uwm = 172.8
PBH.MM = 943 PBH.MM = 29.1
fp.cr = | fp.cr = |
Toww. = H Towt. = 1l
BII3-564 BII3-569
Fev' =0817 Fou' = 14360
Q ke. = 0.221 Q ke. = 3.892
D on.mm= 13.0 D on.wm= 43.0
P umm = 47.1 P umv = 1414
PBu.MM = 34.6 PBu.wm = 43.9
fp.ca = I fp.cn = |
Toww. = DIN Towh, = I
el bII3-0570
=5 5| F ot = 1739
% Q Q ke, = 0.471
=] D onmm= 36.1
N) . P uwM = 1271
L P Bz 346
Q_Q' U [p.cn. = VI
Q,O Town. = 1l
| Imer 56




bII3-571 60 bII3-576

Fom? = Fom' = 6,960

Q ke, = ] Q ke, = 1.718

D on.uM= = D on.um= 67.0
P HuM = P v = 180.0
P BH.uu= 1 PBH.uM = 148.0

[p. . = - fp.cn.= IV

Toun, = Tows. = DN
. |BI3-572 BII3-577

- ~ [F o =280 80 Fow' = 4240

\ Q k2. = 0.770 [ Q0 k2. = 1,149
Y D onmv= 360 | < D on.mm= 83.3
1 ‘ Paww = 1300] ¥ P Hwm = 2200
PBH.MM = 134.0 PBH.MM = 204.0

o~ p.en= IV o~ fp.cn = IV

Tous. = DIN Touw. = DIN
] BII3-573| ., .., |BI3-578

o =400 [ 2 H F| | Fow =183

I Q ke = 1122 ' T 1 Qe =049
P D on.mm= 56.0 D on.mm= 44.2
y P aww = 1900 P Him = 1446
- PBH.uv = 126.0 i 1| P Brvv= 90.4
o p.cr= IV k! [p. ca. =0cob.

Tows. = DN Toww. = 1l
5% |bll3-574 bII3-579

T Fom' = 3.440 = 20 Fow' =0810
Q ke, = 0.932 y Q ke. = 0.220

< D on.mm= 640 D on.wm= 224
P v = 180.0 _ Pt = 60.0

L PBiuv = 1640 | {5 | PBuww = 48.0
T p.on= NV T [p. ca. =0cob.

e~ Tows. = DN Tows. = DN
50 bI[3-575 30 bII3-560

I Few’ =5.040 Few' =1.410
Qke = 1366 | 0 Ke. = 0.381

< D onmm= 040 | &K D on.mm= 36.0
Pumuv = 1800 ¥ P vum = 100.0

1 PBH.MM = 136.0 PBH.uM = 88.0
p.c= IV k. [p. ¢ =0cob.

o ~ Tout. = DIN Tout. = DIN
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] BII3-561 2 BII3-586
Fem® = 2.040 Fom =3.360
\ Q0 k2. = 0.953 Q k2. = 0911
= D onmm= 403 | D onmm= 35.4
, P v = 110.0 P HM = 1000
- PBH.uM = 94.0 — PBH.uM = 68.0
- |'p el = IV - Fp e = IV
Toys. = DIN Toww. = DIN
% bII3-582 20 bII3-587
Fom' = 2240 Few' =1.710
i Qke = 0607 | 0 ke. = 0463
s D onwn= 43.0 | _ 1.9 | D onmm= 42.4
‘ Puwm = 1200 ™ 0 | PuMm= 1200
B PBu.Mm = 104.0 PBu.umM = 108.0
T p.en= IV _ [p. cn. =0cob.
- Tows. = DIN Tows. = DN
; BII3-583 i BIT3-588
Fom® = 1.560 ‘ Fou® =2.310
A Q k2. = 0.423 Q k2. = 0.626
- 1.5 | D onmw= 390 | o 1.9 D on.um="56.6
- Puww = 110.0] = P Hwv = 1600
1 PBH.MM = 98.0 PBH.MM = 148.0
B [p. ca. =0Ocob. | [p. ca. =Qcob.
Town. = DIN| — Tous. = DIN
B bII3-564 bII3-589
Few' =1.40 Few' =10.180
Q ke. = 0.382 Q ke. = 2.759
< D onwm= 35.4 D on.mm= 60.0
P v = 100.0 P Hm = 188.5
- PBH.MM = 88.0 PBH.MM = 130.8
o [p. ¢ =0cob. fp.cn = |l
- Tout. = DIN Tout. = DIN
" bII3-585 bII3-590
Few’ = 2.640 Few' =6.880
I Q ke = 0.715 Q k2. = 1.864
3| Donmv= 354 D on.mm= 76.0
< P ham = 1000 P ham = 238.8
Y PBH.MM = 76.0 PBH.MM = 219.9
- [p. c1. =0cod. p.cr =V
o Tous. = DIN Touw. = DIN
Jlact [1-058




BII3-591 . BI13-596
Few' =0.637 Fom? = 3.687

Q ke. = 0.173 b Qke =099

D on.mmv= 69.4 5 D on.mm= 61.7
P Huv = 684 1 | P Hmm = 209.2
PBH.uM = 33.40 95 43 P BH.v= 243.9

[p.cr. = VI [p. ca. =0cob.

Town. = 1 Tou, = Qcob.
BII3-592) o |BI3-597

Few' = 4230 Fom? = 3.882

Qke. = 1146 | b Qke = 1092

D onmm= 420 | = 3| | D onmm= 79.0
P umm = 132.0 VP HuM = 246.2
PBu.uv = 110.0 P Bu.mm= 246.5

fp.cr = | Ly, 48 _ [p. ca. =0cob.

Towr. = DN Toun. = 1l
blI3-593 bII3-598

Fem? = 9.91 Fem? = 2.780

Q k2. = 1.601 Q k2. = 0.753

D on.mv=99.0 D on.mm= 60.0
P uuv = 4084 P Hwv = 2307

P BH.mv= 275.8 P Bn.mv= 94.4

[p. c1. =0cod. [p. ¢ =0cob.

To. = H Tou, = Tl
1 BI3-594) .. BII3-599
- Fow' = 2.243 e Fout = 2.345
Z Q kz. = 0.608 ! = Q k2. = 0.635
i Donww= 40.2 | o I | Donmm= 453
Y Pumv = 1732 = P uwm = 217.3
PBH.uM = 78.9 ! P BH.mv= 70.9

18 [p. c1. =0cob. A [p. c1. =0cob.

Tous. =0cob. Toun. = Ocob.
bII3-595 o~ bII3-600

Fem? = 9.64 ] Fen' = 10.560

ke = 2612 | _ Q ke = 2.862

D onmm= 1280 = D on.mm= 721
P HmM = 526.4 ‘ P wm = 200.0
P BH.uM= 399.2 PBH.MM = 152.0

Ip. et = VI _ 6 e =l

. Toy. = 1] " | Towr. = DN
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bII3-601 - = bII3-606
Fem? = 3.589 ‘\" =1 [Fem =719
ke = 0973 | 1 V10 ke = 1.948
D onuw= 841 | 2 f D on.uw= 1110
Puww = 2182 P Hwv = 3239
P BH.mm= 93.4 I | P Brwmv= 2/2.8
fp.cr. = Wl _ e [p. ca. =0cob.
Towh. = 1l Town. = H
bII3-602 bII3-607
7 Fom? = 3.174 Fem? =1.970
S| | Q ke = 0.86 Q ke, = 0.534
D on.mm= 31.0 D on.mm= 42.8
P umv = 199.4 P umm = 178.4
= | M4 P Bhuu= 127.8 P B.uu= 8655
= I~ - p.or = VI p. ca. =0cof.
— Toww. = 1l Toun. = Tl
= bII3-603 bII3-608
= | Fowr = 2814 Fout = 6.790
J + 1 Q ke =0.763 Q k2. = 1.840
= D on.mv= 43.6 D on.mm= 58.0
Pumv = 1814 P Hmv = 182.2
\ ! | P BHmM= 109.8 P BH.Mmv= 157.1
15 [p.on = VI fp. cn. = I
Towh. = 1l Tous. = DIN
blI3-604 bI13-609
Fem =2.702 F et =0.910
Q k2. = 0.732 Q ke. = 0.247
D on.Mv= 2.5 D on.mm= 15.0
P umm = 181.6 P umM = 66.8
P BH.mv= 84 P BH.mv= 49.2
p.cr =V p.cr. =V
Toww. = 1l Towr. = 1l
< BII3-605 BI13-610
= ~ Fem? =7.5710 Feu? = 18.410
' Q k2. = 2.051 Q ke = 4989
| | D onmw= 111.0 D on.mm=120.0
; =\ | P = 3556 P = 5703
[ P Bruv=273.0 P Bruv= 351.1
;r [p. ¢ =0cob. [p.cn =V
o~ To. = H Toun. = Tl
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BII3-611 BII3-616
Fem? = 2719 Fem? = 4115

Q ke. = 0.737 Q ke. = 1.115

D on.mm= 47.0 D on.wmM= 23.0

P umv = 1347 P umM = 789

P Bx.mv= 101.8 P Br.mM= 31.4

p.ar =V fp.cr = |

Tows. = Tl Touw. = H
blI3-612 065 bII3-617

Fem? =2.2/8 Fem? =1.000

Q ke. = 0.617 Q ke. = 0.271

D on.mv= 41.0 D on.mm= 13.0

P umM = 158.4 P uwm = 408

P Bu.mv= 97.3 0 13 P Bn.mm= 20.4

[p. ¢ =0cob. ~ I~ fp.cn = |l

Tows. = Tl Tow. = H
bII3-613 . o |blI3-618

Font = 2810 — - Fowt = 3,110

Q k. = 0.762 1.3 Q ke = 0.843

D on.mM= 43.2 D on.mm= 31.0
P umv = 167.4 P HmM = 267.5

P Bumu= 111.4 P Bu.mv= 81.3

fp.cr = VI [p. ¢ =0cob.

Tows. = Tl Toww. = Tl
blI3-614 blI3-619

Fem? = 1,780 Few? =0.772

Q ke. = 0.482 Q ke. = 0.209

D on.mmM= 31.5 D on.wm= 21.0

P Hmv = 125.8 P MM = 6.6

P BH.mu= 48.0 P Br.mM= 47.1

p.cr =V fp.ca.= Wl

To. = H Tows. = DIN

blI3-615 U5 & BII3-620

- Fomt =1.392 L — qé«’ Fou® = 2,623
N Q ke, = 0.377 b [k = 001
— Z D on.mv= 27.7 3] D on.mm=" 68.4
o P o = 753 Lo 1P = 2438
I8 P BHuw= 61.5 K 18 PBH.um = 43.8

fp.cn= IV [p.cn. = VI

Toww. = 1l @ Touw. = H
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bll3-0621

Femt =5.238
Q ke = 1.419
D on.mM= 33.0

P HMM =
P BH.MyM=
[p. ¢ =0cob.
Toww. = 1l

______________

______________

bII3-626

Fom' =1.556
Q k2. = 0.422
D on.mv= 43.0
P HMM = 260,
PBu.uM = 0.0
[p. c1. =0cob.
Towh, = Tl

blI3-622

Fom? = 4.495
Q ke = 1.218
D on.mm= 35.0
P umv = 2/3.7
P Bumv= 77.7
[p. ¢ =0cob.
Toww. = 1l

bll3-627

Fou' =1.314
Q k2. = 0.356
D on.mm= 33.0
P umm = 1220
PBu.mm = 72.0
[p. cn. =0cob.
Toun. = Tl

,,,,,,,,,,,,,,

blI3-623

F oM = 2.445
Q k2. = 0.663
D on.mv=50.0
P umv = 2105
P Bu.mv= 81.3
[p. c1. =0cod.
Towh. = 1l

V= &7
V2 IS
2 ST
V% SV
7 ZnpssS N

blI3-628

Feu' =0.977
Q k2. = 0.265
D on.mv= 33
P Hm = 81
PBH.MM = 72
[p. ca. =0cob.
Tou, = Tl

bII3-624

F et =3.970
Q k2. = 1.076
D on.mv= 67.1
P umm = 2059.5
P BH.mv= 192.2
fp.cr.= VI
Toww. = 1l
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bII3-629

Fou' =1.646
Q k2. = 0.446
D on.mm= 40.8
P wwM = 108.0
PBH.MM = 145.1
[p. cn. =0cob.
Toww. = 1l

bII3-625

F e =2.785
Q ke = 0.755
D on.mv= 120.0
P HMM = 256,
P Bn.mumv= 31.4

»»»»»»»»»»»»»»
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bll3-630

Fem? =3.312
Q ke = 1,440
D on.mm= 54.5
P Hav = 2143
P Bu.mmv= 102.3

p.en= IV [p.cn = VI
Tow. = H Toww. = Tl
et 62




blI3-636

e
h - Fem? = 5,680
\ Q ke. = 1,539
< D onmm= 112.0
! P Ham = 2918
9| P Br.umu= 275.8
1~ Tp. cn. =0Qcob.
Touw, = I
20 bll3-637
, 0 Fou? = 4795
y 0 ke. = 1.299
-~ | |D onmu= 840
! P Hm = 3044
P Bh.m= 177.0
- 10 _ [p. cn. =0cob.
Touw, = 1l
BU3-633) a1 |BI3-638
ror =3l | 1 Eol Fout = 5.054
[ | Q ke. = 0,96 = Q ke = 1.37
D onwv= 525 | = v | D onwu= 853
P wum = 288.2 s = | P o= 308.9
P Br.mumv= 63.5 v P Br.mm= 164.2
fp.cr = VI " fp.ca= Wl
Tows. = 1l Bam— Touw, = 1l
bll3-634 blI3-639
Fow 0760 | | b Fow = 5,054
Q k2. = 0.206 = 0 ke = 1.37
D onmn= 190 | S I D onmm= 94.5
P umM = 549 s = P umM = 3585
P Brmm= 405 | s P Br.um= 164.2
[p. c1. =0cob. i fp.ca.= Wl
Town. = Tl - Town, = Tl
2.0 blI3-635 o o | blI3-640
18.7 Fowt = 0.964 v owr = 7.967
11 | Qe = 0261 | I | Qke = 2159
|| | D onmv= 342 || % D on.mm= 1278
%0 | b |PHuv = 81T = ' P HaM = 4433
= ' "= |PBumu= 40.7 120 P BH.uM= 248
— Afpen= ¥ = - Mp.cn = VI
Town. = 1l Touw, = 1l
ler  1I1-063
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2 [blI3-641 bII3-646
b, Fomt = 4473 Fou’ =1.992
o N e Qke. = 1.212 Q ke = 0,540
« D on.mum= 80.0 D onwm= 20.0
) L | P = 2848 P o = 628
P BH.uv= 164.2 PBH.uM = 57.9
m fp.ea = VI p.en =
" Touw. = 1l Tows. = H
36.2
" |BIB-642 _ 1 |BII3-647
1
I Fom? =20.974 I |Feur =228
= Q ke. = 5.684 - Q k. = 0.606
—| S D onmv= 1168 < il D on.mm= 42.0
Pumv = 3203 A Y P uwM = 1191
| P Bu.um= 237.8 A P Bu.um= 104.0
B0 Mp.ca = VI _ % Mp.cr =V
_ 100 | |Town. = T Tour. = DIN
bII3-643 blI3-648
46 -
9 Fen® = 3.049 — Four = 2717
B f B— 11Q ke = 0.826 I 2. % I [Q«e. =073
P ﬁo”ﬂ*u Z—10 o= 700 | =2 | D onw= 514
- TP = 1787 P v = 2049
PBrn = 147.4 135 | P Buww= 1277
[p. 1. =0cob. [p. ca. =0cob.
Toyw. = 1| Toww. = Tl
blI3-644 blI3-649
Fom? = 15.740 F cm? = 5,076
Q ke. = 4.266 Q ke. = 1.376
D on.mmM= 73.0 D on.mm= 949
P HMM = 269.4 P HMM = 156.6
P BHmv= 172.8 P BH.mm= 132.0
fp.cr = | fp.ca. =
To. = H Tows. = DIN
n_
BII3-645| blI3-0650
W Faom D o = 0978
v | - | Q k2. = 0.653 ~ Q Ke. 2_0.265
A =D onww 604 | _— /) D on.mm= 28.0
~ _ P hav = T3.6
| | P v = 1609 )
UMzt | B F’pBHc-rM: o
b e
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- - bII3-0651 bII3-656
Yezeeezzzzzzs Fem? =1.030 Feut = 3.420
Q ke. = 0.279 Q k2. = 0.927
D on.mm= 27.0 D on.Mm= 68.2
S| [P umv = 805 P umm = 1047
P BH.Mmv= 67.1 P Bn.mv= 32/.8
[p.en. =V fp.cn. =V
@ z_1 Towh, = Tl Toww. = Tl
blI3-652 bII3-657
180 < | Fowt =1242 Fom? =0.285
Q ke. = 0.337 Q ke. = 0.077
$ g | ) on.uw= 3.6 D on.mm=10.0
gt | oy = 10,0 P umm = 314
_ 6 P Buuu= 77.0 P Bz 251
[p. ¢ =0cob. [p. cn. =0cob.
Toys. = Qcod. Toww. = Tl
BIT3-653 BII3-658
- ¥ S| e = 1040 Font = 0.495
¢ ! Qe = 0282 Q ke = 0.134
L | D on.mm= 35.4 D on.wm= 12.0
‘ cc | [Phw = 968 P o = 377
= : P BH.um= 62.5 P BH.um= 28.3
[p. c1. =0cod. p.cr =V
Tout. = Ocob. Tout. = H
- blI3-654 bII3-659
F oM = 34.880 Fem? = 3.880
Q ke. = 9.452 Q ke. = 1.051
D on.mM= 206.0 D on.mm= 93.0
P Hmm = 809.8 P wm = 309.7
P BH.uv= 384.0 P BH.uv= 90.4
[p. c1. =0cob. fp.ca.= Wl
Tows. = Tl Tows. = H
bII3-655 bII3-660
Femt =30.100 et = 4.225
Q ke. = 8.157 Qke. = 1.145
D on.mM= 130.0 D on.um= 66.4
P uwv = 10240 P waM = 308.9
P Bu.mv= 320.6 P Bumm= 117.0
- 2 [p. ¢ =0cob. [p.cn = VI
- 130 | [Tows. = Tl Tow. = H

65




blI3-666

Femt =2.290
Q k2. = 0.621
D on.mm=30.0
P umm = 157.1
P BH.mmv= 14].7
[p. ca. =0cob.
Town. = H
bII3-662 bII3-667
Fem? = 3.620 Fcm? = 0.740
Q k2. = 0.981 Q k2. = 0.201
-1 D onmm= 82,0 D on.mm= 20.0
P umv = 289.0 P HmM = 62.8
P Bn.mv= 86.0 P Bn.mv= 54.9
[p.ca. = VI [p.cn =V
Towr. = H Towt. = H
blI3-663 bII3-668
| | Fou? = 3.352 Few? =0.820
Q k2. = 0.908 Q ke = 0222
D on.mv= 57.3 D on.mm= 22.0
P HuMv = 263.7 P HMM = 69.1
. — | P Bu.mv= 84.8 P BH.MM= 61.3
fp.cr = VI p.cr =V
To. = H Toun. = H
BI13-669
Fem? = 3.379
“, | 1 ke. = 0.916
/| D onww= 710
| P HaM = 2638
P BHv= 114.9
[p. c1. =0cob.
Towt, = Tl
bII3-665 bII3-670
Fem? =17.690 Few? = 2127
Q ke = 4794 Q k2. = 0,576
D on.mv= 111.0 =5 D on.mv= 43.0
P M = 3726 = ~ P M = 1409
P Bn.mv= 410.0 P Bn.mv= 88.0
[p.ca = VI [p.cn =V
To. = H Toun. = H
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I |BII3-671 bII3-676
! Fom? = 2,361 Fomt = 2,551
- _ - Q ke. = 0.640 Q ke. = 0.691
~ ! = D on.mM= 46.9 D on.mmM= 37.8
P umv = 181.8 P uwM = 238.1
! P Bruw= 88.0 P Brw= 0.0
2% ' |fpen= fp.cr. = Wl
Touw. = H Toww. = Tl
BII3-672 BII3-677
Fem? = 2,361 F e =1.578
Q ke. = 0.640 Q ke. = 0.428
D on.mv= 46.9 D on.mm= 25.8
P umv = 181.8 P uwM = 147.6
P Bu.um= 88.0 P Bu.um= 0.0
[p.ca =V [p.ca = VI
Towr. = H Touw. = 1l
12 blI3-678
Fout = 1810
? Q k2. = 0.491
7
%// 531 1D onwm= 36.2
. S P Hw = 128.1
' P BH.mv= 64.0
fp.ca= Wl
Tout. = H
bII3-674 blI3-679
100 Fem? = 8.730 Fem? = 3.216
b Qe = 2371 Q ke. = 0.872
D on.mmM= 128.0 D on.mmM= 64.2
| | P HMv = 360.0 P Hm = 285.2
25 0 | |P b= 3400 P Bz 1141
. v | p. 1. =0cob. . _ fp.ca.= Wl
Town. = H ' ' Town. =
bII3-675 bII3-680
~ 100 _ Fem? = 6.840 Few? = 3.204
| (ke = 1.854 Q ke. = 0.874
- | D onmmv= 1020 D on.mm= 64.8
: P uwv = 240.0 P HaM = 3739
P Bu.mv= 216.0 P Bu.mm= 48.7
[p.ca = VI | | [p.cn = VI
i Tow. = H Toww. = Tl
| lmer  11-067




bII3-681 22722227 n_
J
Fom? = 2438 Fom? = 1.567
. Q k2. = 0.661 Q ke, = 0.425
< D on.uv=41.6 D on.mm= 40.0
Ptuw = 260.6 Py = 1165
Al 7 P Bru= 1032
poo= V pecsec fp.cr =V
Tows. = 1l Town. = 1Tl
blI3-682 bII3-0687
Fom? =1.382 Fou? = 1.404
Q ke. = 0.375 0 ke, = 0.380
D onmmv= 24.0 - D on.mm= 34.0
P HMv = 75.4 o~ Pumm = 1005
P BH.um= 62.8 P 8= 92.7
Fp e = |'p en. = Y
Tow. = H Toww. = 1l
bII3-683 bII3-688
P =171 || Font = 6435
Q ke. = 0.464 Q ke = 1.742
D onmm= 500 | 3 D on.mm= 116.0
P HM = 256.0 P Hmm = 298.8
P BH.um= 0.0 ‘ P BH.MuM= 467.3
[p. c1. =0cod. [p. ¢ =0cob.
Tows. = Tl Touw. = H
bII3-664 blI3-689
Femt = 2970 Fem? = 12,000
Q ke. = 0.805 Q ke. = 3.252
D on.mmM= 4.1 — | |Donmu= 943
P um = 1549 <> | P uwM = 260.0
P BHmv= 1423 P Bn.mm= 220.0
fp.cr.= VI fp.ca. =
Toww. = DIN Tows. = DIN
blI3-685 bII3-690
Fem? =9.240 Fem? = 3.032
Q ke. = 2.504 Q ke. = 0.822
1D onwn= 1140 D onwv= 56.6
|| P vy = 361.9 P HwM = 237.2
P Bn.mM= 286.9 P Bu.mm= 93.2
NWipocr= Vl [p.cn =V
Tow. = H Toww. = Tl
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bII3-691 bII3-696
Fowt = 2330 || Fowt = 5.013
Q k2. = 0.631 Qke. = 1.413
D on.mm= 31.4 D on.mM= 66.0
P umv = 189.0 - P uwm = 143.0
P BH.mu= 71.2 | P BH.MM= 1039
p.ar =V p.an= IV
Tows. = Tl Touw. = H
14 blI3-692 bII3-697
7 W / Fem? = 2,301 Fem? =28.190
g 0 k2. = 0531 0 k2. = 7639
D on.mv= 38.7 D on.mm=110.0
P umm = 1633 P uwM = 4057
P BH.mum= 71.8 P Br.wm= 31.4
[p.ca =V [p.cn = IV
Tows. = Tl Tow. = H
bII3-693 blI3-698
Femt = 2510 Femt =1.317
Q ke. = 0.680 Q ke. = 0,357
D on.mM= 33.2 D on.mm= 42.0
P Hmv = 205.8 P Ham = 2533
P Bumv= 71.2 P Bumm= 0.0
p.ocr =V [p. ¢ =0cob.
Tows. = Tl Toww. = Tl
bII3-700
F e = 64.254
Q ke = 17413
D on.mm=113.0
P oM = 3443
P Br.mv=186.9
[p. cn. =0cob.
Toww. = Tl
Jlaer [1-069
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bII3-701 bII3-706
Fem? = 57.85 F cm? = 6.406
Q ke. = 15.68 “ I1Q ke = 1.736
S D onwv= 111.8 ~ || D onmm= 1215
Puww = 33231 | Poaam = 4460
P BH.mv= 183.1 ' 1 P Bn.mv= 2240
[p. c1. =0cob. — = |Tp.en =Vl
50 Toww. = 1l Towh, = Tl
bII3-702
From® =3.905
0 ke = 1.058 L
D on.mv= 43.0
P uwm = 110.4
P Br.mm= 95.0
[p. ¢ =0cob.
Tows. = Tl
bII3-703 % 1 bII3-708
Forr 2320 | T ol | F vt 23880
Qe = 0870 | _ /n/’%/é///%% 0 ke, = 1.078
Donww= 762 | 2, | D D onuw= 430
Py = 3140] ! %///”////////// P = 1120
P Bumv= 114.0 P Bu.mv= 100.5
p.ocr =V 43 [p. ¢ =0cob.
Tows. = Tl Toww. = Tl
| BI3-704 BII3-709
- Fom? = 2.855 Fom? = 20.421
7 Qke. = 0.774 Q ke. = 5.534
7= | D onw= 661 D onwm= 75.0
J P HMm = 265.0 P HMm = 235.6
: ' P BH.um= 108.0 P BHm= 1728
— |lpon=V p.on= |
Toww. = 1l Town. = H
bII3-705| 1 /// bII3-710
Fem? = 3.340 / /////// Fem? =59.100
C{Qke = 0900 | = Y Q k2. = 16.016
[ Donww= 670 | T D on.wm=105.0
P uwv = 327.0 P HaM = 3342
P Bu.mv= 108.0 P Bu.mm= 183.7
[p.ca =V [p. cn. =0cob.
i Tows. = Tl Toww. = Tl
| mer  11-70
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bII3-711

Fom? = 10.489
Q ke. = 2.843
D on.mv= 151.0
P uuv = 311.0
P BH.mmv= 222.7
[p. c1. =0cob.
Towh. = 1l

12

Y
%/#//////

4

bII3-717

Fom? = 3.884
Q k2. = 1,053
D on.mm= 61.1
P Hmm = 2718
P Bu.mmv= 12/.3
[p.ca = VI
Toun. = Tl

blI3-718

Fem? = 3.365
Q ke = 0912
D on.MM= 62.5
P Hmv = 2677
P Bu.mv= 119.8
fp.ca= Wl
Tou, = Tl

JTuer
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bII3-726

FcMm? = 2,687
Q k2. = 0.728
D on.mm= 38.3
P Hmm = 262.8
P BH.mv= 48.0
fp.ca. =
Towh, = Tl

bII3-727

180 [ Fowt = 6942
= Q k2. = 1.881
D on.mm= 180.8
L% P HMM = 596.0
== 1| P Bu.mu= 164.0
[p. cn. =0cob.
Toun. = Tl

blI3-728

Fem? = 3.060
Q k2. = 0.829
D on.mm= 45.3
P Hmv = 2420
P Bu.mmv= 37.7
[p. ¢ =0cob.
Tou, = Tl

i BII3-724

Fom? = 2.021
Q k2. = 0.548
D on.mv= 46.6
P uwmv = 178.0
P BH.mv= 82.0

%

2 9 %
fp.ca. =

I
77 ////Z
Toww. = 1l

18

18

L bII3-725

Fem? = 2171
| Q ke = 0.588
-1 D on.mv= 46.6
| P HMv = 1980
P Bu.mv= 82.0
fp. o= I
Toww. = 1l

Q777777

Ilaer [1-072




-‘ BII3-731 BII3-736
' [ F ot = 4055 Frow? =2.600
L {0k = 10988 Q k. = 0.705

= % | | D onww= 79.0 3| | D onmw= 423

v | P = 2464 P Hum = 205.6
| P BH.MmM= 234.7 P Bu.mv= 91.4
[p. ¢, =0cob. fp.cn =V
: Tows. = 1l |~ 0.2 - Tows. = H
BII3-732 BII3-737
Fem? = 3,789 Fem? = 2,909
Q ke. = 1.027 Q ke. = 0.680
D on.mm= 39.9 D on.mM= 45.0
P uM = 210.8 P wM = 2004
P Br.mm= 240.4 P BH.mM= 85.6
[p. 1. =0cab. [p.cn. = VI
Toud. = Ocod. Town. = I
bII3-733 bII3-738
Femt =0 Fem? = 3.490
Qke. = 0 Q ke. = 0.946
D on.mm= 0 D on.mM= 63.1
P HmM = 0 P umm = 2678
P Bu.Mu= 0 P Bumu= 1123
[p. ¢, =0cod. [p.cr =V
TouH. = Ocob. Touw. = H
blI3-734 bII3-739
Fem? = 3.267 Femt = 3.440
Q k2. = 0.885 Q k. = 0.932
D on.um= 54.0 D on.mM= 64.0
P HM = 169.7 P wm = 180.0
P Br.m= 15/.1 P Bx.mM= 164.0
[p.cr = V [p.ca. = VI
Tows. = DIN Tous. = DIN
bII3-735 bII3-740
Fom? = 4.524 Fem? = 2799
Q ke, = 1.226 Q ke. = 0.757
D on.um= 40.0 D on.mm= 37.0
P HuM = 125.7 P HM = 245.2
P Br.um= 100.5 P Brwm= 37.7
[p.ca. = |l [p. ¢1. =0cob.
Tous. = DIN Toww. = 1l
Taer [I-073




bII3-741

blI3-746

Fowt 23961 | o 4o Fomt = 1,509
Qe = 1073 | =2 IIIIIIIIIIII Q ke. = 0.433

D on.uv= 78.1 g e | ) OnMM= 46,0
Pk = 3560 | s | P aw = 18]

P BH.mv= 82.0 P Bn.mm= 82.7

[p. c1. =0cob. [p. ca. =0cob.

Tows. = Tl Toww. = Tl
bII3-742 bII3-747

Fon =4840 | == i F ot = 1,380

Qe = 1312 Illlllllll 0 ke, = 0374

MM = 250, HMv = 106.

P Br.mm= 234.0 P Bn.um= 68.7

[p. ¢ =0cob. [p. cn. =0cob.

Tows. = DIN Toww. = Tl
BII3-743 BII3-748

ot = 6.267 2 Fowt = 1321

Q ke. = 1.698 Q ke = 0,358

D on.mv= 61.0 - D on.mv= 34.1

P umm = 190.0 TL [P ouav = 940

P Bu.mv= 168.0 P Bu.mm= 82.0

Moo= N 2 ooz I

Touw. = H Toww. = Tl
bII3-749

Fom? = 4,385

Q ke. = 1.188

D on.wmM= 48.7
P uwv = 4147

P Bn.mmM= 37.7

[p. c1. =0cob.

Towh, = I
b0 bII3-745 bII3-750
LT ow = 6660 Four = 3617
2 Q k2. = 1.805 Q k2. = 0.980
2 D on.uv= 80.7 D on.mm= 66.0
2 P Hwm = 2314 P HM = 354.6
2 P BHmm= 212.6 P BHm= 0.0
7 Ullpon= [p. ca. =0cob,
Tows. = DIN Tow. = H
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bII3-751 bII3-756
F et = 6,032 Fem? = 2.820
Q ke, = 1.635 Q k2. = 0.764
D on.mM= 38.0 D on.mm= 40.0
P uwv = 119.4 P uwm = 127.0
P BH.mu= 81.7 P BH.mM= 97.4
fp.cr = | p.cr =V
Touw. = H Toww. = Tl
blI3-752| = bII3-757
) Fem? = 4,260 Fom? = 14,744
, < - | Q ke, = 1,104 0 k2. = 3.996
D on.mm= 28.0 1< | D onmv= 539
B :
o ' P uuM = 5.9 e P uwM = 1528
P Bz 88.0 P Bz 44
4
[p.ca =V 10 ! fp.cn = |
- 028 _ Toww. = H Tows. = H
bII3-753 bII3-758
Femr =10.170 - 0 - Fem? = 2010
Q ke. = 2.756 Q ke = 0.545
D on.mM= 48.9 = D onmumu= 339
P umv = 141.6 P um = 140.0
P Bu.mv= 77.0 15 | P Buwm= 1280
| Tpoen =l [p. ¢ =0cob.
Touw. = H Tows. = DIN
3.5 blI3-754 ? bII3-759
7 T [F ou = 6.080 ) Fout = 6.110
7 Ok = 168 | | 72 0 ke. = 1.656
/// | [Donw= 390 | | 7 w . | D onwu= 887
% P umm = 1203 =[P umv = 330
1) / P BH.mv= 62.8 , P Bhwv= 2138
Vilp.c= ) Vi s ISR
Tows. = H i [ Town, = 11
bII3-755
Fem? = 14,500
7 Q k2. = 3.930
/ / w || D onuu=125.0
a4
Tows. = I
| Jluct [1-075
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bII3-766

e i ¢ Fom? = 2313
Q k2. = 0.643
D on.mm= 45.0
P umm = 223.3
P BH.mv= 83.0
[p. ca. =0cob.
Towh, = Tl
bII3-762 bII3-767
Fem? =2.700 Fou? = 2744
Q k2. = 0.732 70.5 0 ke, = 0.744
D on.mm= 43.0 D on.mm= 71.0
P uwmv = 1414 Gttt | | P HMv = 186.7
P Bumv= 121.8 P Bu.mn= 147.0
p.c= N <=1 | Tp. cn. =0Qcob.
TouH. = Toun. = Tl
bII3-763
Fem? =2.515
Q k2. = 0.682
D on.mv= 58.9
P Huv = 210.8
P Bu.mv= 114.0
p.ocr =V
Towh. = 1l
bII3-764
Fem? = 2,048
Q k2. = 0.555
D on.mv=37.0
P uwv = 109.9
P BH.mv= 99.1
p.cr =V
Toww. = 1l
bII3-765 bII3-770
Fem? =2.520 Fem? = 4.680
gy || () ke, = 0,683 0 k2. = 1.268
; D on.mv= 56.3 D on.mv= 63.0
P HMM = 2253 P Hav = 2578
P Bu.mv= 112.0 P Bu.mv= 149.0
[p.ch = 9 [p.cn =V
Toww. = 1l Toun. = Tl
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BII3-771 " BII3-776
F ot = 3.259 ] Fomt = 7.232
C | Q ke = 0.883 Z‘% Q ke. = 1.960
Donmv= 430 | = D on.wm= 108.0
Pumv = 111.8 L P uwm = 4340
P Bx.mv= 103.8 P BH.mm= 273.0
[p. ca. =0cob. 100 [p.cn. = VI
Tows, = I | Town. = N
bII3-777
Fom? = 9,458
Q ko. = 2.563
D on.mv= 78
P uwm = 321.0
P Bu.um= 297.6
[p.ca = VI
Toww. = Tl
bII3-778
Fomt =2.5342
Q ke = 0.635
D on.uM= 68.1
P umm = 167.9
P Bu.mv= 164.8
[p. ca. = Qcob.
Toww. = Tl
‘ BII3-774 BII3-779
Femt = 11,370 Fem? = 18,940
~ Q kz. = 3.081 Q ke = 5133
= D on.mM= 163.0 D on.mmM= 81.5
P um = 420.0 P um = 441.7
y P BH.mv= 638.3 P Bn.mm= 207.0
[p. c1. =0cob. [p. c1. =0cob.
- To. = H Town. = H
BII3-775 . BII3-780
I Fem? = 3.940 — Fom? = 1.742
—_ Q ke, = 1.07 Q0 ke. = 0472
3 Bl D on.uv= 67.0 «3| | D onwm= 56.0
P uwM = 2913 P uaM = 130.0
! P BHmm= 171.8 19 P BHm= 140.0
50 [p.cr = Wl — = | Tp. cn =0cob.
i Tows. = Tl Tows. = DIN
| lmer  [1-77




bI[3-786

Fom? = 44,070
Q ke, = 11,943
D on.mm= 105.0
P oM = 323.5
P Bn.um= 187.9
p.ca =V
Town. = 1l
bII3-782 bII3-787
b | Fomt =3.200 Fem? =9.000
T Q k2. = 0.867 Q k2. = 2.439
~ | =3 | D onwmu= 3.0 D onwm= T71.0
< P umm = 2470 P wam = 200.0
T VP Bhum= 128.0 P Bx.mmu= 160.0
20 .ot =V M. e = I
Touw. = 1Tl Tour. = DIN
bII3-783 bI[3-788
% _ F ot = 2600 Font = 0,400
Q k2. = 0.710 Q k2. = 0.108
A | D onmm= 9.3 D on.mm= 10.0
S|P umw = 1770 P Hmu = 31,4
V| P Bumv= 1340 P BH.Mv= 22
fp.cr = V [p.ca =V
Toww. = I Toww. = 1l
56 bII3-784 bII3-789
Fom? =3.260 Fom? = 4.000
b Q ke = 0883 Q k2. = 1.084
D on.mmM= 62.5 D onmm= 22.7
=1 | P wmu = 2050 P MM = 1426
I P BH.uv=164.0 P BHum= 1238
- Tpoen =V [p.ca. = VI
Toww. = I Toww. = 1Tl
BII3-785 . BII3-790
Fom? =1.710 Fom? = 4.620
Q k2. = 0.463 Q k2. = 1.252
D on.mm= 20.0 D on.mM= 26
P HMv = 62.8 P umy = 1634
P BHv= 424 P BHm= 144.5
[p. cx. =0cob. [p.cr =Vl
Towh. = I Town. =
i - T ~Q




2 e~ bII3-791 : bII3-796
" : Fow =830 | S 13 F ot = 249]
| 0 ke. = 2.249 — | |Qxe = 0.675
! D on.mm= 168 | |D onmm= 383
P HM = 434.2 P wm = 199.3
167 P Bu.mv= 338.2 Y | P Bumu= 317
B - 1. cn. = Ocob. 15 4¢ [p. ca. = Ocob.
Toww. = H | [—= ’ - Toww. = 1l
< -~ bII3-792 bII3-797
! e | F ot = 85648 m o =23
b ke = 234 | |Qxe = 0638
b D on.um= 173 < | D onmm= 38.3
= —| | P Hmv = 4182 P Hm = 183.7
P BH.mv= 394.1 v | P BHmn= 377
[p. ¢1. = Ocob. 113 [p. cn. = Qcob.
Toh. = H : -— Toww. = Tl
180 bII3-793 bII3-798
| Fem? =9.055 Fem? =8.389
Q ke. = 2.454 Q ke, = 2.273
X 7 D on.mm= 181.4 D on.mMM= 69
o P umM = 497.6 P HmM = 2626
5 P Br.um= 331.1 P Br.mmM= 140.6
[p. c1. = Ocob. ; fp.cn = IV
Tows. = H 60 _ Tows. = H
bII3-794 bII3-799
Fem? = 1.671 Fem? = 2.287
Q k2. = 0.453 Q k2. = 0.620
D on.mm= 40.2 D on.mm= 60.7
P HM = 136.0 P HM = 161.1
P Bx.um= 82 P Br.mmM= 112.6
[p.ca. = I p.en= N
Toww. = Tl Towd, = I
bII3-795 , |BII3-800
Fow =214 | Few? =3.040
) ., Q k2. = 0.581 _ Q k2. = 1.366
/’”’/{/ s D onM= 33 [ D on.mm= 95.0
/‘ B P HmM = 150.1 P wM = 260.0
- 8y P Bz 377 b0 P B 2440
31 [p. 1. = Ocob. p. ¢a. =Qcob.
= - Towr. = 1Tl Tow. = H
laer  II-79




bII3-611 blI3-816
Fem? = 2160 Fev =266
Q k2. = 0.585 Qke. = 0.728
D on.mm= 30.7 D on.um=39.1
P rmM = 1943 P HM = 1419
P BH.uM= 59.6 P Br.mm= 78.9
[p.cr. = V [p.ca. = VI
Touw. = H Tow. = H
blI3-812 blI3-817
Fem? = 2.560 Fem? = 4.056
Q k2. = 0.694 Q ke. = 1.099
D on.mm= 44.8 D on.um= 38
P wmM = 188.7 P HuM = 148.6
P BH.m= 92.0 P Bn.uM= 88
fp. e = |V Mp. e =
Touw. = H Toww. = 1l
bII3-813 bII3-818
Fem? =2.280 Fom? =250
Qke. = 0618 | T Q k2. = 0.687
D onwv= 519 | 1= D on.uu="46
Pumvi = 1885 T P umv = 118.2
P Bhuw= 762 | P 8nuw= 1007
[p.cn =V [p.cr = V
Touw. = H Towd, = Tl
blI3-814 blI3-819
Fem? = 2.840 Fem? = 2179
Q k2. = 0.770 Q k2. = 0.591
D on.mm= 44.8 D on.um= 32.5
P umM = 2154 P HmM = 1215
P Bu.m= 94.5 P Bx.mm= 86.4
p.oen = IV [p.cr= IV
Tow. = H Towd, = I
blI3-819 bII3-620
Fomt = 2440 Fem? = 0.869
0 ke. = 0.661 0 ke. = 1,590
ry o D on.mm=66.1 D onmm= 87
P hmm = 2324{ o P Hm = 207.1
P BH.Mm= 59.6 | P BH.mM= 129.6
[p.ca =V fp.cr =V
Touw. = H Towr. = Tl
ler  11-81




bII3-621 bII3-826
Fem? = 4.106 Fem? = 3.313
o Qke. = 1,113 Q ke. = 1.440
«“ D on.mM= 63 D on.um= 48.3
4 P HM = 231 P HM = 1517
P BH.uM= 69.6 P Brm= 12/.9
[p.ca. = VI [p.ca. = |l
Touw. = H Tows. = Tl
BII3-822 BII3-827
Fem? = 2.629 Fem? = 4.241
Qke. = 0.712 Q ke, = 1.149
D on.mm= 40 D on.um= 48
P rmM = 1295 P HM = 150.8
P Bn.mm= 101.8 P Br.um= 132
fp.cn = [p. e = |
Touw. = H Toww. = 1l
BI13-823 BI13-828
Fem? =6.395 Fem? = 2.875
Q ke, = 1.733 Q k. = 0.779
D on.mu= 79 D on.mm= 33.5
P umm = 440.1 P umM = 105.2
P BH.Mu= D7 P Bu.mv= 86.4
[p. ca. =0cob. fp.ca = |
Toyn. = H Toww. = 1l
. blI3-824 blI3-829
Fem? = 4.709 Fom? = 2.240
% Q0 ke. = 1.276 | | (Q ke = 0607
- <| | D onmv= B84 — D on.um= 45
—'L g P hm = 281.1 0 N P i = 120
= P Bn.mm= 202.2 P Br.mm= 104
? [p. ca. = Qcob. [p.ca= V
Tow. = H Towd, = I
blI3-829 bII3-830
S & Fom? = 5.839 Fowr = 2750
0 k2. = 1,581 K| |Q ke = 0745
%L\H %50 D on.mm= 161 — D on.mm= 45
< 1P Hw = 3713 40 - P Hw = 120
P Bumm= 171.3 - P Br.mm= 100
[p. ¢ = Ocob. [p.cn. = VI
Touw. = H Towr. = Tl
lmer  I1-82




BII3-831 B BII3-836
F CMz = 1.9 //////////////////////,; “‘ F CM2 = 3.372
Q ke. = 0.515 Z Q ke. = 0914
D onww= 7001 D on.uu= 61.2
P umm = 199.2 2 2 e P umm = 1749
P BH.uM= 49.8 2 2 g P BH.uM= 162.3
p. cl. = vV 2,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,/2 { p. e, = V
Touw. = H Toys. = DIN
blI3-832 blI3-837
Femt =1.790 Fom? = 3.237
Q k2. = 0.485 Q k. = 0.877
D on.mm= 22 D on.um= 43

P wmM = 69.1 P HM = 109.6
P BH.m= 50.3 P Bx.um= 105.8
fp.cn = | [p. ¢ = Ocof.
Town. = H Toww. = 1l
blI3-833 bII3-838
Fom? = 2433 F oMt = 6,378
Q ke = 0.659 Qke. = 1.728
D on.mv= 0 D on.mM= 62

P umm = 1571 P umM = 193.2
P Bn.mu= 147 P Bumv= 171.2
fp.cn =V [p.ca = IV
Town. = 1l Tows, = H
blI3-834 blI3-839
Font = 0.859 Tl [Few =075
Q k2. = 0.233 Q ke. = 0.210
D on.mm= 17 2 | | D onmm= 31

P HuM = 3.4 P HuM = 92.2
P Bu.m= 421 P Bx.mm= 10.1
[p.cn. = VI [p.ca= V
Toyw. = 1l Towd, = I
blI3-839 bII3-840
Fom? = 4.269 Fem? =7.270
0 ke. = 1,157 0 ke. = 1,970
D on.mM= 29 D on.mm= 40

P HmM = /8.5 P wM = 125.7
P BH.m= 32 P Brm= 81.7
lp.en = IV fp.ca = |
Toww. = 1l Towr. = Tl

et
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% blI3-0841 19 bII3-846
Fem? = 1.616 Fem? = 1.890
= Q k. = 0.438 Q k2. = 0.590
< B D onMv= 35.4 D on.uv= 46.4
P umM = 139 P HM = 219.5
- 5 P BH.mM= 54.8 P Br.uM= 57.2
' [p. ca. = Ocob. m [p. c1. = Ocob.
Toyw. = I Tows. = Tl
bII3-842 bII3-847
F ot = 9.137 - Fowt = 1.328
Q k2. = 2.476 o | | A ke = 0.360
D on.mm= 86.6 | 3 D on.umu= 32
P HwM = 2721 P HMM = 134
P Br.mm= 250.1 % P Br.um= 43
fp.cn = [p.cr = VI
Toww. = 1l Toww. = 1l
blI3-6843 N bII3-848
Fout = 4,033 - Fout = 1,592
Qe = 1.093 | = Q ke = 0.431
D onmn= 758 [T 2 S| | D onmu= 459
P Hmm = 283 P umM = 1922
P BH.mu= 170 40 P Bu.Mv= 73.0
fp.cn =V [p.cr = VI
Town. = 1l Tows, = 1l
bIl3-844 bII3-849
Fow =2837 | ] - F ot = 1.650
Qe = 0770 | Q ke. = 0.447
D on.wu= 51.5 | =172| | D onuv= 40
P wum = 282.8 | | P oHam = 1418
P Bu.m= 91.7 P BH.uM= 73.5
[p. c1. = Ocob. 30.2 fp.cn = VI
Toyw. = 1l Towd, = I
26 blIo-845| 7 bII3-850
Fem? = 1.390 Fem? = 9.024
=l |0 ke = 0,431 o Q ke. = 2.446
— D on.mm= 37.2 o D on.mm= 147.0
S P HM = 195.6 P HM = 338.6
P Br.um= 54.3 P BH.mmM= 355.2
p.o = Oeob. | — "% M. cn. = VI
— Towr. = I Town. = 1]
laer  11-84




bII3-851

Fem? =11.920
Q ke = 3.3
D on.mm= 114
P wwM = 4024
P Bu.mu= 379,06
[p. cr. = VI
Toyw. = I
blI3-852| _ blI3-857
Fem? = 3.909 Fem? = 3.386
ke = 1.089 | _ [ Q ke = 0918
D onmn= 69.3 | = | | D onmuu= 664
P HuM = 275.6 ~ P HMM = 254
P Bh.mM= 153.8 53 P Br.uM= 126
fp.cn. = V| ' fp.ca =V
Toww. = 1l Toww. = 1l
54 | blI3-803| _ %%;;5% bII3-808
,;,,,,/2/2,,,,,,,,,,'}2/,,2 Fou? = 4730 Fem? = 3.201
’ Ok =18 | = Q ke. = 0.867
= D onmv= 69.6 | = D on.mM= 6.5
P umm = 338.1 P 1M = 261
P Bu.Mv= 161.6 P Bu.Mu= 137
| fp.cn. = Vi [p.ca. =V
Town, = 1l | Tows, = T
o |B3-854] N BII3-859
= Fou = 5.240 [ Fow =392
0 ke. = 1.420 R e _ Q ke. = 1.061
= D onmw= 622 | <| & = D on.um= 10
P uM = 392.1 — | P HaM = 336
P Bn.mM= 161.6 P Br.um= 115
R [p.ca. = VI i [p.cn =V
Toyw. = 1l Towd, = I
_ bII3-855
Fem? = 3.980
= Q ke. = 1.070
D on.mmM= 621
P HM = 26/.4
P Brwm= 141.3
# [p.ca = Wl
Town. = 1
lmer  I1-85




‘ bl[o-661] blI3-0666-1
x
Fem? = 3.867 ?% %2 Fem? = 3.867
- Q k. = 1.048 - Qke. = 1.048
«© D on.mM= 85 < D on.um= 85
P wmm = 270.2 P HM = 2/0.2
N / P Bh.mm= 191.3 % % P Br.um= 191.3
68 p. ca. = Ocob.| o p. cx. = Ocob.
= = | Tow. = 1l - - Toww. = 1l
B 70 B n_ n_
- -1 | | BlI3-862 | BII3-867
1 ol |Fout = 884 Fom? =22.38
H“ Q ke. = 2.396 Q k2. = 6.065
- D on.mM= 85.3 D on.mm= 57
>~ P w.mu = 304 P umv = 179.1
P 8H.uM= 239.8 P BH.MmM= 62.8
Y p. ca. = Qcod, Mp. o = I
16| _ Toww. = Tl - ll - Tow. = H
BII3-863 sa | BII3-868
Fout = 1.414 y Fom? = 18.09
3 0 ke = 0.383 / 0 ke, = 4902
D on.mu= 18 D on.mu= 52
P umm = 6.6 P umm = 1634
P Bu.mu= 37.7 P Bu.Mv= 62.8
o Mp. ca = IV &52 Mp. ca. = i
Ton. = H - . Town. = H
bII3-864 N bII3-869
) Fem? = 0.346 Fem? =0.352
- Q k2. = 0.094 Q k2. = 0.095
D on.mm= 12 D on.m= 32
P uwM = 37.7 P HM = 100.5
o512 P Bnv=31.4 P BHum= 75.4
- - fp.cn. = VI [p.ca = |l
Town. = H - D3 - Toww. = H
LB bII3-865| 1 bII3-870
b IF ot = 033 Fowt = 4219
i Qke. = 063 | o Qke. = 1.119
N S| [Donmw=423 | D on.uv=" 66
< P umv = 170.6 P umv = 2355
‘ P BH.mm= 131.1 | P Bu.mum= 160.6
| ’ [p. cn. = Ocob. R [p. o =V
Toww, = Tl - 60 —| | Toww. = H
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BII3-871 . |BlI3-876

Fout = 1482 ~  [Fowt =300

Q ke = 0.402 1 ez Qke. = 0.813

b s g1y | A |

P BH.mM= 76.6 N P Bx.uM= 60

|'p cn. = Ocod. o rp e =V

Toyw. = H Tow. = 1II
bII3-872 bII3-877

Femt =2.212 Fomt =314

i 0 ke. = 0599 |, I | 0 ke = 0.851

= D onmv= 52 |32 < Kea || D onuu= 55
P = 187 [T 1Ly P = 212

P Bh.mM= 39 P Br.um= 109

%p. = I\I/ gp. el = I\I/

OYH, = OUH, =

bII3-873 bII3-878

’ Fot =309 | <l —T | Fowt =542
n | Q ke = 0.821 5| Q ke = 1470

D on.mM= 8 “ D on.mm= 96

P HM = 241 L || P Hv = 36

P BH.Mu= 92 P Bumu= 217

lp.cn= V | Tpoan =V

- _ Tow. = I Toww. = 1I
bII3-874 bII3-879

Font = 2487 Lo [For =700

o 1l Q ke. = 0.674 %) o Q ke. = 2.087

\ bl %N D on.wk= 55 < D on.wv= 96
P umM = 223 ! P uM = 400

P Bx.m= 60 P Br.mm= 251

lp.cn= V Mp.cn. = VI

Tow. = 1I - — Tow. = I
bII3-875 = | blI3-880

Fout = .27 I F omz = 10.20

Q k2. = 0.616 Q ke, = 2.838

D onmn= 31 |2 © D on.mm= 119

P wwM = 172 A P HM = 500

P BH.mv= 69 2 P Brwm= 351

- p.cr= V | Tp. o=V

Tow. = I o Tovw. = 1I
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‘ - blI3-861 bII3-886
R ot = 4.6 ot = 253
Qke. = 1M | o Q ke = 0.684
< D onwmn= 768 | D on.mmM= 325
¥ P v = 299 P umm = 207.9
| M P Bhwm= 217 P Bruv=104.5
312#_1’ |'p en. =Vl rp e, = VI
- Toww. = II Toww. = 1II
BI13-882 BII3-887
b _se2tle Fowt =70 F ot = 150
I Q ke. = 1.96 Q ke. = 0.407
g D on.mM= B84.3 D on.mm= 44
3 P umm = 336 P umv = 161.5
A P BH.MM= 251 P Bu.Mv= 69.4
r z Mp.cr. = VI [p. 1. =0co6.
- Toun, = 1II Tows. = DIN
BII3-883 BII3-888
. 106.2* | Fout =971 Fomt = 1.20
‘ Q k2. = 2.63 / Q ke = 033
G D onmm= 117.5 D on.mm= 30
2 P umv = 438 P umv = 120.1
P BH.MM= 391 P BH.um= 64.4
I = |'p en. = Vi rp ¢, =0cob.
Toww. = II Toud. = DIN
bII3-684 bI13-889
Fem? = 2,02
Q ke. = 0.548
D on.mm= 523
P HmM = 222
P Bumv= 130.3
[p. 1. =0co0.
Tows. = DIN
bII3-885 % bI13-890
Fom? = 4.45
2 Q ke = 1.20
D on.mM= 59.9
P HmM = 2039
P Bumv= 217.2
|'p ¢l = Vi
Toww. = 1II
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2 .. |blI3-891 bII3-896
U [ F o = 1081 Fow = 3.3
A Q k2. = 0.293 1| Qxe = 0906
iR D on.mM= 25 = | | Donmmv= 43
i P = 1025 P = 1104
P Bn.mu= 31.9 P Bumv= 1121
173 [p. ca. = Ocob.| | 42.6 _ [p. ca. = Ocob.
—-— Tous. = DIN Town. = 1II
bII3-892 bII3-897
Fem = 3,102
Q ke. = 0.841
D on.mv= 43
P uwM = 109.2
P Bu.mv= 108.3
B 428 5 [p. ca. = Ocob.
B 1 |Toww, = 1I
BI13-893 L BI13-898
o |Fowt = 4812 i Fout = 4.89
— 0 ke = 1.304 XTI Q ke, = 1.32
I 1 Donwn= 141 | D onmv= 8
PuwM = 3948 = P umm = 417
P Bu.mv= 294.6 Sl P Bu.mv= 136
- 140 rp cn. = Ocob. |'p e, = VI
Y M
Tows. = 1I Tows, = TI
BI3-894| T [ . BII3-899
F e =19.067 Fem? = 8.469
Qe = 5067 | _ U Q ke = 2087
D onmv= 111.0| =< D on.mmM= 130
Pumv = 2845 P wum = 501
P BH.mv= 301.2 P Bn.mu= 248
[p. 1. =0cob. i lp.cr = Vi
Toww. = 1l ‘ ¢ Toww. = 1I
bII3-895 bI13-900
Fout = 4843 W ot = 4843
Q0 ke = 1.312 _ 0 ke. = 1.312
D on.mv=57.0 ~=>| | D on.mM= 9/
P Hmv = 146.1 P uwM = 146.1
P BH.um= 158.8 % P BH.MuM= 158.8
p. ¢1. =0cof. 44 [p. cn. = Ocob.
Toww. = N (T = Town, = 1II
Taer 11-89




I [bII3-0901 bII3-0906
2 7 Fout =7.42 FIF our =309
0N.MM= ) ONn.MM=
P umv = 410.7 ‘ P umv = 241
‘ P Bn.umv= 181 P Bn.mm= 121
50 lp. cn. = VI 50 [p.cn. = VI
~ - Toww. = I Tow. = 1l
100 bI[3-0902 , 2. 1 |BI3-0907
Fem? =7.930 Fem? =3.07
L Q ke. = 2.041 s | Qe =13
- i D on.mm= 1060 D on.mm= 97
o Urrn | P yuM = 4475 P HaM = 357.3
7 P Bu.mv= 224.0 P Bn.mv= 237.8
fp. e = VI 57 ! [p.er. = VI
Toww. = I - - Toww, = 1l
. Eaﬁ g t [bII3-0903 bII3-0908
Fom? =9.97 [ C Fou? =4.38
- Q ke. = 2.69 Q ke. = 2.27
= D onmm= 136.1| B D onwm= 93
P umm = 5129 ' f P Hmv = 2855
50 P BH.uM= 283 P BH.mv= 237.8
[p.cr = VI 457 [p.cn = VI
Towh. = I Toww. = Tl
’ %? bII3-0904] + 1 bII3-0909
Fout = 1107 a % Fowt = 1000
e Q ke = 3.02 = Q k. = 2.764
1| D onww= 1593 ;1 D on.uv= 96.0
Py = 560.9 ' P HmM = 659.7
0 P Baw= 331 , W P Brw= 1836
gp. ch = \rlll 80.3 gp. cl. :0con6.
OYH, = — = | Toun. =
: BII3-0905] T BII3-0910
Fou? =12.37 Fom? = 2124
- Q ke = 3.34 Q k2. = 0.576
| | D onww= 1826| = < D on.uw= 5.0
P umv = 608.9 P wmm = 226.7
P BH.MuM= 379 P BH.um= 59.4
o0 [p.cr= Wl | b [p.cr= Wl
Toww. = Ml ! s Towr. = 1l

nrrnm

T O




bII3-911 6 . |BII3-916
< | Fom = 4813 - Fom? = 4.890
Q ke, = 1.304 1 S 0 ke. = 1.325
/I D onmm= 1410 S _ G D onmw= 336
Pumv = 3948|™ P umm = 156.5
P Bu.mM= 245.6 %@ %) P Bx.mm= 160.6
- 140 p.oca = VI | == poon = IV
Towh, = Tl Town. = Tl
_ blI3-912| , bII3-917
i
2 % % Feu? = 4210 FeM? = 1,696
= | Q ke. = 1,157 8 Ke. = 0.%800
g D on.mv= 49.0 on.mm=29.
! ! % P Hm = 186.7 ATERIN
- P BH.MM= 122.6 P BH.MM= 78.5
B 44 B |'p = ¢29 Fp on =l
B U Toww. = T - Toww. = H
. |BI3-913 -1t | BII3-918
= Four = 1137 | Fow = 3950
L Qe = 0308 |eo Q xe. = 1.070
? D on.mv= 24.0 r D on.mM= 55.9
Z P = 631 P = 139.3
‘ P BH.MM= 50.6 54 _| | P Bwm= 1343
258 o= NV " Tp.an =
Towh, = Tl Town. = Tl
ra ¥
BII3-914 BII3-919
Fem? =1.867 Fem? = 6.420
- Qe = 0306 | s A Q k2. = 1.740
? oo| |Donmw= 310 = D D onmv=109.0
/ | PoH = 826 P HwM = 350.4
P BH.umM= 66.8 P Bu.mmM= 251.2
3 [p.ca = IV ﬁ b [p. ch. =
— " Towh, = Tl - — Town. = Tl
bII3-915 _no bII3-920
F e =1.496 Fom? = 3.440
? Tz |} BegdZony 0 ke. = 0.93
/ ‘_" D onmm= 270 | D on.mm= 48.3
Pumvi =723 P umm = 199.5
P Bh.mu= 97.8 P Bnum= 97.9
S [p.ca = IV U —| |Tp.cn =
Towh, = Tl Town. = Tl
L0l 1999
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- BII3-921 BII3-926
I Fom? = 4600 Fom? = 1511
. Q ke, = 1.247 Q ke = 0.409
- 1.2 D on.mm= 77.1 D on.mm= 30.0
D P uwM = 289.1 P uwM = 226.9
! P Bu.mm= 164.2 P Bx.mm= 25.1
[p. ca. =0cob. [p.cr= VI
Toww. = Tl Toww. = Tl
bII3-922 bII3-927
Fem? = 2.262 Fem? =3.202
0 ke. = 0.613 Q ke. = 0.868
D on.mm=30.0 D on.mu= 43.0
P uwM = 203.3 P umM = 348.6
P Bumm= 412 P Bx.mm= 82.0
[p.ca. = VI [p.cn = VI
Tows. = H Toww. = Tl
BI13-923 BII3-928
3 Fom? =0.848 7 F et = 54.336
< [ Qe = 0230 |= / / Q ke. = 14.725
. —| .
D on.mm= 12.0 ///// D on.mm= 116.0
P oww = 377 Z P Hwu = 388.6
P Bhw= 189 | | / 77 1| P b= 1821
_ g Mp.ocn = |l 9 Moo=V
Tow. = H - . Toww. = Tl
405 bII3-924| | // bII3-929
SIISLIIS IS F CMZ - 1'570 ///////////////; F CMZ - 2.500
Ty / J Ok = 045 || § 7 |0k = 068
=3 I L 7| Donum= 440 7 7 D onmv= 52.3
_' 5/////// //////5/// P HMM = 177.9 ; // P HMM = 195.0
NT O 118 | 1 Lorsririn /2 |P b 123
— [p. c1. =0cob. It fp.cr= VI
Town. = H Towh, = Tl
=l bII3-925
“ R b o =110
— Q ke. = 0.525
- . D on.mm= 28.0
! P Hmv = 1248
P Bu.mm= 61.5
0 [p. ca. =0cob.
- - Touw. = 1l
- 0T 1999
et [-92




- bII3-931 bII3-936
“ Fowt = 1507 7.3 Fowt = 200
| < Qke. = 0408 | = Q ke. = 0.561
=S Donwv= 325 | D onuM= 340
Q ®" P = 1021 4 f P = 96.4
! ez P Bz 924 4 P B 320
fp.ca. = 1 p.cr =V
Tows. = 1l = = Town, = 1l
‘ blI3-932| —4~ bII3-937
_ Fem? = 13,630 \ Fom? =5.550
w1 0 ke = 364 | 0 k2. = 1.504
ISERNY D on.mv= 45.0 ' D on.mm= 86.3
P umm = 1414 P uwM = 2320
' P Buwu= 53.4 77 P Buwn= 2120
fp.ca = |l = = |lp.en =V
Tows. = Tl Toww. = Tl
> | bII3-933 , blI3-938
= Fowr =835 |~ == F cu* = 3.360
S e = 2265 | Q k2. = 0911
% D on.mm= 83.0 ‘ D on.mm= 73.0
P umv = 310.7 P wam = 180.0
28 _ b= 1037 =0 | [P Bhawe 1640
B 76 o Tpeen= Y M. cn= N
D 1 [ Toww. = Tl Toww. = Tl
Y bI13-934
Fom? =334
- Q kz. = 0.901
> D on.mm= 94,0
P HmM = 273.6
P Bn.mM= 4029
g LU K
! BII3-935] BI13-940
Fow =3730 || Fout = 2770
| _ .19 0 ke. = 1011 , 0 ke. = 0.J51
D on.mv= 59.5 Z %jm D on.um= 77.8
P umM = 2416 P wwM = 306.8
y P BHum= 1489 B 11 || P Buww= 0.0
% p.o= [p.ca=
D l Tows. = Tl Toww. = Tl
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D o= 380

P umv = 1194
P BH.uv= 82.9
fp.er = |
Toww. = 1l
bII3-948
F cut = 30.530
0 ke = 8.274
D onwm= 93.0
P Han = 1289.]
P Brmm= 125.7
[p. ca. =0cob.
Toww. = 11
bII3-949
Fout = 4830
Q ke. = 1.309
o D on.mv= 100.0
P umm = 4163
P Br.um= 1704
fp.en= W
= Toww. = 1
< BII3-945| _ BII3-950
Font =2.150 16 Fout =3930
~ Q ke = 0583 | o ! Q k2. = 1065
~ D onmn= 362 | <7 5 D onmm= 79.0
P umv = 955 f P umm = 362.5
6.2 P Bumm= 791 ) P Br.mv= 1046
fp.er = | 69.2 [p. ¢1. =0cob.
Toww. = 1 Toww. = 1
Jlacr 95




5, | bll3-9a1 _in . |BII3-956
4 Fem? = 6.680 Fem? = 8.680
| E== = 1810 | ] = Qe = 235
3 D onmm= 86.0 | Ty  — D on.mm= 124.0
P umm = 299.0 | P umv = 379.0
r (FrrzpErez
679 P Bumv= 213.0 2 P Bu.mm= 293.0
- : - fp.cn. = VI fp.cr. = W
Towh. = |l Toww. = Tl
66
- % - |bII3-952 bII3-957
u Fem? = 4.290 | F et =4.060
el =71 Qe = 1,163 - | [Qx = 1100
7 = D on.mm= 90.0 =~ D on.mm= 73.3
| P Hmv = 364.3 4 P Hmm = 2726
“ | P Bz 1432 “ P = 1977
- p.ocr =V 161l [p. e = W
— Toww. = 1l Touw. = 1l
1 |pm3-953) - mr _ [pm3-958
\ T 1 Eiyp) F CMz = 3-690 [\ % e F CMZ = 4.200
Q k2. = 1.000 Q ke = 1.138
= i D onmm= 733 | = 3 D onmm= 537
y R P umv = 3263 = |—¢— P vmm = 296.4
P Bu.mv= 105.2 P Bumm= 0.0
< poen= V| A @ fp.on= IV
Ton. = |l Toww. = Tl
. B bII3-954 bII3-959
@A = Fom? = 3.230 Fom? =0.633
6 g Q k2. = 0.875 Q ke, = 0.172
- D on.mm= 64.9 D on.mM= 16.5
7y B P Hm = 2677 P HM = 88.6
’ P Bn.mv= 105.2 P Bn.mv= 0.0
s R I p.ocn=
Ton. = |l Toww. = Tl
- b7 _ bII3-955 _ bI13-960
3¢ = ) Fom? = 3.840 Fom? =279
1.6 / Q ke. = 1.041 Q k2. = 0.759
0 D on.mv= 40.0 =3 D on.mm= 61.0
= Pz 357 P i = 2753
/ P Brun=143.2 ‘ P B1m= 0.0
[p.ca =V 275 [p. ¢n. =0cob.
B2 22V o = 11 - - Town. = 1l
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- bII3-961| 7 o s bII3-966
18 Fem? = 3.860 Fom? = 7.398
——f—= | Qe = 1046 | Q k. = 1.99%
74 = 1D onmm= 69.3 D onmm= 79.0
P umM = 2589 P umM = 3359
/ P Bu.mv= 153.6 ' % P Bu.mm= 144.6
49 [p.cn. = VI 60 [p. ca. =0cob.
- - Tows, = Tl - o Toww, = I
- | bl[5-96% bII3-967
o
F et = 4,790 o~ |Fcm? =2.250
=== | |0k = 1.298 b |0k = 0610
of D on.mM= 101.4 = “‘“‘L‘% D on.mm= 76.0
18 / P M = 3757 =S | P kM = 2060
0% || P Bum= 153.8 13.9 P BH.uv= 146.0
. n lp.cr = VI p. ca. =(0cod.
B - Toww, = 1 Town. = 1l
538 blI3-963 bII3-968
b F oout = 2,038 Fomt =1.384
Qwe. = 0352 | A Q k2. = 0375
~| |Donmn= 405"y g ] D onmm=42.0
’ N P uwm = 173.4 P uwM = 144.4
P BH.MM= 76.7 B 41.0 N P Bx.mm= 60.1
&) | [p. ca. =0cob. [p. ca. =0cob.
Tows. = Tl Toww. = Tl
e bII3-964 bI13-969
Fowt = 7.416 772222 —227 1 [Fowt = 1576
=1 1Q ke = 2010 Q0 ke, = 0.427
“=1 D onmm= 7.1 % S| D onmv= 35.0
P umM = 2953 P uwm = 110.6
\ ) P BH.MM= 154.6 T | P BH.MM= 9.6
505 lp.cr = IV N2 poon= ¥
R —— Tows. = Tl - o Toww. = Tl
J— J—
“ blI3-969| | bII3-970
e Fow' = 6.558 /‘? Fow = 1.665
Q ke = 1777 |3 Q k2. = 0.451
- D on.mm= 740 D on.mm= 33.0
o P umM = 260.5 P uwm = 120.6
P Bruv=154.6] T P Br.Mv=39.6
B p. c1. =0cob. 91,9 [p.ca=
' X Toww. = Tl Touw. = 1l
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BII3-971 BII3-976
7? W W A

Fem? =1.789 Fem? =2.820

% = |0k = 048 2 0 = 0764

D onmm= 35.0 i D on.mm= 28.9

) P Huv = 120.6 P Hum = 99.7

P BH.um="69.2 Z, v | P BHmu= 28.1

k2 Moo=V 8 p. ¢1. =0cob.
Touw. = Tl - - Touw. = Tl
b bI[5-972 bI[9-977

I = Fowt =1.602 | 7 Fent =0.712
ke = 0448 |22 Q k. = 0.193

- Donmv= 3701 v P -] 1D onmmv= 21.0
= %&% P o = 1729 P o = 782
P BHmM=36.3 - il | | P BHww= 215

YRS/ [p. c1. =0cob. [p. ¢, =0cob.
Touw. = Tl Touw. = Tl
b bII3-973| 7 7z bII3-978

v Fom? =1.468 Fom? =0.943

| %E 0k = 0398 | 0 ke = 0.256

D onmm= 33.0 D onmm= 31.4

= P HuM = 140.2 P HuM = 444
P BHmu= 54.3 |l ez P BHmu= 37.5

[p. c1. =0cob. [p.cr = VI

1YY Tow. = Tl 28 Tow. = Tl
‘ bII3-974 20 bII3-979
Fom? =1.889 Fom? = 0.677

Q) Q ke. = 0512 < b | Qxe = 0183
D on.mm= 35.0 o ﬁ o | | Donmu= 230

P hmm = 130.6 44% =1 P Hmv = 805

r 7. P BH.mm= 69.2 / 1 | P BHwm= 315
2.9 [p.ca =V fpoan =V

~ : - |Tow. = T Tows, = Tl

“

> bII3-975| 1 bI[5-980

Feut =1.720 Fom? =1.330

Qe = 0466 | = Q vz = 0.360

D on.mm= 38.0 D on.mm= 43.0
Pumv = 1194 P uuv = 140.2

P Br.wm=110.0 v &S P Br.wm= 83.7

p.ca.= NV p.ca =V

B i - Tows, = Tl - 1 — Touw. = Tl
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- | bll3-981 0 bII3-986
Fom? =2.270 — Fom? =0.911
1 QK = 0615 f Q ke = 0.247
| |Donwu= 512 || ¢ b D onmmu= 26.0
Py = 184.5] — f oL Py = 92,0
% V| P Bhww= 1435 P Brwu= 41.2
185 poen = V[ 7 fp.on =V
- Touw. = Tl Toww. = 1l
W |B3-982) T35 |BII3-987
— | Fout = 2832 T Font = 4720
%M Q ke = 0767 | oo 0 k2. = 1278
) D onwm= 514 | = D onmm= 87.8
i i 30 | P MM = 2575 P Huv = 3370
o < P Brwn= 1447 P Br.uv=217.0
| Tpoen =V 50 [p.ca. = VI
Tows. = I - - Towt, = Tl
bII3-983 bII3-9808
] 9 Fem? =0.891 I Femt =1.269
= Qke. = 0241 | o Q ke = 0.344
D onmm= 260 | i D on.mu= 49.0
P = 872 P = 1503
24 || P B 49.2 - i _| [P Bhan= 41
o Tpoen =V [p.cr = VI
Toun. = Tl Touw. = 1l
. bII3-984 bII3-989
Fov? =1.180 | Few? =093
Q ke. = 0.321 v % | Q ke = 0.253
WJ; E: <1 | D onmm= 26,0 % % / D onmm=38.0
L T | P = 1166 3 P How = 108.6
P Bnv= 584 |23 | ~I| P BH.mM= 21.5
[p.cn. = V p.en =V
Touw. = Tl Touw. = 1l
bII3-985 bII3-990
Fowt =1.169 [= Few = 0.864
o Q ke. = 0.317 v - Q ke, = 0,234
T D on.mu= 42.0 - %Zm D on.mu=33.0
P Hmm = 135.2 ‘ Rrzz ‘% P HmM = 97.6
B | [P b 412 D I L e
p.aa =V p.ca =V
Toun. = Tl Touw. = 1l
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bII3-996

(’\,
Fcem? =0.880
Q ke. = 0.238
D on.mm= 16.0
P uwm = 303
P Bn.mmM= 37.7
16 fp.ca. =
= 2 Touw. = H
Y |BII3-997
Fem? = 2513
Q ka. = 0.681
D on.mm= 42.0
P uwM = 1319
P BH.um= 119.4
- 24 - fp.cno = I
Tow. = H
bII3-993 , bI13-9986
! Fow =308 | | |- —/ [F eu = 1.103
< Q ke. = 0.896 Q ke. = 0.299
D on.mm= 43.0 D on.mm= 42.0
! Pumv = 119.7] 7 P Hm = 132.6
P Bu.mv= 100.8| < P Bumm= 215
- 4 = VT p.ocon= V
B U Toww. = H Towh, = Tl
blI3-994 bI13-999
| | F oM =6.240 Fem? = 0928
~ | | Q ke = 1.691 . | Q ke = 0.251
=3 | | D onwumu= 153.0 %ZZ <[ |D onmw= 29.0
| | P HMM = 7525 % 1 [P uwmm= 1057
P Bruv= 0.0 775 P BHmv= 21.5
- 147.3 [p.cr= V F [p.cr. =V
To. = H Towh, = I
| BII3-995 BI13-1000
Few? =3.574 c T | Fout =1.019
| [ Qe = 1.456 j%;ZE;; 0 Ke. = 0.276
“>1 1D onmu= 85.0 % 1 | D onwmv=36.0
P Hm = 3795 F 145 P uam = 119.7
1P Buv= 110.8] [— - P Bumm= 215
[p. ¢ =0cob. [p.cn =V
Tows. = Tl Toww. = Tl
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bll5-1001

F et = 3.200
= Q ke. = 0.867
D on.mmM= 92.8
N P = 340
P Br.mM= 1949
. o=V
Tows. = Tl
‘ BII3-1002 BI13-1007
Fem =3.260 | ) Fem? =8.130
o 0 ke = 0.883 éZ?%%%izii:Z 0 ke = 2203
- D onmm= 97.7 D on.um= 66.0
K\& P = 3553 1| P huM = 1684
' P Brw= 152.5| s 65.2 P Br.mm= 159.0
69.5 [p.ca =V - =1 | Tp. c5. =0cob.
= = Tows. = Tl Toww. = Tl
3 bII3-1003 bII3-1008
- - Fowt = 1.105 Fout = 5924
1 Q ke. = 0.299 Q ke. = 1.605
i HZ D onmm= 37.0 D on.mum= 66.0
| P umv = 106.8 P umm = 168.4
- P Bn.mv= 66.9 P Bu.mv= 188.0
— p.ocr =V - = | Tp. cn. =0Qcob.
Tows. = Tl Toww. = Tl
bII3-1004
Fovt = 1.840
N Q ke. = 0.499
o ? % D on.mM= 33.0
! P umm = 147.9
50 P Brmm= 1231
- p.cr =V
Toww. = 1l
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~ - | bII3-1011 | BIIS-1016
l B‘ 1 C Y | Fomt = 2870 F et = 4.490
N Q ke. = 0.778 ~| |Qke = 1.27
- D on.mm= 31.2 “1 1D onmmu= 81.2
= P Hmm = 190.8 P Hmm = 294.2
& P B1uw= 108.8 ! | P Buum= 188.4
fp.cr =V 73.8 [p.cr = VI
| & oo Toyw. = N [T - Touw. = Tl
% _IBIB-1012] < bII3-1017
F ot = 3.640 Femt =1.006
f 0 ke, = 0986 0 ke, = 0273
= D on.mv= 90.0 D on.mu= 18.0
| P wM = 260.0 P HM = 36.6
P Bu.umv= 104.0 P Bu.mum= 44.0
p.cn = IV - 218 N fp. o =
Toww. = Tl - o Touw. = H
bIIo-1013 bII3-1018
Fomt = 2332 Femt = 2730
Q k2. = 0.632 ,Tﬂ i Q k2. = 0.740
f 7 3| D onmu= 520 LI 1D onam= 776
P umm = 1384 17 P uwm = 302.8
P Bwv= 925 || T ~1 | P Brwv= 0.0
39.0 fp.cn. = VI fp.cr. =V
- - Town. = Tl Town. = Tl
9
} bII3-1019
Fewr =3.370
Q ke, = 0.913
D on.mu= 25.0
P HmM = 789
P Brmv= 44.0
9% p.oon= IV
~ g Touw. = H
BII3-1015| & bII3-1020
‘ Fomt = 4.710 Femt =0.353
—_ Q ke, = 1.276 Q ke, = 0.096
3 D on.mm= 87.3 D on.mu= 9.0
P uwM = 306.3 P umM = 28.3
! P Bx.mm= 200.5 P Bx.mM= 18.9
75.6 [p.cr = VI &9 fp.ca. =
~ — Towh, = Tl = = To. = H
[lmcr [-101




bII3-1021 bII3-1026
Fom? = 3371 Fom =1
Q ke. = 0.914 Q ke =1
D on.mv= 49 D on.mm= 1
P umv = 2571 P Hmm = 1
P BH.MM= 69.3 =
p.ar =V [p. c1. = ocobag
1| Tows. =ocobas Touw, = I
bII3-1022 bII3-1027
Fom? = 3.933 Fom? =1
Q k2. = 1.066 Qke =1
D on.mm= 103.9 D on.mm= 1
P umv = 2/0 P Hm = 1
P Bn.mM= 254.4 P B.mmM= 1
90 p.en= IV [p. c1. = ocobag
= Toww. = 1l Toun. = Tl
bII3-1023 bII3-1028
Fem =09 5 Fem? = 0.641
< Qe = 0.244 —] = | Qke = 0174
v | Donmm= 27 D onmm= 15
P Hum = 86.7 P Hmv = 142.1
0.2 P Bn.mv= 49.2 P BH.uM= 38.1
ootz 2111 ooz I
Towh. = 1l Tou, = Tl
blI3-1024 ? bII3-1029
Fom: =1 Femt =299
Q ke =1 = Z 0 ke. = 0.807
D on.mm= 1 D on.mM= 33
P uwmM = FJ P uwm = 2121
P BH.uy= 1 LI 12 P BHuM= 110.4
[p.cn. = I 36 fp.cn. = VI
Toww. = 1l - Towr. = 1l
bII3-1025 bII3-1030
F e =1.840 F et =295
Qe = 0499 | 57 Q k2. = 0.798
D onmv= 530 | ™ D on.mm= 54
P Hv = 1419 P Hmv = 180.4
P Bn.mmv= 123.1 42@ P Bummv= 122.7
[p.ca =V 194 fp.ca = Wl
Toww. = 1l - : —| [Toun. = Tl
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bI[3-1031 bII3-1036
Fomt = 0377 Fom? = 4.469
2 Q k. = 0.102 Q ke, = 1.21
D on.mm= 8 D on.mm= 40
P umv = 251 P Hmm = 62.8
: P BH.Mm= 12,6 4 P BH.Mm= 139
) fp.cr. = Wl fp.cr. = VI
B B Tow. = H L - Toww. = 1l
B bll3-1032 bll3-1037
‘ Fowr =15 | Fout = 1.789
< 0k = 0339 |, Q ke, = 0.485
D onmu= 35 [ D on.m= 28
r Pruv =90 | P uwm = 1044
30 P Bu.mv= 75.7 P Bu.mm= 25.8
- — Moo= IV - 2 poen =V
Toww. = 1l Toun. = Tl
bII3-1033] 1 bII3-1036
F et = 3.016 . F e = 2.684
b Qre = 0817 | 0 k. = 0727
D on.mm= 28 D on.mm= df
P HuM = 88 P Hmm = 217
P BH.uM= 62.8 r P BH.m= 138.7
o8 Moo= 198 Moo=V
Town. = H Toww. = 1l
bllo-1034| bII3-1039
Fou = %\\ Fout = 12551
Qe =1 = 0 k2. = 3.402
D on.mm= 1 - D on.mm= 130
P Hm = 1 | P Hwm = 389.2
P BH.uM= 1 P BH.MuM= 329.9
fp.ca. = I 109 fp.en =V
Toww. = 1l B - Town. = 1l
blI3-1030) ] bll3-1040
Fomt =1 ' Fowt =717
Qke =1 E Q ke. = 2.08
D on.uv= 1 2 D on.mm= 76
P o = | v [P 30
P BH.mm= 1 65 P B1.mv= 160.6
[p.ca =V - — |Tp.cn =V
Toww. = 1l Toun. = Tl
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_ bll5-1041 bII3-1046
Zﬂ E Fem? = 8.060 S Fou? =49
| |Qwke=2184 | © Q ke, = 1.341
« D on.mmM= 83.2 D on.mm= 1149
y s P uwv = 383.2 P umM = 298
) I H.MM= : H.MM= :
- / P Bia= 1706 P Bz 2811
65 ;P' ¢l = ¥ B 100 - gp. el = |\1l
— - OUH, = OUH, =
BI3-1042] "% 1| BII3-1047
z > Fowr =3610 | 7 Four = 2814
btk =09 /- Y Y
1 1D onmm= 395 | = D on.mv=86.0
v | 1P owm = U3 T P HuM = 348.3
55 P Bu.mv= 93.8 ‘ P Bu.mv= 97.2
— - [p.ca =V [p.cn =V
Touw. = 1l Touw. = 1l
5 bII5-1043 bII3-1048
- B Fouwt =620 | 7 Fowt = 1.940
/ A1 | Qke = 1699 | 0 ke, = 0.526
- D onmM= 73.6 | = D on.mm= 31.2
/7N T | | - > o 4
| MN= - LUJ, MM=00.
—|Tpoan =V 3.2 [p.cn. = I
Toww. = 1l = 1 Touw. = 1l
L bII3-1049
i Fem? = 18.000
7{/ Q ke. = 4.878
D on.mm= 83.8
= P HMm = 679.8
P BH.mm= 1037
I fp.ca.= Wl
— Towh, = I
_ &% v |bII3-1045| | E bII3-1050
Fem? = 3.020 Fem? =1.920
“ {-@ k=088 |_| @ %zzzz 0 . = 050
0 D on.mv= 48.0 |~ D on.mm= 42.6
2 P Hmm = 171.9 Do ] P uwm = 179.3
P Bu.mv= 128.5 E P Bu.mm= 47.8
p.cr =V ‘ fp.ca = Wl
! Tows. = Tl - 3.9 — |Tow. = 1l
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bII3-1051 bII3-1056
Fom? = 4.83 _ Fcm? =0.282
= Q k2. = 1.309 <! : Q k2. = 0.076
D onmm= 77 al D onmm= 7.2
P uwmv = 2313 P Hmm = 22,6
P Brwm= 177 1 P Br.mm= 12,6
/&) o=V - o= IV
Towh. = 1l Towh, = Tl
BII3-1052 BII3-1057
Fomt =1 W22, 722, Fom? = 21.14
=1 o {‘@ 0 = 578
ON.MM= > 7 /7 ON.MM=
b= || L& (= me
P BH.mm= 1 118 P Bx.um= 296.3
p.en= IV ~ =| |lp. ¢ =ocobas
Toww. = 1l Toun. = Tl
bII3-1053 bII3-1058
Fem? =1 1 T2 22225 Fem? = 5.81
sl 4/‘;/’/{/ "'} 0 = 157
bz || 1 Lo P = 1409
P BH.Mm= 1 578 P BH.MM= 154.6
fp. e = I - : —| | Tp. 1. = ocobas
To. = H Tou, = Tl
BH3—1054M\ = bII3-1059
Fomt =1 W/ ‘ 22| Fout =0.966
Qe =1 2 Q ke. = 0.262
D on.mm= 1 — 7 ) D on.mv= 30
P HuM = 1 ! | P HuM = T34
P BH.uu= 1 25.8 P B1.Mv= 64.6
[p.cn. = I = =l (Ip.cn= IV
Toww. = 1l Towr. = 1l
bII3-1055 _ | blI3-1060
Fow =1 Ty | Fow =135
Qke =1 ‘ Q k2. = 0.366
D on.mM= 1 @ EE;? D on.um= 36
P Hy = 1 b [P HwM= 1242
P BHmv= 1 - h P Bumn= 744
p.en =V - - fp.en =V
Toww. = 1l Toun. = Tl
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bll5-1061

Fem? =23.090
Q k2. = 6.297
D on.mv= 64.0
P uamv = 201.1
P BH.mv= 106.8
fp.ca. =
To. = H

&5 81

bll5-1066

Fom? = 7.637
Q k2. = 2.070
D on.mm= 87.0
P umm = 2/3.3
P BH.MM= 257.6
p.an= IV
Town. = H

85

9

bll3-1062

Fem? = 15.620
Q ke = 4233
D on.mm= 118.0
P Hmyv = 4941
P Bu.mu= 430.9
[p.ca =V
Toww. = 1l

bll5-1063

F et = 3.016
Q k2. = 0.817
D on.mv= 28.0
P umv = 87.9
P BH.MM= 62.8
p.c= IV
Towh. = 1l

140

bll3-1064

Femt = 11.110
Q k2. = 3.011
D on.mv= 148.0
P wmM = 607.2
P BH.mv= 472.6
[p. c1. =0cob.
Toww. = 1l

9%

bll3-1069

Fem? =5.430
Q ke = 1472
D on.mv= 104.5
P Hv = 282.0
P BH.mv= 261.2
[p.ca =V
Toww. = 1l

JlHer
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bll5-1076

Fem? = 1.490
Q ka. = 0.404
D on.mM= 26.6
P wwm = 108.7
P BH.mM= 38.0
- [p.cn = v
Toww. = Tl
Y bII3-1072 bII3-1077
F et =0.726 Fem? =1.330
2 b | Qke = 0197 | |0k = 0.560
| | Donmu= 220 < || D onmm= 2/.0
7 S| | P = 74T )1427 P o = 78.4
P Bu.mv= 39.5 P Bu.mm= 25.1
Lifpen= v F 953 p.er=
LT = | N o —— Toww. = Tl
_ % |BI3-1073 . BIl3-1078
WZ FcM? = 4.556 Feur =8.729
1 Qke = 1235 | o Q k2. = 2.366
< D onmmM= 420 | D on.mm= 84.0
P Hmv = 158.2 P Hmm = 246.9
, P Bu.mv= 40.0 P Bu.mm= 215.7
' 2 [p. o = Vi 79 fp.ca= Wl
Touw. = 1l - Touw. = 1l
. bII3-1074
Fem? = 7.697
Q ke. = 2.075
D on.mmv= 100.0
P umv = 3142
P BH.mv= 298.5
A p.or= v
Toww. = 1l
BII3-1075
A | F ot = 2110
- 0 ke. = 0572
~ < | D on.mm= 29.1
~€ P = 1144
! P Buuw= 25.1
- 28 o Tpoen= v
Tows. = Tl
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blI3-1081 bII3-1086
Fou? =1 Feu? = 1.6
Qe =1 o= 0 ke. = 0434
D on.mm= 1 D onwm= 4435
P Hwv = 1 P Hwm = 1601
P BH.um=1 = P BH.mm= 0
p.ar =V 2 [p.cr. = VI
Toww. = 1l Toww. = 1l
bll5-1082 bIl5-1087
Fow =1 Fow =1
Qke =1 Qke =1
D on.mum= 1 D on.um= 1
P Hm = 1 P oM =
P BH.um=1 P BHmm= 1
p.en= IV p.c = IV
Toww. = 1l Toww. = 1l
blI3-1083 bII3-1068
Fou =1 I | Fow =1.769
Qe =1 o | Qke = 0.479
D on.mm= 1 S| |Donmv= 30
P Haw = 1 I P Hm = 943
P BH.uv= 1 P Bn.um= B81.7
[p.cn = I 030 fp.cr. = IV
Town. = H B Tows, = 1l
bllo-1084 bII3-1089
Fout =1 Fou =1
Q ke =1 Q ke =1
D on.mm= 1 D on.mm= 1
P Huu = P Hum =
P BH.um=1 P BHmm= 1
[p.cn. = I fp.cn.= IV
Tows, = Tl Tows. = I
bll5-1085 bll5-1090
Fow =1 Fewt =582
Qke =1 2| |k = 1977
D on.uv= 1 D on.mm=87
P Hm = 1 P Hwm = 3044
P Bruv= 1 P Brmv=299.1
fp.cn = V 80 [p. ca. =ocobas
Toww. = 1l Toww. = 1l
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7z bII5-1091| 7 bII3-1096
Fem? =5.958 Fem? =0.563
—_ Qke. = 1613 | Q ke. = 0.153
V2 D onww= 800 | D onwk= 20,0
P uwv = 203.2 P uwM = 310
, P Bhmv= 720 | 'y P Br.mM= 41.4
2 p.a= NV 15 p.an= IV
- - Toyn. = 1| - o Town. = H
ez 1 |BII3-1092| T bII3-1097
Fom? =7.358 - F cm? = 46,000
=~ Qke. = 199 (= 0 k2. = 12.466
J4 D on.uv= 86.0 D on.wm= 1116
P umM = 2452 ' P umM = 368.7
. v | P BHwm= 72,0 P Brum= 193.5
10 p.on= IV 0 fp.on= V
— - Tows. = Tl - o Toww. = Tl
bII3-1093 bII3-1098
/ b [For = 400 — [Fon = 2983
Q ke. = 1.209 = Q ke. = 0.811
S D onmm= 30.0 1 | D onmm= 520
P umv = 100.8 P Hmm = 188.6
' P = 40.8 | |_ il _ P BH.um= 31.4
21 Moo= N |! poer= VI
- Tows. = Tl Toww. = Tl
1 Y| BII3-1094 < | blI3-1099
Fem? = 2,152 | [ Fomt =10.210
2 o Q ke. = 0.583 0 ke. = 2.767
D on.mmM= 32.0 b | D onmmv= 168.0
P umm = 188.2 167 P um = 428.7
} [P bz 475 P B 3720
T o e |
+ 1 bIIS-1095 = | bII3-1100
Fem? =21.250 Y | Fom? =6.507
s Q ka. = 5,759 Q k2. = 1.763
T D onmv=120.0 z Y D on.mm= 102.0
E g.MM - 399.3 (0 Y P Huu - 291.7
' Hav= 260.7 P Brum= 345
50 p.en= IV [p.cn = VI
— - Tows. = Tl Toww. = Tl
et 109




BI3-1101 BII3-1106
1 Fem? =0.863 Fem? =0.825
—~ Q ke. = 0.234 1.9 Q ke. = 0.224
g D onmm= 22 D onwm= 19
! P wmM = 68.2 P uwM = 39.7
P BH.mM= 59.7 219.0 P Bn.mv= 50.3
210 p.cr= IV fp.cn.= IV
Touw. = 1l Touw. = 1l
bII3-1102| % _ | BII3-1107
F oM =1.347 i FcMm? = 3.266
Q ke. = 0.365 | T 0 ke = 1427
D onww= 16 | 5y I D on.um= 96
Pumi= 36 | P uwM = 4452
P Brmmv= 208 | v e P Br.mm= 155.2
[p.ca =V [p.cn =V
Tows. = Tl Toww. = Tl
P BI3-1103 s | BlI3-1108
Femt =378 Fem? = 3.684
Q ke. = 1.02 = | [0k = 0998
= D on.mM= 62 Q D on.mmM= 37
n «© P umv = 3157 P umm = 116.2
] P Buww= 1015 %ﬂ/ 1P Bh= 942
poon =V 37 fp. cn. = I
o L iTow = N | = 2 - Toww, =
—
i BI3-1104)  —% 4 |BI3-1109
Femt =0.77 1 = Fem? = 11.87
i 4 Q ke. = 1.957 ( , Q ke. = 327
i D on.mm= 97 ? D on.mm= 100
Pumv = 335.3| = v P umm = 399.3
" ; P BH.mu= 234.4 , P BH.mM= 309.6
p.cr =V p.cr. =V
- 48 — Tow. = 1l ‘ Towh, = I
bII3-1109 bII3-1110
3 ‘ ?
— - Fem? = 1.69 Fom? = 3.45
Qke. = 0.45 = Q k2. = 0.936
| ”W Donwu= 33 | 7 D onwu= 91
J ! P HmM = 126 P uwM = 3196
P Bz 424 | 5 P Bz 69.6
[p.ca =V 2.2 [p.cn =V
Tow. = 1l = - Towr. = 1l
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5.2 bll5-1111 bII3-1116
, ot = 2,598 W T Fow = 2356
Q ke. = 0.704 = Q k2. = 0.638
> % D on.mm= 43 = D on.um= 28
= P umm = 196 ‘ P uwM = 88
,ﬁ P BH.mu= 79.2 P BH.M= 69.1
p.ar =V . fp.ca. =
Tows. = Tl Toww. = Tl
*ﬂ BI3-1112 BI3-1117
P F oM = 3,454 I [ Fom =204
= Q k2. = 0.936 | | QK = 0552
D on.mm= 91 || D onmm= 30
i P umM = 319.6 ! P umM = 943
, P BH.mm= 69.6 P Br.um= 795
S p.oen= Mp.cn. =
— —- 1.2 Toww. = 1l ~ 030 - Town. = Tl
b1 BII3-1113 ‘ ! bII3-1118
Fem? = 3.259 A Fom? =412
> | [Qke = 0883 | ~ 0 ke = 1.116
o D onmM= 62 |7 =1 D onMmv= 53
P uMv = 2514 P umm = 146
P Bu.mv= 102 ‘ P Bu.mm= 122
Loimpoen=V 18 I
54.2 - Tows. = Tl = = ToyH. = ocobas
J— J—
— bII3-1114 bII3-1119
% Fem? = 2.5962 Fom? = 1444
_ /) Q ke. = 0.694 Q ke. = 0.391
~ 4 D on.mmM= 41 D on.mM= 23
P umv = 1815 P Hv = 81.6
T B P BH.um= 79.2 P BH.um= 69.1
26.2 p.cr =V p.ca.= IV
Toww. = 1l Towh, = I
bII3-1119 bII3-1120
1 Fov? =262 Fowr =782
2 Ok = 071 | 2 Qke. = 212
ez o D on.mM= 97 D on.mmM= 97
P wwm = 196.7 P HmM = 267.4
o { | PBHwn= 692 ¥ P BH.MM=
21.2 p.ca =V 40 fp.ca =V
- Toww. = 1l = = Toww. = 1l
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r | bII3-1121| 725 bII3-1126
Fem? = 4,799 Fom? = 24.540
2 Q ke. = 1.301 Q k2. = 6.650
=~ D on.mmM= 32.0 D on.wmM= 73.0
P wwM = 264.9 P uwM = 233.6
Y P BH.mv= 0.0 P BH.mv= 137.1
3 po= ¥ - o poon=
- Tows. = Tl Toww. = Tl
s BII3-1122 BII3-1127
Fem? =13.274 Fem? = 32,990
0 ke. = 3.597 Q ke. = 8.940
D on.mv= 78.0 D on.mm= 85.0
P umv = 2430 P uwM = 267.0
P Bu.mm= 227.3 P Bu.wum= 172.8
078 p.en= IV fp. o =
- Toww. = 1l Toww. = 1l
2| [ blI3-1123
Fewt =5.797
Q ke = 1571
D on.uv=101.0
P v = 277.0
0 F TP b= 1656
[p. c1. =0cod.
Tows. = Tl
n__ bII3-1124 bII3-1129
F e =82.000 Fom? = 4,074
Qke. = 22022 - Q ke = 1.104
S (Donam= 435 | W T = D onmm= 105.0
P umv = 121.3 05 P uv = 3208
P BHmv= 334 | |< : —| 1 | P Bum= 219.0
18 fp.ca. = p.cr. =V
= = To. = H Towh, = I
& bII3-1125 bII3-1130
Femt =17.300 Fom? = 3.642
Q ke. = 4.688 - 0 ke. = 0.987
D on.mv= 65.0 N D on.mv=100.0
P wwv = 2042 P uaM = 3191
P Brw= 141.4| | 4 =l | P Brww= 1631
065 [p.cr = p.cr =V
Tows. = Tl Toww. = Tl
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_® BIB-13Y) - BII3-1136
e [T b = 133 277 [T = 1040
Q ke, = 1177 = Q ke. = 2.827
= D onwmM= 42,0 | = D on.mM= 61.5
1P oyMv = 416.2 P uwM = 193.2
I P BH.mu= 43.2 ‘ P BH.mM= 123.6
[p. c1. =0cob. 46.2 fp.ca. =
Tows. = Tl - Toww. = Tl
bII3-1132| 7 bII3-1137
FcM? = 3.675 Fom? = 15,440
0k = 039% | Q ke. = 4.184
D on.mv=102.0 D on.mm= 104.5
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= Y Q ke. = 0.716 Q ke. = 0.185
D on.mm= 46 D on.mm= 16
P Hmv = 166.3 P oMy = 50.3
! % g P BH.mv= 93.9 P Bx.mu= 40.8
2 fp.cr= VI 016 [p.ca. = |l
= = Toud, = ocobas = Toww. = Tl
T bII3-1269 bII3-1270
Fem? =498 ] Fom? = 10.447
oo Qke. = 1.35 = Q ke. = 2.831
D on.mM= 36 ~ D on.mm= 148
P wM = 183.6 P HwM = 367.7
' P Bu.mm= 200.2 P Bn.mm= 458.2
[p. c1. = ocobos [p.ca. = VI
48 — Toww. = Tl Tows. = I
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bll3-1276

Fem? =
Q k. =
D on.mM=
P HMM =
P BH.muM=
[p. ca. =
Toww. =
bII3-1272 bII3-1277
Fou? = FeMm? =
Q ke = Q ke =
D on.mm= D on.mu=
P HMM = P HMM =
P BH.MM= P BH.MM=
[p. ¢ = [p. cn. =
Toun, = Toun, =
bII3-1273 bII3-1278
Fem? = Fen? = 5.32
Q ke = Q k. = 1,436
D on.mM= D on.mm= 83
P HMM = P HmM = 236.2
P BH.muM= P Bu.mM= 204.4
[p. cn. = fp.ocr= N
Town. = Tows. = I
bIIo-1274 bII3-1279
Fom? = 2.643 Fem? =
Q ke. = 0.716 Q ke =
D on.mm= 46 D on.mM=
P Hmv = 166.3 P HMM =
P Br.m= 93.9 P BH.muM=
fp.cr= VI [p. ca. =
Toud, = ocobas TowH. =
Bll3-1275 BII3- 1260
Fomt = 2222 Fem? =
~ Q k2. = 0.602 Q ke, =
D on.mm= 19 D on.mM=
P HmM = 389 P HMM =
P Bu.mm= 22 P BH.muM=
17 [p. cn = |l [p. ca. =
Tow. = H Toww. =
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BII3-1281 bII3-1286
Fem? =5.529 t Fem? =511
- Qe = 1498 | _ 0 ke. = 1.385
Donmu= 90 | = D on.mmM= 95
P umv = 2827 , H P umm = 328.9
P Bu.mv= 270.2 P Bu.mm= 181.6
090 p.oon= IV 15 [p.con.=
- Tows. = H Town. = 1l
bII5-1262 bII3-12687
F oMt = F ot =34
Qxe. = = Q ke = 0.92
D on.MM= '\ > D on.mm= 83
P HMM = " G P umv = 125.1
P BH.uM= K P BH.uM= 83
[p. ca. = 15 fp.ca = W
TowH. = — - Towh, = Tl
TWJ bII3-1263 blI3-12068
Few? =5.073 Fou =
= le Q ke. = 1.375 Q ke. =
D on.uv= 70 D on.mM=
P Huv = 238.2 P MM =
! J> P Br.um=169.7 P Bh.Mm=
18 p.ocr =V [p. ca. =
—- Tows. = Tl Touw. =
bII3-1204 bII3-1269
Fom? = ! Fem? =1.136
Qe = aE: 0 k. = 0.308
D on.MM= - D on.mm= 45
P Hwm = ! P umm = 105.8
P BH.Mu= P BH.m= 63.1
[p. ca. = 40.6 | |Tp.en.=
TowH. = Towh, = Tl
bII3-1285 bII3-1290
Fem? =13.057 F oMt = 2.546
Q ke. = 3.538 < | Q ke = 0.69
D on.mm= 152 A N 11D onwv= 64
P umM = 1243 P HwM = 162.2
P Bn.mM= 53.4 68 P Bu.mm= 136.5
[p. 1. = Qcob.| |- —{ [ Ip. ca. = Ocob.
Touw. = H Toww. = Tl
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7 blI3-1291 bII3-1296
Fem? =253 Four = 3474
2 Q k. = 0.687 Q ke. = 9415
D on.mm=" 66 D on.wm= 100
P Hwv = 1629 P Hwv = 3142
, P Bn.um=107.5 P BH.v= 232.5
77 p.c = IV [p.ca =
- Touw. = 1l Town. = H
1 bll3-1292 bll3-1297
Fou? = 8.28 Fou =
E 0 ke, = 2.244 Q k. =
= \ D on.mu= 159 D on.mm=
! P Hum = 649.4 P Hm =
, P Bn.um= 154.4 P BH.Mm=
138 [p.ca = VI [p. cn. =
- Tows. = Tl Toun, =
bIl3-1293 bll3-1298
Fow = Fem? = 5.761
Q ke = Q ke = 1.561
D on.mm= D on.MM= 63
P v = P v = 316
P Bh.um= P Br.uv= 111.9
fp. . = fp.en =V
Town. = Tows. = 1l
bllo-1294 bll5-1299
Fowt = Fom? =639
Q ke = Q ke. = 1.723
D on.um= D on.mm= 87
P Hu = P HMM = 336.5
P Bh.um= P Brum= 2515
[p. ca. = fp.cr.= W
Town, = Tows. = I
blIl5-1295 bll5-1300
Fom? =18.26 Fomr =833
Q ke = 4,948 Q ke. = 2.312
D on.mv= 85 D onmm= 95
P Hum = 267 P Hwm = 379.8
P Bruv= 219.9 P Bruv= 354.7
fp.ca = I [p. ca. = Ocob.
- 0% Toww. = H Toww. = 1l
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BII3- 1301 BII3-1306
, Fem? = 2139 Femt =0.272
N =m0 | | 7 0 te. = 0074
= D onmv= 70.0 |~ D on.mm= 9.4
), P = 1505| / Pt = 257
50 P BHmv= 139.9 P BH.v= 17.8
- fp.cr. =Vl 9.4 p.cr =V
Tows. = Tl - - Towt, = I
bII3-1302 bII3-1307
] Fom? = 1.894 Fcm? = 10,400
~ Q=053 | 0 ke = 2818
! D on.mv=70.0 D on.mv= 166.0
! (2 77777 P o = 144.4 P Hm = 429.0
50 P Bumv= 1142 P Bu.mm= 403.0
— [p.ca. = VI 13 [p.cn = IV
Tows. = Tl - Toww. = Tl
bII3-1303
Femt = 7.231
Q ke. = 1.960
D on.mm= 82.0
P HMM = 257.6
P Bu.mv= 311.2
[p.cr = VI
—- 082 - Tows. = Tl
B BII3-1309
ﬁ Fem? = 1.44
Q ke. = 0.391
D on.mmv= 47.0
/) P v = 116.7
o | P BH.MM= 66.6
p.ca.= IV
Towh, = I
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BI3-1311 BIl3-1316
Fom? = 4.769 Fom? = 7.584
=) ke =10 | g Q ke, = 2055
1 | D onmm= 36 D on.mm= 120
P v = 230.1 === P M = 0684.4
49 P BH.MM= 62.1 P BH.m= 323.7
- : [p.cn. = VI 7 [p. cn. = Qcod.
Toww, = - — Toun. = Ocob.
bll3-1312 bll3-1317
“ o = 343 o =
N Qe = 093 0 ke =
= | D onmm= 72 D on.mmM=
1 | P HMM = 2339 P HMM =
P BH.uM= 197.7 P BH.MM=
- [p. c1. = Ocob. [p. cn. =
Tows, = Tl Touwn. =
bll3-1313 bll3-1316
Fow = Fom? = 3.86
Q ke, = = Q k2. = 1.043
D on.uM= D on.um= 89.2
P HuM = = 22| P wmm = 329
P BH.MM= 8 P BH.um= 126.4
[p. ca. = - p.cn= IV
Toun. = Touw. = 1l
bll3-1314 bll3-1319
Fowt = Fou? =
Qe = Q ke =
D on.um= D on.um=
P Hu = P HMM =
P Bh.um= P Bh.Mm=
[p. ca. = [p. c1. =
Toun. = Touwn. =
_ bllo-1315 bll3-1320
2 F ot =378 Fout =
Q ke. = 1.024 Q ke. =
\\ﬁw D on.mm="108 D on.mm=
P Haw = 2339 P HM =
108 P BH.uv= 2443 P BH.MM=
- —{ |Ip. 1. = Ocob. [p. cn. =
Touw. = 1l Toun. =
Jlact 131




_ 8% bll5-1321 | bII3-1326
J”E b [Fowt = 10570 Fout = 1,665
Q ke. = 2.864 = Q ke. = 0.451
= R D o= 145.0 D on.MM= 520
2 P umM = 5541 P uwm = 128.0
P BH.mv= 362.8 ‘ P BH.mm= 94,0
p.ar =V m p.cr =V
o | Vo |Toww. = 1 - Toww, = 1l
42.1
S bII3-1323| |~ - |bII3-1328
/ I | F ot =2165 \ Few? =2.970
' Q ke. = 0.587 1 Q k. = 0.805
7z —/ < D on.mm= 46.0 - D on.mm= 340
= ot
‘ voTpoan =V | p.cr =V
\ Tows. = Tl Toww. = Tl
’ \ bIIo-1324| |- il | | bII3-1329
L . ]
o |vessi| [ e i
— D on.mmM= 137.0 - g | D on.mm= 38.0
P Hww = 397.0| = s A P ohw = 1704
, P BHwu= 0.0 2 P M= 69.2
55 [p. ca. = VI % [p.ea =V
- To. = H alz z Towh, = I
N bII3-1329
S| | Fow = 3.981
) 2.9 . Q ke. = 1.079
"_{ D on.m= 78.0
R P Hmm = 261.0
P Bu.mv= 139.2
- I - p.cr =V
Tows. = Tl
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bll5-1336

| Fow? = 14.800
= | | Qe = 4011
"= | D onmv= 160.0
I P umm = 550.5
P BH.mv= 388.8
[p. c1. =0cob.
Towh, = Tl
BII3-1332 bII3-1337
\ _
Fem? = 6,787 oy |Foent =200
Q= 188 | = L 0 te. = 0688
= D on.mv= 54.0 | D onwu="92.0
= P Hw = 229.9 | | P HMM = 1835
P Buun= 147.8] |= L — | P Bhmm= 1741
r fp.ca = Wl p.on= IV
Toww. = Tl Tow, = 1l
- B |BI3-1333 “1 i |BlI3-1338
I 2N
%72”22% Fow = 2083 | Fout = 9.896
( \ Q k. = 0.564 0 ke. = 2.682
- D on.mv=30.0 oo D on.mm= 52.0
~ ' 7B P umv = 1008= P umv = 1634
| [ [P Buwn= 540 P S 1194
poan= V[ [p.cn. = I
! Towh. = 1l Tou, = Tl
10 n n
- blI3-1334 021 _ | bII3-1339
\ %¢¢Q Fowt = 5502 7 Fowt = 3,181
/ Oke. = 1491 | |} % Q kz. = 0.862
D onwm=99.0 | _ D on.mm= 2/.0
= P o = 4799 S P hum = 84.8
Yk P Bz 0.0 P Bz 56.6
7 Moo= VI | 1 Mp.ca. = I
| Tow. = 1l Toww. = 1l
3 bl[3-1339
; F et = 2,160
"z 0 k. = 0565
~ _‘ D on.mv= 40.0
X : P Hv = 176.8
‘ P Bu.mv= 0.0
! , p.ca =V
Toww. = 1l
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A

Y

bll5-1343

:

£ T

F em? = 15.538
Q k2. = 4.211
D on.mv= 154.0
P uuv = 5324
P BH.mv= 452.0
[p.cr = VI
Towh. = 1l

bll5-1344

F e =3.732
Q k2. = 1.553
D on.mmM= 32.0
P umv = 2271
P BH.mv= 136.4
p.ca. =V
Toux. = Ocod.

5

bll3-1345

F et =7.830
Q ke = 2122
D on.mv= 60.0
P Hv = 2313
P Bn.mv= 69.1
[p.ca = VI
Toww. = 1l

blI3-13a0

181.1

9.8

Fem? =10.310
Q k2. = 2.794
D on.mv= 182.0
P Ham = 377.6
P Bn.mv= 424.8
[p. cn. =0cob.
Toun. = Tl

JlHer
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bll3-1351

bII3-1353
F et =1.490
Q ke = 0.404
S D onmn= 25.0
P umv = 107.5
P Bu.mv= 86.1
&z [p.on = VI
Tows. = Tl
o bII3-1354
Fowt = 1145
pe ~| |0 = 0310
~ D on.mmv= 28.0
5/[2' Dﬁ | P v = 914
% s P BH.mu= 76.2
-5 T fp.cr.= VI
19
— - Toww. = 1l
bII3-1390| |- b bII0-1360
i Fem? = 12,554
Q ke. = 3.402
= D on.mm= 70.0
P uwM = 186.8
i P Bhau= 5.7
[p.cn =V
Toww. = Tl
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o bll5-1361 bII3-1366
F et = 0.440 Fem? = 0.407
0 ke = 019 12 ke = 0110
D on.mm= 9.0 D on.wm= 12.0
P umv = 28.3 P uwm = 37.7
P BH.mu= 13.7 P BH.mm= 30.2
09 fp.ca. = I _ fp.en =V
— - Touw. = H Touw. = H
bII3-1362 bII3-1367
Y | Fow = 7.216 Fowr =1.767
| | Qe = 1956 Q k. = 0479
=2 D on.mv= 153.0 D on.mm= 25.0
L[ P Hw = 4927 P HaM = 78.5
141 P Bu.um= 229.8 P BH.um= 62.8
— - [p.ca. = VI [p.cn = IV
Tows. = Tl - - Toww. = Tl
‘ bII5-1363 bII3-1368
F et =23.750 F cM? = 6.665
3 Q k2. = 6.436 2 Q k2. = 1.806
= D onmm= 1320 = D on.mm= 105.0
P umv = 4147 P umm = 3777
, P Bumv= 377.0 P Bu.mv= 120.6
p.ocr =V p.cr =V
o Tows. = Tl - 4.9 - Toww. = Tl
bll3-1564| bII3-1369
W’ F oMt = 13,934 Fem? =11.230
Qke. = 3776 | _ Q ke. = 3.043
= D onwv= 890 [= D on.mm= 150.0
, P Hmv = 491.3 P Hum = 468.2
80 P BH.mv= 140.1 P BH.mm= 4331
[p. c1. =0cob. | y fp.ca.= Wl
Toww. = 1l Towh, = I
7 bII3-1369 bII3-1370
Fem? = 5.870 Y Femt =3.214
3 0 ke. = 1.591 0 ke. = 0.871
D on.mv= 34.0 4 D on.mv= 84.0
Prumv= 966 4 P uM = 2031
! 2 1P than= 210 2| | B1.5 || P Bran= 1887
7 o= V|7 Mp.cno=
- - Tows. = Tl Toww. = Tl
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bII3-1371] Z5 blI3-1376
F et =0.909 Fem? = 3.302
7 0 o 8 ke. = 0.%6 = 8 ke, = 0.2852
= ON.MM= on.mM= 0.
P umv = 99.4 3, y I P umm = 140.6
P BHum= 36.4 / P Bruv= 120.6
. b Moct = VI 4 Mpocr =
Toww. = 1l Toww. = 1l
bII5-1372 i} bIIS-1377
o | Font = 0777 BA(V n’ F ot = 5.1
o Qke. = 0211 o Q ke. = 1.39
— D on.Mm= 25 = D on.MM= 59.6
P umM = 78.7 ) P wwm = 207.3
P Bu.mv= 48.9 crxzzg) | P oBuam= 169.2
- 24 | (Tp.cn =V 51 [p. cn. =Vl
Toww. = 1l Towh, = Tl
~|bll5-1373 1 blI3-1378
/ d b [For =11 _ Fout = 1.06
= Qe =033 | — ‘ Q ke. = 0.287
i D on.mu= 33 - D on.mm= 29
D/ B P Hww = 1017 P Hm = 96.4
P Bu.mv= 87.9 ' J P Bu.mu= 67
Dby [p. cn = IV K fp.ca= W
Toww. = 1l - Towh. = Tl
bllo-1374| —— 2 bII3-1379
Fowt = Fou = 1.078
Qe = . 0 xe. = 0292
D on.ww= - A D on.wu= 33
P Hu = P Hum = 1301
P BH.um= ! P Bh.um=39.4
[p. ca. = 23 fp.ca =V
TowH. = - — | Tows. = 1l
blI3-1375| 2 bII3-1380
Fom? = ! Fem? = 1.509
ke = 0 k. = 0.409
D on.MM= | D on.mum= 40
P HMM = A P wm = 120.7
P BH.Mu= 10 P Bu.mm= 87.8
[p. ¢ = fp.cn. =Vl
Town. = Toww. = Tl
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19.4

bII3-1390

Fem? = 2.810
Q k2. = 0.762
D on.mv= 42.0
P Ham = 116,
P Bummv= 111.7
[p. cn. =0cob.
Toun. = Tl

JlHer
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bll3-1391 bll3-1396
Fom? = Fou? = 8.765
Qe = Q ke. = 2.375
D on.mm= D on.mm= 96
P Hy = P Hm = 301.6
P BH.Mm= P Bx.mm= 282.7
[p. cn. = 096 [p.cn. =V
Toyn. = - Tows. = 1l
bll3-1392 bll3-1397
Fom? = Fom? = 1,641
Q ke = ~ Q k. = 0.445
D on.mm= D on.mm= 40
P HMM = P P umm = 193.7
P BH.MM= 2 P BH.uM= 0
[p. ¢ = - [p.cn =V
Toun. = Town. =TI
bll3-1393 bl3-1398
1 ZZ Feut = 47 777 Few? = 1.004
< /. Qe = 1074 | o 0 ke. 0272
[ D onwv= 358 | = D on.um= 33.1
< P u = 147.1 Gzt P v = 1118
P Br.mum= 139.2 P Br.mm= 47.1
= =1 | Tp. ca. =ocobas 309 |Tpoen= N
Town. =Tl " Town, = 11
bllo-1394 bll3-1399
Fom? = Fou? = 3.972
Q ke = Q k. = 1.62
D on.mm= D on.mm= 83.9
P HMM = P HMM = 348
P BH.Mm= 708 P B.mm= 163
[p. . = - ' — [p. c1. =ocobag
Towd, = Tow, =1l
blI3-1395 bII3-1400
Fout = 2,068 | "",,///""‘ Fout = 8.878
N 0 ke = 0615 | 2 /0/.‘ 0 k. = 2.406
= D on.mM= 58 ,/// "'z,,,/ D on.mmu=80.5
P oy = 193.4 P o = 213.2
P Br.um= 109.3 80.5 P Bn.um= 211.4
fp.cn. = IV =1 | Ip. c1. =0cobag
- Touw. =1l Toun. =TI
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bII3-1401 bII3-14006
% ot = 160 Font = 24875
e Qe = 0434 | 3 Q ke, = 6.741
D onmm= 400 | = D on.mm= 156
7 P HaM = 1773 P umM = 14748
% PBRHuMM= 78.9 P BH.MM=362.9
- [p. ¢a, =0cof. [p. ca. =0cof.
Towd. = 1l Toww. =Tl
bII5-1402 bII3-1407
/// %/ F e = 0.872 F ot = 2.474
% Q ke. = 0.236 Q ke. = 0.67
D on.mv= 20 D on.mm= 22
P w.mm =62.8 P HmM = 69.1
017 P BH.MM= 3.4 P BH.mm=40.8
= fp.ca =V [p.cn =V
— o Tows. =H Town. =TI
bII3-1403 bII3-1408
Femt = Fom? = 4147
ke = 0 ke. =1.124
D on.MM= D on.muM= 28
P HMM = P Hmm = 88
P BH.Mu= —- - P Bu.mm= 30.3
[p. ca. = fp.cn = |l
Town. = Tows. =1l
BII3- 1404 BII3- 1409
Fom? = / Fem? = 5.937
Q ke = 7 Q ke. = 1.609
D on.MM= —wt le "D onmM= 34
P HmM = 034 P wmM = 106.8
P BH.MM= - - P BH.uM= 62.8
[p. ¢ = [p. ca. =ll
TowH. = Towd, = Tl
bII3-1409 blI3-1410
Fow = Fen? = 5.462
Q ke = Q ke = 1.48
D on.mm= ‘ D on.mu= 35
P Hm = - P Hm = 110
P BH.um= 03 P BH.um= 72.3
[p. ¢ = B [p. cn. =l
Town. = Tows. =1l
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BII3-1411 BII3- 1416
Fem? =7.296 ‘ F oM = 18.445
Qe =197 |5 Q k. = 4999
D onwm= 80 | D on.uv= 190
PHaM = 34821 P umM = 593.5
P Br.mm= 199 189.1 P Br.um=349.7
fp.con = IV = =1 Ip. ¢a. =0cob.
Toun. = 1 Toww. =1l
BII3-1412 BII3- 1417
- Foow? = 4577 Y 1 Fow? = 2.391
S Qre.= 124 | = LEE Q ke = 0.648
4 ] VT D on.mm= 100 D on.uM= 35
B 96 || P o =316.5 534 P wmu = 2917
| P BH.MM= 245 - =1 | P Bu.um= 98.1
[p. ¢ =0co. [p. ca. = VI
Town, =1l Toww, =1l
blI3-1413 blI3-1418
F e =6.16 , Femt = 1778
<! Q k2. = 1.669 Q ke. =0.482
™ 7J D onum= 154 | o 2 2 D on.uv=30.3
151.9 P HM = 3745 | 50 P umw = 1449
| | P BH.um= 293.3 1| P BH.MuM= 60.3
[p. 1. = Qcob. [p.cn =V
Town. =1 Town. =Tl
bII3-1414 bII3-1419
Fom? = FcM? = 8.888
Q ke = S 3 Q ke. = 2.406
D on.MmM= | D on.muv= 123
P HMM = P HM = 998
P BH.MM= P BH.uM=
[p. ¢ = -0 Ip. ¢ =Vl
Town. = - - Toww. =Tl
. blI3-1415 bII3-1420
2 Fae=1t6 | | F o = 315
Q ka. =0.585 Q k. = 0.853
D on.mm=30 \<% D on.uv= 103
P umm =943 - 102.5 P umm = 2147
P BHMM=78.0 |— '™ I| P BH.um= 249.9
030 Mp. ca. = | Ip. ca. =Vl
Toun. =T Towr. =1l

nrrnm
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bll3-1421 bII3-1426
© Fem: =22 Few = 1.41
Q ke = 5962 | Q ke, = 0382
D on.mm= 80 ( D on.MM= 54
Pumv = 2513 | 53 P HuM = 1436
P Bruv= 1885|=1 [—= — | P Bn.um=84.1
080 fp.ca = IV [p.cn. = VI
Toww. = 1l Towd, = Tl
BII3- 1422 BII3- 1427
F oMt = Fom? = 14,98
Q ke = = Q ke. = 4.06
D on.Mmu= — D on.mm=132
P HMM = P umM = 5559
P BH.Mu= P Bu.mM= 520
[p. cn. = [p. c1. = 0cod
Towt, =1l Towd, = Tl
bII3-1423 bII3-14286
Fow = I Fewr =10.79
0 ke. = 2 0 ke, =2.924
D on.uu= “y D on.mu= 169
P HMM = P umm = 4334
P Bh.um= 169 P Br.uv= 349.7
[p. ca. = - = |Tp. cn =
Tows. =Tl Tows. =1l
bII3-1424 bII3-1429
Fom? = \ Fem? = 10.48
Qe = = Qe = 2.84
D on.um= , D on.mm=180.7
P HMM = 1738 P HMm = 427.6
P BH.Mu= —- (| P BH.MM=343.8
[p. ca. = [p. 1. =Ocod
TowH. = Towd, = Tl
bII3-1425 blI3-1430
Fem? = 9.434 F em? = 5.462
= = Q ke. =2.557 Q0 ke. = 1.48
D on.mM=88 D on.muM= 35
P H.mM =276.2 P uM = 110
7 P Bu.mM=194.2 P Bu.mm= 72.3
48 [p. ca. =Vl [p. cn. =l
Toun. =TI Toww. =Tl
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bll3-1431 bII3-1436
f YU [fow =13 Fow’ =
= Q k. = 0.36 Qke =
Y D onmn= 27.2 D on.mmM=
! Yrr 7 P huv = 909 P HMM =
20.6 P BH.MM= 84.6 P BH.MM=
- fp. o = [p. cn. =
Toww. = 1l Towd, = Tl
| BI3-1432 BII3- 1437
Fem? =2.03 Fem? =
2 Q ke = 0.59 Qe =
D on.mv= 49 D on.Mm=
P wmM =146.9 P HMM =
/s P BH.um= 112 P BH.MM=
20.6 [p. ca. =Vl Mp. cn. =
- Towt, =1l Toun, =
‘ bII3-1433 bII3-1436
Femt =3.27 Fem? =
< Q k. = 0.886 0 ke. =
D on.uM=49.2 D on.MuM=
Q P 1y = 206.3 P HMu =
, P Bu.mu= 78.3 P BH.mu=
ok [p. c1. =0cod [p. cn. =
— | Town. =TI Toun. = Tl
bII3-1434 bII3-1439
Fom? = Fem? =
Q ke = Q ke =
D on.MM= D on.MuM=
P HMM = P HMM =
P BH.Mu= P BH.mu=
[p. ca. = [p. ca. =
TowH. = Tows. = Il
blI3-1435 bII3-1440
Fovt = 444 Fem? =
o Q kz. =1.203 0 ke =
D on.mM=76.1 D on.MM=
P wM =302, P HMM =
7 P Bu.mv=128.9 P BH.MuM=
- = [ Ip. c1. =Ocod [p. cn. =
Toun. =TI Towd, = Tl
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I blI3-1441 blI3-1446
Fem? = 1.4.161 Fom? = 24.875
—~ Q ke. = 1,128 Q k2. = 6.741
= D on.mM= 101 D on.MM= 156
E P umm = 327 P umm = 14748
“ 7 | P = 191 P BH.aM=362.9
! m [p. ca. = VI [p. ca. =0cod.
-~ Tow. = Town. =1l
— BII3-1442] - BII3- 1447
- o) Fom? = 3.68 Fou? = 7.061
= Qe = 0997 |2 0 ke, = 1.914
| pa D on.mm= 80.7 D on.MM= 065.4
P uum =319.7 ‘ P uM = 323
775 P Bn.mm=170.9 71 P BH.Mm=138.9
- [p. cn. =Vl [p. ca. = 0cod.
Town, = Tl Towd, = Tl
bll3-1443| | blI3-1448
Femt = @i Femt =14
ke = g 0 ke. =0.38
D on.mm= ‘ D on.mM= 56
P HMM = = 54 P HmM =243.7
P BH.MM= o P BH.MM=
[p. ca. = fp.ca = IV
Tow. = Tl Toud, =TI
- bll3-1444 blI9-1449
~ Fom? = 9.3 Fou? =
y 0 ke. = 2534 QK. =
D on.mM= 139 D on.MM=
134 P Hum = 398.8 P HMM =
= P BH.mv= 160.2 P BH.MuM=
[p. cn. =Vl [p. c1. =
Tout. = 1l Towd, = Tl
bII3-1445 bII3-1450
Fowt = - / Fou? = 18.225
Q ke = i Q ke = 4939
D on.mm= D on.mu= 58
P Hm = P Hwm = 179.4
P BH.um= 09 P Bh.mv= 91.1
[p. ¢ = 058 [p. cn =l
Towr, = [l - - Town. = Tl
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= | blI3-1451] bII3-1456
Femt =213 o Femt =19
2 Q ke, = 0.577 Q ke, = 0.515
D onum= 49 ‘ 15 | D on.mm= 46
6 P umv = 1477 ~— | P Hmv = 1247
ﬂw—% PBH.uM = 111.4 43 P BH.um=115.
203 [p. c1. = V| - B [p.cn = IV
- - Toyw. = 1| Tows. = 1l
\ 2, | blI3-1432 bII3-1457
Fout = 1,74 ‘ Fout = 1.27
- Qe = 043 | 5 Q ke, = 0.344
i D on.mv= 34 ‘ { D on.mm= 36
P HuM =93.6 15/ [P Hmm = 89.4
7 P BH.mmM= 78.9 =TT~TP BH.mv= 80
@ 85 a [p.cn =V — i — | Ip.cn =V
Y e Town, = Tl Towd, = Tl
| blI3-1453| blI3-1458
Fout = 2875 |wo Fom? = 0.899
E %ﬁ 0 ke. = 0.779 110 ke =0.244
\ 5 D on.mm= 51 ' 15| |D on.mu= 26
2 —| | P Hum = 2374 %5 =~TP HMM =646
— P Bu.MM= 63.2 - > | P Bx.mM= 36.2
[p.cn =V fp.ca = IV
Tow. = Tl Toud, =TI
) bII3-1454 bII3-1459
Fom? = 4.286 Fem? = 14.28
= Oke. = 1161 | S 0 ke = 3.87
D on.mmM= 44 D on.mm= 109
Y P HM = 351,10 P Hv = 309
P BH.mv= 83.9 05 P BH.mMu= 392
[p.cn =V - ={|Tp. cn. = V|
Toww. = 1l Towd, = Tl
bII3-1459 bII3-1460
“ Fowt = 136 Font =
= Q ve. =0.369 Q ke =
| “ D on.mm=4 D on.MuM=
=P Hoiv =904 P HMM =
- al _| | P BHmu=86 P BH.um=
fp. e =V [p. cn. =
Towr, = [l Town. = Tl
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bll3-1461 bII3-1466
i F et = 4,092 Fom? = 4743
= Q ke = 1109 | Q ke = 1.285
I Donmv= 70 | D on.mm= 79
P uum = 2411 21 P nuM = 308.2
10 PBH.uM = P BH.umM=137.6
fp. o = [p.cn. = VI
Toww. = 1l Towd, = Tl
“ > bII5-1462 bII3-1467
F oM = 1,435 Femr =122
2 Qwe = 0389 |3 Q ke = 3.306
‘\‘ Donmv=28 |° D on.mm= 145
I P umm =79.3 P umM = 464.1
= P Br.mM= 64 P Bu.mM= 3483
16.6 [p.cn =V - 147 [p. ca. =0cod.
= Tow, = Tl Towd, = Tl
“ bII3-1463 bII3-1468
Femt = 4129 Fem? = 0.899
= Q ke. = 1.119 0 ke. =0.244
D on.mM= 62 D on.uM= 26
Y [ P v = 196.1 Pty =64.6
P Bu.mv= 164.2 P Bu.MM= 56.2
59.2 p. ca. = Qcod, fp.or= IV
Tow. = Tl Toud, =TI
f bII3-1464 ] % bII3-1469
Fem? = 19.93 Fem? = 1311
e Q ke = 5.298 o Q ke = 3.553
o D on.mmM= 172 D on.MM= 99
P HMM = 525.2 P Hv = 1543
! P B.mv= 9203 ‘ P Bu.mm= 37.7
[p. ca. = Ocob. [p.cn. =V
- 108 — Toww. = 1l — 32 - Towd, = Tl
\ bII3-146H bII3-1470
~ F e = 20,154 4 ﬁ Fem? = 1.061
= 0 ke. =5.462 |= Q0 k. = 0.287
D on.uu=180 % D on.mm= 33
] P HMM =529 P Hm = 131
180 | | P Bumu=470 29 P B1.mv= 208
11 Tp. ca. = Ocob. - : [p. cn. =Vl
Towr, = [l Town. = Tl
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T /=" |bll3-1471 bll5-1476
Fem? = 3,965 Fow? =
ki Q xe. = 0.966 Q0 k. =
~ D onmv= 82 D on.um=
P Hm = 240.2 P Hm =
’ PBH.um = 210.4 P Bh.Mm=
198 [p. ca = VI [p. cn. =
= - Towh. = Town. = Tl
bll5-1472 bllo-1477
Fem? = Fov? =
0 ke, = Q ke =
D on.um= D on.mm=
P Hv = P Hw =
P Bh.mm= P B.mu=
[p. ca. = [p. ca. =
Tows, = Tl Town, =1l
-5 IBI3-1473 bll3-1478
| F o = 1161 F ot =
- Q ke = 3.146 Q ke =
= D on.mm= 125 D on.mm=
P MM =333.6 P MM =
‘ P Br.um= 44 P BH.um=
60 = Mp. cr. =Vl [p. ca. =
- - Town. = 1l Town, = 1l
bll5-1474 bll5-1479
Fowt = 1928 Fout =
Q ke = 0.522 Q ke =
D on.mu= 16 D on.mm=
P Hmm = 30.3 P Hm =
06 P B.mm=18.9 P BH.Mm=
016 Ip. cn. =l Mp. cn. =
— - Towd. = Tl Touw. = 1l
bll3- 1479 bll3-1480
Fowt = Fow =
Q ke = Q ke, =
D on.mm= D on.mm=
P Hv = P HM =
P Bh.um= P BH.Mm=
[p. . = [p. cn. =
Towd, = Tl Town, = Tl
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bll3-1481

bll5-1486

Fomt = Fom?r = 11.377

8 ke. = 3 ? Qe = 3.08
0N.MM= D on.mm= 138

P HMM = @ P umm =491.7

P BH.m= - 126 P BH.um= 349.2

[p. cn. = [p. cn. = Ocob.

Town. = 1l Touw. = 1l

bII5-1462 bII3-1467

Fow = Font =

Qe = 0 ke =

D on.mm= D on.mm=

P Hwy = P Hm =

P BH.Mu= P BH.MM=

[p. ca. = [p. ca. =

Tow, = Tl Toww. = 1l

bII3-1463 bII3-14886

FeM? = Fom? =

Q ke = Q ke, =

D on.MuM= D on.MM=

P HuM = P HMM =

P BH.MM= P BH.MM=

Mp. cn. = [p. ca. =

Toun. = Tl Toww. = Tl

bII3-1484 bII3-1469

F ot = Fomt =

0 ke = Q ke, =

D on.MM= D on.MM=

P UMM = P HMM =

P Bu.uu= P BH.mMuM=

[p. cn. = [p. cn. =

Toun. = Tl Toww. =1l

bII3-1485 bII3-1490

F oMt = Fem? =

Q ke = 0 ke =

D on.Mmu= D on.Mm=

P HMM = P HMM =

P BH.MyM= P BH.MyM=

[p. ca. = p. cn. =

Town, = Tl Toud, =TI
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bII3-1491| 7 i bII3-1496
Fow = Foow? = 2.64
0 ke = o 0 ke = 0.715
D on.mm= 25 D on.um= 63
P Hm = - P HM =275
P B.um= | ] P B.um= 89.9
[p. cn. = 59 [p.cn =V
Towd, = Tl - Toww. = Tl
BII3- 1492 BII3- 1497
F oMt = My [ Fowt = 2417
Q ke. = 11 TT T 8K2.:5.55
D on.Mmu= on.um= 190
P HMM = - 187.9 -— P HMM = 4303
P BH.MM= P Br.mu= 640
[p. cn. = [p. ca. = Qcob.
Town. = 1 Touw. = 1l
BI3-1493) BII3- 1498
Fom? = Femt = 2485
Q ke, = Q ke = 6374
D on.Mm= D on.mm= 120
P HMM = P umv = 377
P BH.MyM= P Bumu= 333
[p. ¢ = 0120 fp.ca = IV
Toww. =1 — - Toww. = 1l
BI3-1494) BII3- 1499
Foum? = Fom? = 0.542
Q0 ke = Q ke = 0,147
D on.mM= D on.mm= 13
P HMM = P HMM = 40
P BH.MM= 013 P Brmmv= 314
[p. cn. = - — lp. cn. = i
Toun. = Tl Toww, = 1
bII3-149H ] bII3-1500
Fom? = Fem? = 12,548
Q ke, = g Q0 ke, =3.4
D on.Mmu= D on.mm= 100
P HMM = P wM = 387
P BH.uM= ‘ ZRY P BH.MuM= 129
[p. ca. = 15 [p. cn. =Vl
Town, = Tl - Toud, =TI
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bII3-1501 bII3-1506
Fou? = 15.49 Femt =0
Qke. = 419 Qke. =0
D on.mu= 88 D onmm= 0
P =179.4 P uwmM =0
P Br.mum= 108.4 P BH.Mm= 0
Fp cn = |l |'p ¢ =
Tows. = H Toww. = Tl
bII5-1502 bII3-1507
F e = 8.26 Fem? =
o 0 ke = 2.4 Q ke, =
g rﬁ ke D on.mm= 88 D on.mm=
Il A P HMM =332.7 P HMM =

; ) P BH.uu= 248 P BH.MM=

- n _ [p. ca. =ocobas [p. cn. =
Town. = 1Tl Toww. = 1l
bII3-1503 blI3-1508
Fom? = Fem? =
Q ke = Q ke =
D on.mm= D on.MuM=
P HMM = P HMM =
P BH.MyM= P BH.MyM=
[p. cn. = [p. cn. =
Toww. =1l Toww. = 1l
bII3-1504 bII3-1509
Fout = 1 Fom? = 2592
QKe = 3 Q ke = 0.702
D on.Mm= P il D on.wm= 72
P HMM = P H.mm =250.7
P BH.Mm= 705 P Br.mu=90.7
[p. cn. = = = Tp. cn. =Vl
Toun. = T Toww, = 1
BII3-1505 TZO BII3-1510
Fomt = 4 b | Fow = 1.99
Q ke, = @ Q k2. = 0.539
D on.um= o D on.mmu= 42
P Hmu = il P M = 117.6
P BH.MyM= P Bu.mm= 126
[p. ca. = v | fpoen =V
Town, = Tl Towd, = Tl
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bII3-1511 ‘ blI3-1516
F oM = 8.82/ Femt = 5934
Qe = 2392| _ 0 k2. = 1.608
D on.mM= 130 < D on.MM= 63
P nmm =337 P Hav =314.1
P B.mm= 108.4 y P BH.Mv= 145.2
[p. ca. = ocobas - 50 _| | Tp. ca. = ocobas
Towd, = Tl Toww. = Tl
bIIo-1512 . 455 _ | BII3-1517
! Fou = 446 | Fout = 451
- 8| ke = 1209 Qke. = 1222
& D onwm= 43 |2 D on.mm= 57
Puwv =117 |™ P H.mM =285.6
! P Brw= 81 | P Bhw= 107.7
29 [p. cn. =N [p. ¢1. =ocobag
= - Town. = 1Tl Toww. = 1l
BI3-1513 BIl3-1518
} ] F ot = 5,503
S 0 ke. = 1.491
D on.uM= 96
| P Hmm =290.9
86 P Bn.mm= 248.4
p. ca. = ocobos
Toww. =1l
blI3-1514 blI3-1519
K
. Fem? = 0.82
2 0 ke = 0.222
! D on.mm= 31
P wM =100.2
P Bu.mm= 28.6
_ - 10.8 [p.ca. =Vl
Toww. =1l
. bII3-1519 bII3-1520
7 \
9 Fowt = 111 :
=2 Qke. = 03
i D on.mm= 36
] y P Huv =147.6
P BH.MM= 28.6
U8 [p. ca. =Vl
Town, = Tl
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bIl3-1521 bII3-1526
i
S F et = 21,99 1 Fou? = 6.24
R W 0ke = 596 0 ke = 1.691
D on.mMM= 35 = D on.mm= 77
P wM =172.8 P Ham =221.3
P BH.MM= 47.1 P BH.um= 102.2
_2% Mp. cn. =NV 69 M. cn. =V
Town. = 1l Toun. = 1l
bII3-1522 bII3-1527
Fomt = 499
Qke. = 1.352
D on.mm= 90
P nmm =278.9
P Bx.mm= 128.8
[p. cn. =Vl
Toww. =1l
bII5-1523 bII3-1526
2 Fem?t = 3.959
] Q ke. = 1.073
D on.mMM= 65
P wM =204.2
065 P BH.mv= 191.6
- - lp. cn. = I
Town, =TI
blI3-1524 bII3-1529
25 Fou = 6.872 ’
T Q ke = 1.862
D on.mm= 90
P v =282.7
P Bh.Mv= 267
=M el
Town, = Tl
bII3-1525 bII3-1530
! Fowt = 4475 :
- Qke. = 1213
ks D on.mM= 87
‘ P HmM =293.1
’ / P Bruw= 120.6
- 10 [p. cn. =Vl
Town. = Tl
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bll3-1531

bll5-1536

bll5-1542

OPEJ

bllo-1547

bll5-1543

OPEJ

bll5-1548

Fom? =

Q ke =

D on.mM=

P HMM =

P BH.MM=
[p. cn. =
Toww. = 1l

bll5-1534

OPEJ

bll5-1549

bll3-1539

bll3-1540

JTaer
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blI3-1541 bII3-1546
Fem? = 10.09
<! ke = 273
P HM = 312.6
124 P Bx.mm= 268.5
N [p. ca. = Vi
Toww. = 1l
bII5-1H42 bII3-1047
W 2 Fou? = 2137 1 Fem? = 10.329
o Qe = 0579 / _ Qwe. = 2799
! D on.mm= 43 ~ D on.mm= 47
! & 2| P v = 1130 ‘ P yuw = 1447
P BH.mv= 100.6 P BH.uM= 84.8
~ il - fp. o = L fp. e =V
Town. = 1Tl Town. = H
bII3-1H43 bII3-1H48
7 o Fou =133 | 4 Fovt = 280
- Qke. = 0362 — Q ke. = 0.766
‘\' Donmmw=25 | = D onmm= 27
zzzzzz V| Pamwz T30 | Y P o = 92
2 P BH.mm= 60.6 P Br.mv= 22
-— . ca. = Il . b p. et = IV
Toww. =1l Toww. = 1l
bII3-1544 I 7 bII3-1549
I [ eu? = 3913 Fow? = 2,059
% = D10k = 106| = Qe = 0558
i D on.MM= 60 D on.mm= 42
! ) | P Hwm = 1645 P hv = 107.2
P BH.uM= 58.6 ! P BH.mu= 31.4
~ o — | Tp.ca =V 2719 lp.cr =NV
Toww. =1l - - Toww. = 1l
bII3-1549 bII3-1550
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bII3-1551 bII3-1556
88.6 bII5-1552 bII3-1057
Fou? = 5.62 Y > b [ Fowt =33
Q ke, = 1.523 - Q ke, = 1.496
D on.mM= 85 1 | D on.mm= 87
P Hmm = 380.6 | P HM = 2945
P Bu.mmv= 213.7 75 —| P Bu.mm= 110.6
[p. ca. = VI - - fp.ca. = IV
Town. = 1Tl Towd. = 1]
bII3-1593| 102.8 _ | BII3-1558
Fem? = 10,502 = F et = 4175
o 0 k2. = 2.846 Q ke = 1,131
D on.mm= 14/ . D on.mm= 107
P wmm = 478.7 > P Hm = 297.3
121.5 P Bn.mv= 392 P BH.MM= 252.1
[p. c1. =ocobas = [p. ca. = VI
Toww. =1l Toww. = 1l
bII3-1554 . y | bII3-1559
" Font = 5.
=| | QK = 1413
D on.mm= 76
P HMM = 367
3 1 | P BH.mm= 167.5
- 66.5 _ [p. ca. = VI
Toww. = 1l
bII3-1559 bII3-1560
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bII3-1561 bII3-1566
| blI3-1962 | Y | bII3-1567
T owr = 1443 [T || Fout =337
Qe = 3913 2 i Q ke = 0913
D on.mu= 175 - D on.mM= 63
P uM = 7775 ~ P wM = 401
P Bu.mv= 110.3 @Q L Eﬁ P BH.mMu= 83
[p. 1 =ocobas| fp. ca. = VI
Town. = 1Tl Towd. = 1]
bII3-1563 313 bII3-1568
Few? = 3287 ‘ Fom? = 2.42
= | | Qke. = 8908 Q k2. = 0.66
T | Doonmm= 176 | o D on.mM= 45
P hm = 5889 ™ P wmm = 250
P Bn.mv= 441.5 P BH.mu= 123
[p. cn. =ocobas] [p. ca. = VI
Toww. =1l Town. = Tl
bII3-1564 . bII3-1569
F oMt = 7,355 Femt =3
Qke. = 1.993 ~ Qke. = 0.813
D on.uM= 56 ~ D on.mM= 65
P wwM = 2041 P HMM = 295
P BH.mv= 81.4 / y P BH.mu= 172
fp.cn =V fp. cn. =Vl
Towr. = 1Tl - o4 —| Toun, =TI
zm bII3-1569 bII3-1570
_4% Femt = 3.64
| Q ke = 0986
o D on.mM= 49
P Hmm = 280
a2 P BH.MM= 56
B 32 N [p. cn. =Vl
Towd. = Tl
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bll3-1571

bll5-1576

Fem? = 5.08

Qke. = 1377
D on.mu= 100

P umm = 271.6
P BH.mu= 314.8
[p. ¢1. =ocobas
Toun, = ocoboll

bll5-1572

bllo-1577

49.6

F et = 2,506
Qke. = 0.679
D on.Mu= 6/
P Hau = 1731
P B1.Mu= 160.6
[p. ca. = Vi
Tow. = 1l

bll5-1573

!

bll5-1578

Fom? = 1.56
Qke. = 0423
D on.mm= 41
P HMM = 14D

P BH.mm= 113.8
p. ca. =0c0004

Toyn. = 0coboll

bll5-1574

15

40

Fom? = 3.958
Qke. = 1.073
D on.mv= 48
P umm = 130
P BH.mm= 102
fp. ca =l
Touw. = Tl

bll5-1579

21

Fem? = 1,52

Qke. = 0.412
D on.mm= 39

P umv = 130.8
P BH.MM= 122.1
[p. ca. =ocobas
Tous. = ocoboll

bll3-1979

bll3-1580

JTaer
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bII3-1581 bII3-1586
bII3-1582 bII3-1587
2 | Fowr = 1.015
~ Qke. = 0275
o D on.mmM= 23
7] | P HMv = 76.6
P Bu.mM= 35.1
20 | | Tpoen =V
Tow. =1l
bII3-1583 y bII3-1H86
Fem? = 1,126
= Qe = 0.305
D on.mu= 33
P HM = 131.2
P BH.MM= 51.2
25 lp. cn. =0c0004
Toun. =H
bII3-15684 bII3-1569
Fem? = 1.26
e —| | Qxe. = 0.341
S| | D onwm= 44
P wmM = 202.7
FT2Z2X 27 P 5H.MM= 29.2
15 fp.cn. = IV
~ Town. = 1l
7 r | bII3-1589 bII3-1590
Fewt = 17.32
oo | | Qke. = 1984
= | D onwm= 63
P v = 192
v | P BHmw= 120
fp.ca =V
40 Towd. =1l
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bl 1991 ¢ |BI3-15%
Fom? = 3.92
Qke. = 0.9
D on.mm= 32
P umm = 1005
P BH.MM= 704
@32 rp. ¢l = |V
B - Tous. = ocoboll
BII3-1592| |~ °' blI3-1597
o T | Fow = 5.457
f . Qke. = 1479
~ D on.mM= 76.3
/ 3 P Hmm = 3725
/ P BH.MM= 45.7
;m I, v | Tp. ca. =ocobas
Toud, = Tl
bII3-1593 _n RI3-1598
‘ Fom? = 2.005
Q ke, = 0.543
= D onwm= 42
P Hmm = 204.5
&ﬂ ot P BH.uM=
B [p. ca = VI
Toww, =Tl
blI3-1594 bII3-1599
blI3-1595 bII3-1600
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bll5-1601

30.3

2.3

N =Y Y

bll5-1606

Fom? = 344
Qke. = 0.932
D on.mM= 33

P umm = 190.2
P BH.mM= 113.1
fp.cr =V
Touw. = 1l

bll3-1602

blI3-1607

35

Fem? = 1.299
Q ke. = 0.352
D on.mm= 34
P umm = 135.6
P BH.mM= 18
[p. ca. = VI
Toww, =Tl

bll5-1603

bll5-1608

bll5-1604

bll5-1609

bll3-1609

bll3-1610

Jlmer
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bII3-1611 bII3-1616
Fem? = 13,93 F et = 7.672
Oke = 4317 D V| 0k = 2019
D onwn= 92 | | = D on.mmM= 56
P wM = 160.3 21 | P HMv = 1531
P BH.MM= 69.1 5 P Bn.mv= 110.3
fp. cn. = |l - - fp.ca. = IV
Town. = Tl Toww. =TI
bII3-1612 bII3-1617
Fout = 18.23 g b Fow =814
0 ke, = 494 = Q ke. = 2.206
D on.um= 58 g D on.mm= 73
P oM = 1794 , ! P umv = 261.3
P BH.um= 99.1 5 P BH.mm= 126.3
[p. ca = i - - fp.cn = IV
- - Towd. = Tl Toun, = Tl
bII3-1613 | blI3-1618
ﬁ 7277, b [Foe = ami
Z 7 o| Qe 13
2 1D oz 2
P umv = 1183
TI00007 U | b e 80
10 [p. cn. = IV
— - Tous, = H
bII3-1614 bII3-1619
“ Fow = 2819 [ ZZ Fowt = 6.74
Q ke = 0.764 Qke. = 1827
Z D on.mM= 81 = D on.mu= 57
P wwM = 297.4 P umm = 204.1
! P Bu.uv= 170 %% A | P Buwm= 108.2
70 [p.ca. = VI 50 lp. cn. =V
- | Toun. = Tl - - Town. =Tl
2 1 |blI3-1619 bII3-1620
Fem? = 5.82 Fem? = 3.339
Oke. = 1577 o, OB 0k = 0905
D on.mm= 100 D on.mm= 124
P umm = 189.2 P umm = 2914
P Bh.um= 350.4 124 P Bh.Mu= 98.1
fp.ca. = VI [p. ca. = VI
Towd, = Tl Toun, = Tl
Iaer 161




bII3-1621 bII3-1626
blI3-1622 | bII3-1627
F et = 4572
Qke. = 1.25
<! | D onmu= 64
P umm = 139.1
" P BH.mM= 112.1
[p.cn =V
. — Toww, =Tl
BII3-1623 BII3-1628
< F ot = 20,11
Q ke = 545
D on.mm= 191
P Hmm = 430.9
188 P BH.Mv= 530.9
[p. c1. =0cobas
Town, = Tl
blI3-1644 bII3-1629
BII3-1625 BI13-1630
Fem? = 4108
Qke. = 1.113
= D on.mm= 67
P umM = 295
P BH.MM= 227.5
28 | | Tp.en =V
Toww, =Tl
(5 162




BII3-1631 BII3-1636
— | Fom?t = 442
;1 b 0k = 109
o = D on.mm= 100
Y R
73 P BH.MuM= 229.3
- - [p. e = |l
Toux. =ocobas
bII3-1632 bII3-1637
: Fem? = 451
E Qke. = 1.222
= D on.mm= 95
P umm = 249
P Bu.mu= 307.5
[p. cn. = V]
— b —| | Towr. =1l
bII3-1633 bII3-1638
Fem? = 2,559
Q ke. = 0.692
D on.mM= 6/
P Hmv = 244.6
P Bu.mmM= 153.9
[p. cn. = IV
Tow. = H
] bII3-1634 bII3-1639
FcM? = 5.396 Fou? = 1.17
E Q ke. = 1.462 = Q ke = 0317
D on.um= 87 D onmn= 24
P Huv = 355.9 %, P um = 100.4
22 P Bn.mmv= 133.7 P BH.MM=
- 19.8 _| | p. cx. =ocobas 8.6 fp.cn = IV
Toww. = Tl - Touw, =1l
) 136 _ | BII3-1635 00 bII3-1640
Fem? = 21.303 Fcm? = 16.365
Q k2. = 5773 - Q k2. = 4435
% D on.mm= 137 «“ D on.mm= b1
P uv = 382.6 P Hm = 240
> P BH.mm= 106.9 P BH.mM= 157
> fp. c1. = VI 0 _ Mp. e =l
Toww. = Tl Toud. = Tl

nrrnm
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BII3-1641 BII3- 1646
Fov’ =8,641
Q k2, = 2,342
D on.um.= 131
P u =416,
PBH. = 446,9
[p. ¢ =ocobas
Tows. = Tl
BII3-1642 _ |Bm3-1647
Fou' =13.504 Fon =0.306
9 1 Q ke, = 3.66 Q k. = 0.083
® D on.mm.= 116 D on.mm.= 8
P H = 4468 PH =251
| PBu. = 168.3 49 PH. = 15.7
[p.ea =V [p. ca. = VI
' Toww. = N Tows. = Tl
bll3-1643 bll3-1648
Fov' =3.786 Feu' =195
° Q k2. = 1,026 Q k2. = 0.528
“ D on.um.= 32 D on.um.= 33
Pu =828 P n =103.7
PH. = 45.2 533 PBx. = 91.1
p.ea = N [p.ca.= IV
Toww. = H Tows. = Tl
bl3-1644 bll3-1649
Fou' =0 Fou' =138
Qke. =0 v} Qe = 0374
D on.um.= 0 o D on.um.= 43
Pu=0 Pn = 115.1
Pk, = 0 PBH. = 53.5
[p.cr. = 0 29 [p.cr.= V
Toww. = 0 Tows. = Tl
bll3-1645 bl3-1650
Fou' =0 Fev =0
Qke. =0 Qke. =0
D on.um.= 0 D onwm.= 0
P u. =0 Phz 0
Pr. = 0 '
CER p.er= 0
Touw. = 0 Tow. = 0

n"l\m
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BII3-1651 BII3-0
Feu' =0 Fov' =0
Qke. =0 Qka. =0

D on.mm.=0 D on.um.= 0
Pu=0 Pu=0

PBH. = 0 PBH. = 0

[p. ¢ =ocobas [p. c1. = ocobas
Tows, = 1l Towt. = 1l
BII13-0 BII3-1657
Fou =0 A [ F ot =289
Qre. =0 || Qxe. = 0.784
D on.mm.=0 9] D on.um.= 60
Pu=0 P u, =260.2
PBH. = 0 U Pk, = 72.4

[p. ¢x. = ocobas p.ax= W
Town. = Tl = Toww. = Tl
bII3-0 _as | blI3-1698
Fou' =0 Fon' =5333
Qke. =0 Q k2. = 1.445
D on.um.= 0 D on.uM.= 52
Pu=0 P u = 163.4
PB. = 0 POy, = 1414
[p. ca. =ocobos 52 [p. e = IV
Tows. = 1l Town. = H
BII3-0 BII3-0
Feu' =0 Fov' =0
Qke. =0 Qke. =0

D on.mm.=0 D on.um.= 0
Pu=0 Pu =0

PBH. = 0 PBH. = 0

[p. ¢ =ocobag [p. c1. = ocobas
Town. = Tl Toww. = Tl
bII3-0 BbII3-0
Fou' =0 Fou' =0
Qre. =0 Qke. =0

D on.mm.=0 D on.um.= 0
Pu=0 Pu =0

PBH. = 0 PBH. = 0

[p. ca. =ocobas [p. ca. = ocobas
Toww. = 1M Town. = Tl
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bII3-0 i 5 blI3-1666
Fon' =0 Z Fon® =5.04
Qe =0 @ , Q k2. = 1.368
Donwn=0 |” : D on.um.= 89
Pu =0 7"7777— Pn =2487
P, = 0 =1 | Pbw, = 2084
[p. ca. =ocobas p.cn. = VI
Tglm. =1 = Tguu. =1
BII3-0 " BII3-1667
Fen' =0 Fou' =322
QK =0 [ = |0 ke = 0873
D onmm=0 |, D onmm.= 73
Pu =0 N P u =12239
POy, = 0 [P = 104
[p. ¢x. =ocobas - [p.ca. = VI
Tow. = 1l Tows. = 11
BII3-0 BII3-0
Feu' =0 Fon' =0
Qke. =0 Oke. =0
D on.mm.= 0 D onmm.= 0
Pu=0 Pu =0
PBH. = 0 PBH. = 0
[p. ca. = ocobas [p. ca. = ocobas
Town. = 1l Toww. = 1l
% BII3-1664 BII3-1669
Fon' =44.183 Fon’ =30.96
0 0 ke = 11974 |5 0 k2. = 8.39
o D onmn.=106 |~ D on.mm.= 140
P u =353 P n =458
PBx. = 185.8 PBx. = 163.4
[p. ca. = ocobas [p.ca =V
@87 Touw. = 1l 110 Toww. = 1l
BII3-1665 BII3-1670
Feu' =6.951 Fou' =659
0ke = 1884 | 0 k2. = 1.786
D on.mn.= 91 D on.MM.= 50
P u = 2859 Pu =138
Pk, = 270.2 100 PBH. = 135.2
p.on = IV [p. ca. = ocobas
2ol Town. = 1l Town. =

n‘l’l‘l\m
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BII3-1671] _ BII3-1676
oo |Far=33m | [f 2 ot =6.122
Qke =09 n|  |Q ke = 1.66
D on.mm.= 28 @l | D onmm.= 65
Pu =88 L ) Pun =179
o6 P, = 597 | K PBH. = 1046
[p.ca. = I s [p.c = IV
Town. = H Tows. = Tl
BII3-1672 s BII3-1677
Fou' =4.241 Fou' =6.327
- S Q ke = 1,149 Qke. = 1.115
D on.mm.= 32 D on.um.= 32
P 1. = 1005 41 P h. = 2751
PG, = 69.1 PBH. = 31.2
23 [p. ca. = I [p. e = IV
Tow. = H Toww. = Tl
BII3-1673 BII3-1678
Fou’ =5.655 ﬁ Fov' =3.661
.6 Q k2. = 1,533 w1 Q ke, = 0.992
Donmum=36 | ([ Y | | D onum.= 68
Pu =1131 L ! Pu =323
Pn. = 75.4 < ' E < PBH. = 0
236 [p.cr. = |l 6o p.or= V
Toun. = H Tows. = Tl
bII3-1674 blI3-1679
5 o %11'224 tF) o 8!13246
10 K2, = 3, " Ke. = V.
D onmm=47 |~ @ || D on.um.= 93
Pu =14117 Pu =2338
Pn. = 84.8 PBH. = 238.5
247 Mp. o= 95 Mp.cr = W
Town. = H Tows. = Tl
- | BII3-1675 1es | BII3-1680
Fou' =12.987 Fov' =0.66
~ | 0Q ke = 3519 Q k2. = 0.179
o | D on.m.= 104 D onmm.= 18
P u =4235 P H, = 956.6
PBx. = 91.6 518 PBH. = 48.7
o [Tpoen = VI [p.oa= N
Town. = Tl Toww. = Tl
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. |BI3-1681 BII3-0
Fev' =05 Fov' =0
Q k2. = 0.136 Qke. =0
D on.mm.= 14 D onum.= 0
Pu=H Pu. =0
814 PBu. = 36.1 PBH. = 0
p.en. = N [p. ca. = ocobas
Toww. = N Tows. = Tl
BI3-0| ., BII3-1687
Feu' =0 Fou' =142
Qke. =0 Q k2. = 0.385
D on.mm.= 0 D on.um.= 16
Pu=0 Pu =303
PBH. = 0 916 PBH. = 27.3
[p. ¢a. =ocobas [p. e =V
Toww. = Tl Toww. = Tl
BII3-0 blI3-16608
Fou' =0 Fon' =101
Qke. =0 Q k2. = 0.275
D onwm.= 0 3 D on.um.= 15
Pu=0 Pu =418
PBH. = 0 PH. = 28.3
[p. ¢ =ocobas [p.ca. =V
Towr. = I — Toww. = I
bII3-1684 bII3-0
Fou' =175 Fov' =0
n | Q k2, = 0.476 Qka. =0
S{(D on.um.= 36.2 D on.mm.= 0
Pu =125 Pun =0
Y PBH. = 34.6 PBH. = 0
34 [p.cn = W [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-1685 blI3-1690
Fou' =2.267 7 > Fou' =10.313
o Q ke = 0614 | [ 2l | Q ke = 2.795
“ Donmm=T71 |k A D on.um.= 95
[P o =199.1 P u =209
70 P6x. = 101.1 95.5 P6H. = 102
p.on = N [p.oa= N
Town. = Tl Toww. = Tl

n"l\m
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BII3-0 BII3-0
Feu' =0 Fov' =0
Qke. =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
= BII3-1692 BI13-0
| [Fowt =134 Fou' =0
0 Q k2. = 0.364 Qke. =0
D on.mm.= 23 D onum.= 0
P u =688 Pu =0
P6H. = 18.9 PBH. = 0
18.4 p.cr. = ¥ [p. ¢a. = ocobas
Toww. = Tl Toww. = Tl
BII3-1693 BI13-0
Fou' =4.273 Fov' =0
3 z Q k2. = 1.158 Qke. =0
D on.um.= 58 D onmm.= 0
P u =342 Pu =0
! PBH. = 0 PBH. = 0
lp.cn. = VI [p. ¢a. = ocobas
42 TguH. =1 Tguu. =1
27 bll3-1694 > blI3-1699
Fou' =6.08 g @ Fov' =7924
Q k. = 1.648 Q ke = 2147
q D on.um.= 30 3 D on.um.= 94
‘” Pu =994 P . = 380.6
Pr. = 31.4 PBH. = 249.5
p.en = N @ @ [p.ca. =V
Toww. = N Tows. = Tl
bII3-0 bII3-0
Feu' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu =0
PBH. = 0 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Toww. = 1 Town. = Tl

""nﬂl
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bII3-0 bII3-0
Feu' =0 Fov' =0
Qke. =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Town. = Tl Toww. = Tl
bll3-1702 blI3-1707
= Fou' =747 =2 | F v’ =5.305
gwﬁ% k. = 205 | < & | |0k = 1k
D on.mm.= 100 D on.um.= 99
99 | [P wo= 27139 2 P u =298.4
P6x. = 223.9 PBx. = 257.9
[p. ¢a. = ocobas 20 p.ax= W
Toww. = Tl Toww. = Tl
bll3-1703 y blI3-1708
Fou' =153 Fov' =327
. Q k2. = 0.415 3] |Q ke = 0.886
— D on.um.= 49 B D on.um.= 67
P u = 1264 P u. =260.2
. PBi. = 115.6 ﬂ P, = 171
p.er = N [p.ca. = W
Town. = Tl L Toww. = Tl
bII3-0 bII3-0
Feu' =0 Fov' =0
Qke. =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Town. = Tl Toww. = Tl
bII3-0 blI3-1710
Feu' =0 Fou' =2918
Qe =0 §: ” i@ o |Q ke = 0.791
D on.mm.=0 ~1 1D on.mm.= 59
Pu =0 Pu =291.8
PBH. = 0 PBH. = 54.9
[p. ca. =ocobas 54 [p.ca. = W
Toww. = 1 Town. = Tl

""nﬂl
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BII3-1711 BII3-1715
Fou' =593 Fev' =0
™ Q k2. = 1.607 Qke. =0
0 D on.mm.= 77 D on.um.= 0
Pu =241 Pu =0
C Pn. = 31.4 PBH. = 0
35 [p.ca =V [p. ca. = ocobas
Toww. = N Tows. = Tl
BII3-1712 BII13-0
Fou' =3.464 Fou' =0
45 |Qke = 0939 Qke. =0
D on.mm.= 29 D on.um.= 0
Pu =911 Pu =0
P6H. = 62.8 PBH. = 0
2e? rp. ca. = |l [p. c1. =ocobas
Toun. = H Toww. = Tl
bII3-1713 BII3-0
Fou' =5938 Fov' =0
- 7 Q k2. = 1.609 Qke. =0
D on.um.= 34 D on.mM.= 0
P u =106.8 Pu =0
Ph. = 62.8 PBH. = 0
£ [p.ca = I [p. ca. = ocobas
Town. = H Town. = I
BII3-0 BII3-0
Feu' =0 Fev' =0
Qe =0 Qke. =0
D on.mm.=0 D on.um.= 0
Pu =0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-0 bII3-0
Fou' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.um.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
Toww. = Tl Toww. = Tl
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(BI3-1721] - BII3-1726
T i o
o k2. = 0. K2, = b.
(D onwm=50 | D onum.= 130
Pu =289 P H. = 1001
FL /B [ % f PO, = 2534
Mp.ca= ¥ p.cr= W
. 44 T([))HH. = | - TEHH. = 1
. |Bm-172 BII3-0
Fou' =1.225 Fov' =0
Q k2. = 0332 Qke. =0
D on.um.= 16 D onmm.= 0
P u =503 PH =0
216 P6H. = 31.4 PBH. = 0
p.cr.= [p. ¢a. = ocobas
Toun. = ocobas Tows. = Tl
2e,e
R LA BII3-1728
/ Fou = 4,001 - % Fou' =11.74
Q ke = 1.084 |2 Q ke. = 3,182
~ D onmm=30 |[*° D on.mm.= 163
¥ Ph=1926 |2 Slpy =414
P6H. = 27.4 P6H. = 466.6
[p.cr. = VI 140 [p. cr. = VI
. Tows. = 1l Towr. = I
BIB-0| ;e BII3-1729
0 0 0 = 10
K2, = ke, = 1.
D onwm.=0 z@ 5| D onum.= 75
Pu=0 P H. = 462.3
P6H. = 0 : P6H. = 196.7
[p. ca. =ocobas :; r&ﬁ [p. ca. = ocobas
Toww. = 1l 27.93 Town, =
4 blI3-1725 T blI3-1730
o
k2. = 0. 2 [Qke =1,
D on.um.= 11 @ 11D onMm.= 65
= o gl | o= s
[p.c = [p. ca. = ocobas
Toww. = H 42.6 Toww. = 1
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BII3-1731 BI13-0
F oM’ =465 Fov' =0
n Q ke = 1.26 Qke. =0
& D on.mm.= 52 D onum.= 0
Pu =1738 Pu =0
PBw. = 15.7 PBH. = 0
50 [p.ca =V [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-1732 bII3-0
Fou' =11.148 Fou' =0
3 Q k. = 3.0 Qke. =0
D on.mm.= 82 D onum.= 0
P u =202 Pu =0
80 P61, = 164.2 PH. = 0
[p.ea.= NV [p. ¢1. =ocobas
Toww. = Tl Toww. = Tl
bII3-1733 bII3-0
Fou’ =454 Fov' =0
% Q ke = 1.3 Qe =0
D on.um.= 103 D on.mm.= 0
k P u = 4035 Pu =0
PBh. = 1475 PBH. = 0
[p.ca = W [p. ca. = ocobas
73 Town. = I Tows. = Tl
BII3-0 bII3-0
Feu' =0 Fov' =0
Qe =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
BII3-0 blI3-1740
Feu' =0 Fou' =2.451
Qke. =0 Q k2. = 0.664
D on.mm.=0 D on.um.= 49.8
Pu =0 Pu =184.5
PBK. = 0 PBk. = 192.8
[p. ca. =ocobas 5498 [p.ca. = W
Town. = Tl Toww. = Tl
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BII3-1741 BII3-1746
' 5“2 Hgs (I;cu' (1)342133
= ke, = 1. & ke, = 0,
—L 1D onum=915 | @ D on.um.= 60
P u =196.6 Pu =1435
915 PBx. = 211.5 59.6 PBH. = 24.2
[p. ¢ =ocobas [p.ca. = W
Toww. = N Tows. = Tl
bII3-1742 blI3-1747
Feu' =915 | Fou' =147
NG| e = 4T 4 CH Q ke = 398
4 D on.nu.= 184 D on.um.= 122
P u = 3889 P u =307
183.8 PBy. = 430.3 o1 PB4, = 0
[p. ¢a. =ocobas [p. ca. = VI
Toww. = Tl Toww. = Tl
BII3-0 blI3-1748
Fou' =0 Fov' =1.762
Qke. =0 Q k2. = 0.478
D on.um.= 0 D on.mm.= 25
Pu=0 Pu =1028
PBH. = 0 PBH. = 71.9
[p. ca. =ocobas Mp.er.= V
TgHH. =1 PE quu. =1
bII3-1744 bII3-0
Fou’ =3.298 Fov' =0
= | Q ke = 0.894 Qke. =0
o | D on.m.= 60 D onum.= 0
Pu =181.9 Pun =0
PBH. = 152.1 PBH. = 0
[p.ca =V [p. ca. = ocobas
295 Tows. = ocobas Toww. = 11
BII3-0 — blI3-1750
Feu' =0 Fou' =5.704
Qke. =0 = | Q ke = 1.546
D on.mm.=0 7 D on.um.= 49
Pu =0 Pu =199.7
PBi, = 0 £ P, = 108
[p. ca. =ocobas [p. ca. = ocobas
Town. = Tl S Toww. = Tl
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BII3-1751 BI13-0
1 F oM’ =3.526 Fov' =0
o Q k2. = 095 Qke. =0
i D on.mm.= 58 D onum.= 0
Pu =175.5 Pu =0
- PBH. = 91 PBH. = 0
[p.ca =V [p. ca. = ocobas
Toww. = N Tows. = Tl
BII3-1752 BI13-0
. Feu' =601 Fou' =0
@ | Q ke = 1,628 Qke. =0
D on.mm= 4 D onum.= 0
P u =2146 Pu =0
- P6x. = 100.4 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
Toww. = Tl Toww. = Tl
blI3-1733] blI3-1758
Fov' =321 . ﬂ Fon' =0917
2 Q2. = 087 @ Q k2. = 0.249
™ D on.mm.= H D on.um.= 3
. Pu =182 P =116.6
PBH. = 4.1 o - Px. = 28.6
[p.ca = W : [p.ca. = W
ee.4 Town. = I Tows. = Tl
2102 bII3-1754 . blI3-1759
Feu =0.391 Fov' =236
Q k2. = 0.106 Q k2. = 0.64
D on.mm.= 124 D on.um.= 32
Pun=3 Pu =157
.y PBH. = 32 PBH. = 78.5
: [p. ¢ =ocobas [p.ca. = W
Tou. = ocoBoil P Tows. = Tl
2265 bII3-1755 F blI3-1760
Feu' =278 Fov' =3.484
Qre = 0753 | | Q k. = 0.944
Donmm=33 | 3 D onm.=T1
P u =1021 A P H =285
P6x. = 83.3 40 PBH. = 143.1
) p.on = N [p.ca. = W
P Tou. = ocoboil Toww. = Tl
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bII3-1761 4 bII3-1766
Feu' =0 Fov' =3594
Qke. =0 Qke. = 9.74
D on.mm.=0 D on.um.= 70
Pu=0 Pu =299
PBH. = 0 PBH. = 56.6
[p. ¢ =ocobas [p.c= IV
Town. = I 270 Toww. = I
BII3-1762 BII3- 176
H o | Fou’ =4.816 Fou' =32.95
o w - IL- Q ke = 1,305 Q ke = 8.929
“ D on.mum.= 66 D on.um.= 150
Pu =3193 Pu =913
Q Z/' P6x. = 216.2 PBH. = 246.4
60 [p.cn. = VI p.ax= W
Town. = Tl Toww. = Tl
BII3-1763 BII3-0
Fou' =31.04 Fov' =0
- 1Q ke = 842 Qke. =0
& [ D onmm.= 141 D on.um.= 0
Pu =354 Pu =0
PBn. = 128.8 PBH. = 0
“Tp.en = VI [p. c1. = ocobas
Town. = Tl Toww. = Tl
|Bm-1764 BII3-0
Fou' =1343 Fov' =0
Q xa. = 0.364 Qke. =0
D on.mm.= 14 D on.um.= 0
Pu=H44 PH =0
14 PBH. = 15.7 PBK. = 0
[p.ev = N [p. c1. = ocobas
Toww. = 1 Tows. = Tl
| Bm3-1765 BI13-0
T |For =087 Fow =0
Q k2. = 0.236 Qke. =0
D on.mm.= 20 D on.um.= 0
P u =628 Pu =0
PBx. = 53.4 PBH. = 0
20 lp.er = V Ip. ¢1. = ocoba
Toww. = 1M Town. = Tl

) | (R 1R




bII3-1771 bII3-0
Feu' =0 Fov' =0
Qe =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Town. = Tl Tows. = Tl
bII3-0 bII3-0
Feu' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.= 0 D onum.= 0
Pu =0 Pu =0
PBK. = 0 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
Toww. = Tl Toww. = Tl
bII3-1773 —= | BII3-1778
Fou' =2.112 Fov' =5.616
Q k2. = 0.573 Q k2. = 1.522
D on.um.= 49.8 D on.mm.= 38
Pu =184 Pu =1194
PBn. = 147 PBx. = 84.8
849.8 [p.ca = W [p.ca. =V
Town. = I Tows. = Tl
bII3-1774 blI3-1779
Fou' =528 Fou =3.035
Q k2. = 1.431 Q k2. = 0.822
D on.mm= 34 D on.um.= 61
P u =106.8 Pu =294
PBH. = 69.1 PBH. = 179.1
334 [p.ca = I 860.6 [p.ca. = W
Town. = Tl Tows. = Tl
BII3-0 bII3-0
Feu' =0 Fou' =0
Qke. =0 Qka. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu =0
PBH. = 0 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Town. = Tl Toww. = Tl

n"l\m
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bII3-1781 15 bII3-1786
A Fou' = 2689 S F o' =0.872
oA | Q ke =079 / Q k2. = 0.236
r D on.mm.= 35 D on.um.= 20
Pu =983 P u =628
34 PBH. = 62 1703 PBH. = 534
p.en. = N [p.ca. =V
Town. = Tl Tows. = Tl
bII3-1782 bII3-0
Fou' =23.91 Fou' =0
° Q ke = 648 Qke. =0
@ @ D on.mm.= 147 D onum.= 0
P u = 3331 Pu =0
Px. = 364 PBH. = 0
146 | [ Tp. ca. =ocobas [p. ca. = ocobas
Tow. = H Toww. = Tl
bII3-1783 blI3-1788
Fou’ =2.226 Fov' =2267
> o | Q ke, = 0.603 Q ke = 0.614
S D on.um.= 56 D on.um.= 64
Pu =178.1 P . = 240.1
PH. = 121 PBH. = 138.6
45 [p.ca = W [p.ca. = W
Toww. = Po4 Town. =
bII3-1784 bII3-0
Fou' =206 Fov' =0
N Q k2. = 0558 Qke. =0
D on.um.= b1 D onum.= 0
—F Pu =175.17 Pun =0
0 PBH. = 99 PBH. = 0
[p.cn = W [p. o= 0
Town. = Tl Tows. = Tl
bII3-1785 blI3-1790
F o' =073 — || Font =5.183
/ Q ke = 0.198 < |0 ke, = 1405
D on.mm.= 17 D on.um.= 85
P u =534 P u =389
P17-03 PH. = 44 80 PBk. = 110.8
p.on = N [p. ca. = ocobas
Town. = Tl Toww. = Tl

n"l\m
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bII3-0 bII3-1796
Fou' =0 Fow' =719
Qke. =0 " Qke =195
Donmm=0 [° D on.um.= 102
Pu=0 Pu =2/49
PBh. = 0 e PBh. = 491.3
[p. ¢ =ocobas [p.ca. =V
Town. = Tl 80 Toww. = Tl
bII3-0 bII3-0
(I; oM’ =8 I(:) oM’ =8
K2, = K2, =
D onmm.=0 D on.um.= 0
Pu=0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢x. =ocobas [p. ¢a. = ocobas
Toww. = Tl Toww. = Tl
bII3-0 bII3-0
(I; oM’ =8 5 oM’ =8
Ke. = K2, =
D on.um.= 0 D on.mM.= 0
Pu=0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. c1. = ocobas
Town. = Tl Toww. = Tl
bII3-0 blI3-1799
Fou' =0 Fou' =154
Qke. =0 b Q k2. = 047
D onmm.=0 o D on.um.= 58
Pu=0 P u =208
PBH. = 0 & PBx. = 0
[p. ¢ =ocobag . [p.cr. = W
Town. = Tl ' Toww. = Tl
o))

blI3-1795 BbII3-0
Fou' =2425 Fev' =0
Q k2. = 0.657 Qke. =0

~ | D onuum.= 63 D on.um.= 0

NP wo= 2257 Pu =0
PBw. = 251.2 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Toww. = 1 Tows. = Tl
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~ bII3-1801 bII3-0
Fou' =18.85 Fov' =0
Q ke = 5.108 Qke. =0
D on.mm.= 70 D onum.= 0
Pu =299 Pu =0
Pk, = 157.1 PBH. = 0
Mp.cn = | [p. ¢a. = ocobas
270 TguH. =1 Tguu. =1
bll3-1802 bII3-0
)| Fou' =21.18 Fou' =0
% )j Q ke = 5.74 Qke. =0
™ D on.mm.= 110 D onum.= 0
1P = 2825 Pu =0
P6x. = 237.8 PBH. = 0
1058 [p.ca =V [p. ca. =ocobas
Toww. = Tl Toww. = Tl
bl3-1603 bII3-0
Fou' =17.51 Fov' =0
\ Q k2. = 4745 Qke. =0
™ D on.uM.= 81 D onmm.= 0
1| P u. = 218.1 Pu =0
PBH. = 294.5 PBH. = 0
74.2 [p.ca =V [p. ca. = ocobas
Town. = Tl Toww. = Tl
bII3-0 bII3-0
Feu' =0 Fov' =0
Qke. =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-0 blI3-1810
Fou' =0 [~ Fo' =247
Qke. =0 < 1 | Q k. = 0.669
Donmm=0 | D on.um.= 51
Ph =0 (< 2P w. = 167.2
PBH. = 0 PBH. = 93.2
[p. ca. =ocobas 49.2 [p.ca.= ¥
Toww. = 1 Town. = Tl

""nﬂl
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BII3-1811 BII3-0
Fou’ =3.016 Fov' =0
1 | Q k. = 0817 Qke. =0
D on.mm.= 30 D on.um.= 0
Pu =151 Pu =0
-2 | PBn. = 1445 PBH. = 0
0 Mp.orn =V [p. c1. =ocobas
72025 TguH. =1 Tguu. =1
BII3-1812 BII3-1817
Fou' =1.882 — Fou' =1.107
2 |0 =05 o Q ke = 0.291
j D on.mm.= 48 D on.um.= 29
== Py, =145 P h. =899
44 PBH, = 1354 20 PBH. = 77.2
[p.cn. = VI [p.cx= W
Town. = Tl Toww. = Tl
bII3-1813 bll3-1818
Fou' =1874 Fon' =2676
8 Q ke, = 0.508 ~ | Q ke = 0725
D on.um.= 54 J____ D on.um.= 58
= Ph o= 1417 T P = 1933
< PBh. = 129.3 = PBh. = 1327
[p.ca =V [p.cr. = W
Town. = Tl Toww. = Tl
BII3-0 blI3-1819
Feu' =0 Fov’ =2.601
Qe =0 3 | Q ke, = 0.705
D on.mm.= 0 D on.um.= 58
Pu =0 - Pu =1823
PBH. = 0 PBH. = 138.4
[p. ¢ =ocobas [p.cr. = W
Toww. = N Tows. = Tl
BII3-0| +— blI3-1820
Feu' =0 Fou' =3.386
Qke. =0 0 Q ke = 0918
D on.mm.= 0 D on.um.= 78
P =0 P u = 2344
PBK. = 0 PBx. = 206.2
[p. ca. =ocobas 55 [p.ca. = W
Toww. = 1 Tows. = Tl

""nlll
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BII3-0 BI13-0
Feu' =0 Fov' =0
Qe =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-1822 blI3-1827
Fou' =2.807 Fou' =47.31
|| Q k2. = 0.761 Q ke =128
; | D onm.= 70 % D on.um.= 115
N — P 1. = 2044 ' / P h. = 361.3
- PB. = 1384 PH, = 2842
[p. e = VI 295 [p. e = IV
Town. = Tl 2 Toww. = Tl
bII3-1823 blI3-1828
Fou' =3797 | Fov' =216
A [k = 1.0 Q Q k2. = 0.585
o | D onmm=170 D on.um.= 81
P u =180.8 P u. = 336.2
70 PH, = 2125 75 PBH. = 0
[p.ca =V [p.ca. = W
Toww. = 1 Tows. = Tl
bII3-1824 bII3-0
Fou' =4.131 Fov' =0
B Qke =112 Qke. =0
D on.mum.= 86 D onum.= 0
Pu =334 Pu =0
80 PBH, = 758 PBH. = 0
[p.ca = [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-1825 blI3-1830
Fou' =4745 4 Four =6,316
< Q k2. = 1.286 o 1Qke = 112
\0 D on.um.= 96 1 N D onmm.= 72
P = 268.8 P v = 286.6
PBH. = 2018 P Bn.um = 168.8
S p.oon= W | | 64 poor= IV
Tow. = 1 Tows. = Tl
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bII3-0 bl13-1836
Fou' =0 Fou' =1.354
Q ke =0 2 Q k2. = 0.367
Donmm=0 | © D on.um.= 45
Ph=0 P = 2205
PBH. = 0 PB. = 0
[p. ¢ =ocobas [p. c1. = ocobas
Town. = 1l 2L Town. = 1l
bII3-0 bII3-0
Fou' =0 Fou' =0
Qre. =0 Qre. =0
D onmm.= 0 D on.um.= 0
Pu=0 Pu =0
PO, = 0 PO, = 0
[p. ca. = ocobas [p. ca. =ocobas
Tows, = 1l Tows. = 1l
BII3-133 BII13-0
et
% —- ke. = 0, K2, =
‘” | %29 1D onaw= 37 D on.um= 0
P n =162 PH =0
20 PBH. = 62 PBH. = 0
p.ev. = N [p. c1. = ocobas
Tows. = 1l Towi. = 1l
BII3-134 BII3-0
| Fou' =176 Fow' =0
Q k2. = 0479 Qke =0
' ' D on.um.= 25 D onmm= 0
%7 P =785 Ph =0
25| P, = 62.8 PBH. = 0
[p.ev = N [p. c1. = ocobas
225 Town. = 1 Towr. =
bII3-0 bII3-0
Fou' =0 Fou' =0
Qxe. =0 Qke. =0
D onm.= 0 D on.um.= 0
Pu=0 Pu=0
PBH. = 0 PB. = 0
[p. ca. =ocobas [p. ca. = ocobas
Tows. = 1l Toww, = 1l
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bII3-0] . bII3-1846
Feu' =0 F oM’ =5.466
Qke. =0 Q k2. = 1.481
D on.um.= 0 R D on.um.= 96
Pu=0 P n. = 4039
PBH. = 0 PBH. = 269.1
[p. ¢ =ocobas [p. c1. = ocobas
Town. = Tl . 28.3 . Toww. = Tl
bll3-1642 o bll3-1847
T S
K. = 2, ke, = 0,
D on.mm.= 137 D on.um.= 15.4
Pu =399 Pu =484
' | PBH. = 266.8 PBx. = 40.7
[p.cn. = VI Pl [p. ¢a. = ocobas
Town. = Tl Toww. = Tl
bll3-1643 bll3-1848
: o )
< ' K2, = 2 ke, = 0.
‘ D on.mm.= 127 \ ' ' / D on.um.= 34
| P b, = 5084 K/ P b, = 1063
120 PBn. = 422.1 k_/ PBH. = 94.3
[p. ¢ =ocobas 830 [p.cr.= V
Town. = Tl ¢34 Toww. = Tl
. bll3-1844 bl3-1849
vl ) e
ke, = 0, . . ke, = 0,
Y /\ 115 | D onwm.= 29 \\/ / D on.um.= 34
Pu =817 ' P =106.8
U / PB:. = 36.1 \—/ PB:. = 91.1
[p.cr= V 2e9 p.cr= V
18 To. = 1 34 Town. = 1
bll3-1645 blI3-1850
Fou' =0.725 f N F o' =3.564
- - Q k2. = 0.196 : : Q k2. = 0.966
D on.mm.=13.5 \\/ / D on.um.= 34
Pu =424 P =106.8
. IIfBH. = 9.1 ' \E-S/ fr’su. = 83.3 \
- . Ch = . Ol =
quH. =l B quu. =l

=
1
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80 bII3-1851 bII3-1856
. F ow® =5.0 F o’ =2998
i QK = 136 0 ke = 0813
N D on.um.= 85 > D onum.= 99
" Pu =3483 Pu =224
Px. = 110.8 PBH. = 230.7
[p. ¢ =ocobas [p.ca. = W
Toww. = I 29 Toww. = 1
BII3-1852 BII3- 1857
Fou' = Fov' =639
Qke. =0 Qke =173
D on.mm.= 0 D on.um.= 32
Pu=0 P u =100.5
PBK. = 0 PBx. = 68.7
[p. ¢a. =ocobas [p. e =V
Toww. = Tl Toww. = Tl
bII3-1853 blI3-1858
Fou' =276 Fou' =194
% EIE g? Q k2. = 0.747 " Q k2. = 0.526
= D on.um.= 46 3 D on.um.= 52
P u =19.3 P u =1523
41.6 Pn. = 74.4 PBH. = 147.2
[p. ¢ =ocobas [p.ca. = W
Town. = I Tows. = Tl
= bII3-1854 blI3-1859
) Fow' =33 F o =1.176
o Q k2. = 0.894 < Q k2. = 0.319
N D on.mM.= 55 ¥ D on.um.= 37
sz P u =1623 Pu =101.8
’ PBH. = 104.3 PBH. = 94.2
[p.cr =V 21 [p.cr.= V
1 Town. = Tl Tows. = Tl
bII3-1855 bl3-1860
Fou' =444 Fov' =398
Qxe =12 ° Q ke. = 1.079
D on.mm=179 “ D on.um.= 82
Pu =341 = P u. = 205.1
PBx. = 232.5 o PBH. = 192.5
[p.ca =V [p.ca.= ¥
Town. = Tl Toww. = Tl
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BII3-1651 BII3- 1856
Fou' =5 Fov =2998

Q k2. = 1.36 - Q k2. = 0813

D on.mm.= 85 o D on.um.= 99

Pu = 3483 Pu =244

P6x. = 110.8 Pk, = 230.7

[p. ca. =ocobas [p.ca. = W

Town. = T = Town. = 1
BII3- 1852 BII3- 1857

Feu' =0 Fou' =639

Qke. =0 Qke. = 1.73

D on.mm.=0 D on.um.= 32

Pu =0 P H =100.5

PBH. = 0 PBx. = 68.7

[p. ¢a. = ocobas [p.or= ¥

Toww. = Tl Toww. = Tl
bll3-1853 T 7\ blI3-1858

Fou' =276 Fou' =194

- |0 ke = 0.4 ol Q k2. = 0.526

M‘r ol | D onwm.= 46 X D onum.= 52

- P n =196.3 (2 PH = 1503

ie PBy. = 7_4.4 | U P6H. = 1_47.2

[p. ca. =ocobas 03 [p.ca. = W

Town. = Tl ' Toww. = Tl
( BII3-1854 BII3-1859

( Fou' =33 / ) Fow =1.176

o Qke. =080 | « Q k2. = 0.319

N D on.um.= 95 & D on.um.= 37

. P u =1623 Pu =1018

u P6H. = 104.9 ) P6H. = 94.2
[p.ca =V 21 [p.cr.= V

=S| To. = 1 Town. = 1
blI3-1895 bl3-1860

Fou' =444 Fou' =398

Q Qke. =12 Q k2. = 1.079

he Donwm=79 | D on.mm.= 82

Pu =347 P W, = 205.1

PBH. = 232.5 PBx. = 192.5

274 p.or =V 82 I Tp. o= ¥

Toww. = 1 Town. = Tl
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bII3-1861 bII3-1866
Fou' =3.495 Fov' =0
o |Q ke = 0947 Qke. =0
“ [ D on.um.= 67 D on.um.= 0
P u =180.8 Pu =0
PBn. = 167.4 PBH. = 0
63 [p.cr =V [p. c1. = ocobas
Town. = Tl Toww. = Tl
bll3-1862 blI3-1867
Fou' =0 Fov' =10.2
Qke. =0 ® Q ke =276
D onwm.= 0 & D on.um.= 97
Pu=0 P u = 3231
PBH. = 0 PBH. = 115.8
[p. ¢x. = ocobas p.ar= IV
Town. = Tl Toww. = Tl
bll3-1663 blI3-1868
Fou' =0 Fov' =0
Qke. =0 Qke. =0
D on.um.= 0 D on.um.= 0
Pu=0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. c1. = ocobas
Town. = Tl Toww. = Tl
bll3-1864 133 | blI3-1869
Feu' =0 Fom' =7.986
Q=0 |z Q ke = 2.164
Donmu=0 |© D on.um.= 136
Pu=0 P = 4035
PBH. = 0 PBH. = 335.2
[p. ¢ =ocobag [p. c1. = ocobas
Town. = Tl Toww. = Tl
bll3-1665 blI3-1870
Fou' =8.254 Fou' =0
~ Qe = 224 Qke. =0
i D on.um.= 56 D on.um.= 0
P u =233 Pu =0
PBw. = 31.4 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
43 To. = 1 Towr. =
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1qQr




bII3-1871 703 bII3-1876
/ Fou' =5.145 Fov' =6.434
2 Q xe. = 1.394 Q ke, = 1.744
D onwm.=60 | [| o | D on.um.= 86
Pu =1982 Y1 |Pw = 3679
4 PBw. = 157.7 PBH. = 261.8
563 [p. ¢ =ocobas [p. c1. = ocobas
{Toww, = 1 Toww. = Tl
bll3-1872 blI3-1877
Fou' =0 Fov' =1.08
Qke. =0 < Q k2. = 0.293
Donmu=0 |= D on.um.= 44
Pu=0 | P H, = 1166
PBH. = 0 PBH. = 44
[p. ca. = ocobas = pocr= V
Tows, = 1l Tows. = 1l
BII3-1873 BII3-1878
Fou' =7.633 Fov' =0
o Q ke. = 207 Qke. =0
™ D on.um.= 85 D on.um.= 0
= P u =250.2 Pu =0
PBH. = 195.3 PBH. = 0
7 [p.cv = [p. c1. = ocobas
46 Town. = Tl Toww. = Tl
bll3-1874 blI3-1879
Fou' =583 Fov' =0
0 Q ke = 1.58 Qke. =0
D on.um.= 108 D on.um.= 0
P = 3094 Pu =0
108 | | PBu. =0 PBH. = 0
[p.cr = V [p. c1. = ocobas
Town. = Tl Toww. = Tl
blI3-1875 bl13-1860
Fou' =4.351 Fou' =0
g Q ke = 1.18 Qke. =0
o D on.mm.= 100.5 D on.um.= 0
Pu =271 Pu =0
100.5 PBx. = 161.5 PBH. = 0
" | Ip. ea. =ocobas [p. ca. = ocobas
Toww. = 1M Town. = Tl

""nm
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BII3-1881 BII3- 1686
Fou' =1.885 Fov' =0
Q k2. = 0.511 Qke. =0
D on.mm.= 30 D onum.= 0
P u = 1544 Ph =0
PBn. = 133.7 PBH. = 0
244.2 [p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-1862 P18 blI3-1867
45 Fou' =1.06 Fou' =318
Q k2. = 0.287 Q k2. = 0.862
D on.mm= 24 D onum.= 27
Pu =754 Pu =848
PGH. = 66 PBH. = 56.6
B04 [p.ea.= NV 927 [p. e = IV
Toww. = Tl Toww. = Tl
bII3-1863 bl3-1868
Q
R Fowt =2.116 Fow' =783
Qke. =0573 | & Q ke =214
D on.um.= 30 = D on.mm.= 126
Pu =942 P, =55).2
PBn. = 78.5 PBx. = 307.4
= pon= I ¢ 3 Mp.cr= V
Toww. = 1l 8.2 Tow. = 1l
bII3-1864 blI3-1889
) Fou’ =5.737 Fov' =0
2 Q ke, = 1.5 Qre. =0
N D on.mm.=T71 D onum.= 0
Pu =3129 Pun =0
PBH. = 209 PBH. = 0
54 [p. co. = VI [p. ca. = ocobas
Town. = Tl Tows. = Tl
bII3-18865 blI3-1890
Feu' =0 Fou' =0
Qke. =0 Qka. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu =0
PBH. = 0 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Town. = Tl Toww. = Tl
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bII3-1891 bII3-1896
= Fow' = 1579 Fow' =0
Q k. = 0428 Qke. =0
D on.mm.= 35 D onum.= 0
Pu =110 Pu =0
Px. = 100.5 PBH. = 0
835 [p. co. = VI [p. ca. = ocobas
Town. = Tl Tows. = Tl
bII3-1892 blI3-1897
Fou' =18 Fou' =0
o | Q ke, = 488 Qke. =0
11D onwm= 121 D onum.= 0
Pu =348 Pu =0
P6H. = 198.5 PBH. = 0
120 [p. ¢1. =ocobas [p. ¢a. =ocobas
Toww. = Tl Toww. = Tl
bII3-1893 blI3-1898
Fou' =0 Fov' =0
Qke. =0 Qka. =0
D on.um.= 0 D on.mm.= 0
Pu=0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Town. = I Tows. = Tl
bII3-1894 bl3-1899
Feu' =0 Fov' =282
Qe =0 Q k2. = 0.764
D on.mm.=0 D onum.= 77
Pu =0 Pu =1926
PBH. = 0 PBH. = 182.8
[p. ¢ =ocobas [p.c = IV
Town. = Tl Tows. = Tl
bII3-1895 bII3-1900
Feu' =0 Fou' =1.866
Qke. =0 L of |0 ke = 0.506
D onum.= 0 D onmm.= 39
Pu =0 P H =169.2
PBK. = 0 PBH. = 64
[p. ca. =ocobas 33,2 [p.ca. = W
Town. = Tl Toww. = Tl
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bII3-1901 bII3-1906
Feu' =0 Fev' =0
Qe =0 Qke. =0
D on.mm.=0 D on.um.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-1902 bII3-1907
Feu' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.um.= 0
Pu =0 Pu=0
PBK. = 0 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
Town. = Tl Toww. = Tl
bII3-1903 blI3-1908
Fou' =0 Fov' =0
Qke. =0 Qke. =0
D on.um.= 0 D on.mM.= 0
Pu=0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = 1 Tows. = Tl
bII3-1904 blI3-1909
Feu' =0 Fev' =0
Qe =0 Qke. =0
D on.mm.=0 D on.um.= 0
Pu =0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
= bII3-1905] blI3-1910
~ é Feu' =5.019 Fov' =269
o Qre. =136 | Q k2. = 0.73
D onmu=063 | < D on.um.= 58
P u =312 PH =295
Q‘T‘ '7"@ PBH. = 0 PBK. = 50.5
| [p. ¢a. =ocobas [p. ca. = VI
e Toww. = Tl +2 Toww. = Tl
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/ bII3-1911 bII3-1916
Fou' =3 Fev' =0
2 |0k = 0813 Qke. =0
™ D on.mm.= 43 D on.um.= 0
Pu =119 Pu =0
g PBx. = 99.2 PBH. = 0
fp.on.= NV [p. c1. =ocobas
22 TguH. = ocoboll Tguu. =1
bII3-1912 blI3-1917
/ Fou' =1.933 Fou' =0
0 Q k2. = 0.54 Qke. =0
¥ D on.mm.= 29 D onmm.= 0
Pu =8l Pu=0
PBH. = 62.6 PBH. = 0
18,6 o= N [p. ca. =ocobas
Tou. = ocoboil Toww. = Tl
bII3-1913 blI3-1918
Fou' =303 Fov' =0
Q k2. = 0.82 Qke. =0
- D on.um.= 44 D on.um.= 0
P u =183.7 Pu =0
PBH. = 35 PBH. = 0
43,27 p.ea = N [p. ca. = ocobas
Toww. = 1 Tows. = Tl
bII3-1914 blI3-1919
Feu' =0 Fev' =0
Qe =0 Qke. =0
D on.mm.=0 D on.um.= 0
Pu =0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-1915 blI3-1920
Fou' =0 | Feu' =6.722
Qe = 0 m Q ke. = 1822
D on.mm.= 0 * D on.um.= 106
Pu =0 P u = 3528
PBK. = 0 102.3 PBH. = 343.2
[p. ¢a. =ocobas [p. ¢1. =ocobas
Toww. = Tl Toww. = Tl
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bII3-1921 o bII3-1926
N
Fou' =0 / i9) Fou' = 4.096
Qke. =0 0 Qke = 1.11
D on.mm.=0 - D on.um.= 47
Pu=0 @ Pu =308
PBH. = 0 // - % PBH. = 99.6
[p. ¢ =ocobas [p.c= IV
Toww. = 1 33 Town, =
BII3-1922 BII3-1927
© Fou' =2.596 Fou' =0
? Q k2. = 0.703 Oke. =0
o D on.um.= 38 D onwm.= 0
Pu =298 Pu =0
2 P6n. = 23.9 PBH. = 0
fp.cr. =V [p. ¢a. = ocobas
= "o, = 1 Toww. = Tl
£ blI3-1923 blI3-1928
Fou' =2105 Fow' =0
Q k2. = 0.57 Qke. =0
™ D onum= 40 D on.um= 0
™ Pu =1307 Pu =0
PBH. = 94.2 PBH. = 0
[p.cr = V [p. c1. = ocobas
Town. = Tl Toww. = Tl
bll3-1924 blI3-1929
5 oM’ =,11,(1)71 Bcu‘ =8
™ ke, = 1. K2, =
? D on.mm.= 44 D on.um.= 0
Pu =333 Pu =0
PBH. = 63.1 PBK. = 0
[p.ev = N [p. c1. = ocobas
33 Tows. = I Town. =
4 == | BlII3-1925 blI3-1930
(1 | Fow’ =411 Fou' =0
Q Qe = 1114 Qke. =0
| D on.m.= 46 D on.um.= 0
P u =333.6 Pu =0
T PBH. = 63.14 PBH. = 0
p.er = N [p. ca. = ocobas
33 Toww. = Towr, =
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bII3-1931 ~ | BlI3-1936
Feu' =0 Fov’ =2.206
Qe =0 o Q ke, = 0.398
D on.mm.=0 ” / D on.um.= 36
Pu=0 Pu =1303
PBH. = 0 | Pow. = 58.4
[p. ¢ =ocobas [p.ca. =V
Tow. = 1 7.5 Ton. = 1
bII3-1932 blI3-1937
Fow =0 <8 F ot =3.338
Qke. =0 Q k2. = 0.905
D on.mm.= 0 D on.um.= 45
Pu=0 Pu =1414
PBK. = 0 PBH. = 125.7
[p. ¢a. =ocobas [p. e =V
Towr, = 1l 245 Toww, =
bII3-1933 22— | B[3-1938
5 oM’ =8 E (I;cu’ = 698
Ke, = ke, = 0.
D onm=0 o D on.mm.= 49
Py =0 > 7 P w. = 181
PBH. = 0 PBH. = 93.1
[p. ¢ =ocobas < [p.ca. =V
Town. = I Tows. = Tl
bII3-1934 blI3-1939
A IR Ao 1 il
B on.mAb: 0 T 7| B on.uu.2308;f
H. = H. = Z200.
PBH. = 0 80 PBH. = 243.8
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-193H blI3-1940
Fou' =477 Fou' =0
Q k2. = 1.293 Qka. =0
D on.mm.= 78 D onum.= 0
Pu =245 Pu =0
PBx. = 232.5 PBH. = 0
p.on = N [p. ca. = ocobas
978 Town. = Tl Toww. = Tl
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BII3-1941 BII3-1946
Feu’ =1.659 Fou =0
" Q k2. = 049 Qke. =0
o D on.um.= 30 D onum.=0
P n =891 Pu =0
PBH. = 76 PH. = 0
230 [p.ca =V [p. ca. =ocobas
Toww. = N Tows. = Tl
BII3-1942 BII3-1947
" Fou' =3.136 Fow' =0
v Q k2. = 085 Qe =0
D on.nm.= 27 D onum.=0
Pu =784 Pu =0
827 PBh. = 43.8 PG, = 0
[p.co. = |l [p. ¢a. = ocobas
Town. = 1 Town. =
BII3- 1943 BII3- 1948
Fou’ =2.946 Fou' =0
Q ke = 0.798 Qke. =0
0 D on.um.= 89 D onmm.= 0
Pu =274 Pu =0
PB. = 172.9 PBH. = 0
[p.c = [p. ca. = ocobas
Tows. = 1l Town. = 1l
BII3-1944 BII3-1949
Fou' =0 Fou’ =5499
Qxe. =0 " ke =149
Donmu=0 |2 D on.um.= 74
Pu=0 P u =289
PH. = 0 PG, = 248.4
[p. ca. =ocobas Q [p.ca. = W
Toww. = 1 956 Toww. = 1
blI3-1949 bII3-1950
Fou' =0 Fou' =2.223
Qre. =0 - \ Q xe. = 0.602
D on.mm.= 0 < D on.uM.= 33
Pn=0 N P u = 176.1
PBH. = 0 PBH. = 123
[p. ca. =ocobas [p.ca. = W
Toww. = I 44,9 Tow. = 1l
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778 TZ27) |BI3-1951 BII3- 1956
Fou' =17.84 Fou' =2.649
0 Q ke = 4.835 Q ke = 0718
D onmm.= 103 | D on.um.= 57
Pu =597 | Pn =181.3
”7/521 PBh, = 0 PBh, = 171.9
[p.cr =V [p.ca. = V
e Tows, = 1l Towt. = 1l
BII3-1952 BII3-1957
Fou' =0 Fov' =542
Qe =0 ¥ Q k2. = 15.56
D on.um.= 0 s D on.um.= 114
Pu=0 P n, = 35.1
PBH. = 0 Pk, = 236.9
[p. ¢x. = ocobas [p.ox= ¥
Toww. = 1l pl4 Town. =
| BI3-1953 BII3-1958
_ , Fou' =4.286 Fov' =0
o Q k2. = 1.162 Qke. =0
°° = . D on.wm.= 91 D onum.= 0
_ - P n = 25.1 PH =0
PBn. = 316 PBH. = 0
el Mp.cr = VI Ip. ca. = ocobos
46 Tows. = 1l Towi. = 1l
BII3-1954 BII3-1959
_ % Fou' =17.81 Fou' =0
I Q ke = 4.827 Qxe. =0
D on.mm.= 72 D on.um.= 0
Pu =247 P =0
P6H. = 157 PBK. = 0
[p.cr = V [p. c1. = ocobas
g/ Town. = Tl Toww. = Tl
= BII3-1955 BII3-1960
Fou =20.69 | | Fow' =3.005
0 Qre. = 8045 |2 Q ke = 0.839
8 D onmm=114 |~ D on.um.= 43
P n = 35.1 P n =108.8
PBx. = 301.6 PBx. = 105.8
T [p.cr =V 42.7 [p. ca. = ocobas
2114 Tows. = I Town. =
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bII3-1961 bII3-1966
3 Fou' =9.038 Fou' =12.839
3 E Qke = 2449 | - Q ke, = 3479
: D onuw.= 161.1 Qm D on.uw.= 130
P u =467 = P =5328
154 PBn. = 376 150 PBH. = 288.3
[p.ev = N [p. c1. = ocobas
Town. = Tl Toww. = Tl
BII3-1962 BII3-1967
(I; oM’ =8 (F) oM’ =8
ke, = K2, =
D on.mm.=0 D on.um.= 0
Pu=0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢x. = ocobas [p. ¢a. = ocobas
Town. = Tl Toww. = Tl
bll3-1963 blI3-1968
(I; oM’ =8 (F) oM’ =8
Ke. = K2, =
D on.um.= 0 D on.um.= 0
Pu=0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. c1. = ocobas
Town. = Tl Toww. = Tl
bll3-1964 blI3-1969
5 oM’ =8 5 oM’ =8
ke, = K2, =
D on.mm.=0 D on.um.= 0
Pu=0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobag [p. c1. = ocobas
Toww. = 1 Tows. = Tl
blI3-1965 blI3-1970
Fou' =0 Fou' =133
Qke. =0 " Q k2. = 0.36
D on.um.= 0 « D on.um.= 31
Pu=0 Pu =1348
PBH. = 0 o PBH. = 55.2
[p. ca. =ocobas [p.ca. = W
Toww. = 1M 181 Town. = Tl
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@16.25

BI3-1971 BII3-1976
Fou' =0.682 Fov' =0814
Q ke = 0.185 Q k2. = 0.221
D on.mm.= 12 D on.um.= 16.5
Pun =31 Pu =515
PBn. = 24.1 PBH. = 40.5
@ [p.cv = [p.ca. = V
Toww. = 1 Tows. = Tl
= | BI3-1972 . BII3-1977
Fou' =0.654 Fow' =4.166
K> Q ke, = 0177 Q ke = 1129
N Donmm=18 | » D on.um.= 105
. Pun =48 © Pn =4014
@. PBH. = 46 PBx. = 106.4
fp.cr. =V [p. ¢a. = ocobas
Toww. = 1M Toun. = ocobas
BII3-1973 BII3-1978
Fou' =0 Fon' =8547
Qe =0 o Q k2. = 2.316
D on.um.= 0 - D on.um.= 173
Pu=0 P H = 6439
PBH. = 0 PBx. = 307.9
[p. ¢ =ocobas fpoca= W
Toww. = 123 Town. = ocobas
bll3-1974 o4 blI3-1979
/ o’ =07% Fod® = 0818
.. Q xa. = 0.216 Q ke =0.222
Q: // D on.um.= 19.5 D on.um.= 14
Pu =613 Pn=My4
e PBH. = 52.5 Px. = 31
' [p.cr = V e’ p.c= V
2125 T, = 1 | Toww, = T
?12.6 blI3-1975 blI3-1980
F ou' =0.866 Fou' =0
f Q k2. = 0.235 Qke. =0
‘ D on.mm.= 16.5 D on.um.= 0
/ P =515 PH =0
PBx. = 39.6 PBH. = 0
3164 [p.cr =V [p. ca. = ocobas
Toww. = 1M Town. = Tl
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bII3-1981 bII3-1986
Feu' =0 Fov' =0
Qke. =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
bll3-1982 bII3-1987
Feu' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.=0 D onum.= 0
Pu =0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢a. = ocobas [p. ¢a. = ocobas
Toww. = Tl Toww. = Tl
bll3-1983| sz 71 |bll3-1988
Feu' =0 Fov' =696
QK =0 > 1 <l |0k = 188
D on.um.= 0 (- 4 D on.um.= 71
Pu=0 Pu =32
PBh. = 0 P ===/ PBH. = 152
[p. ca. =ocobas [p.c.= IV
Town. = Tl S0 Toww. = Tl
bll3-1984 blI3-1989
K2, = o | QK2 = 0.
D onmm.= 0 p 1| D onum.= 91
Pu =0 P . = 260.6
PBH. = 0 50.8 PBH. = 84.5
[p. ca. =ocobas [p.ca. = W
Toww. = N Tows. = Tl
blI3-1985 bII3-1990
Fou' =0.715 | F ou* =252
Q k2. = 0.194 & | Q ke = 0.685
D on.mm.= 12,5 D on.um.= 87
Pu =33 P . = 296.1
Pk, = 85.3 86,1 PBK. = 77.3
[p. ca. =ocobas | [p.ca. = W
Toww. = 1 Town. = Tl

""nﬂl

100




BII3-1991 BII3-1996
Fou =0 T Fow' =634
Qke. =0 Qke =1.718
D on.um.= 0 ol | D on.um.= 81
Pu=0 1P w = 378
PBH. = 0 Pk = 207
[p. ¢ =ocobas [p.ca. = W
Toww. = 1 Tows. = Tl
bll3-1992 blI3-1997
Fou' =0 o Fou' =5.556
Qke. =0 Q k2. = 1,507
Donmm=0 | 2 D on.um.= 112
Pu=0 X Pu =319
PBH. = 0 _ Px. = 281
[p. ¢x. = ocobas p.ax= W
Town. = Tl Toww. = Tl
= blI3-1993 blI3-1998
ol 1204 | | & Fow' =74
Q k2. = 3.263 ® ® Q ke. = 2.016
® D onam.= 101 g D on.um.= 87
® P 1 = 3962 v Pu =328
PBn. = 260.4 Pk, = 211
p.cn. = VI Mp.er.= V
TgHH. =1 - ! Tguu. =1
bll3-1994 blI3-1999
Fou' =6.22 Fov' =0
Q k2. = 1.686 Qke. =0
R D on.um.= 112 D on.um.= 0
Pu =34 Pu =0
P6H. = 278 PBK. = 0
[p.cr = V [p. c1. = ocobas
102 Toww. = Toww. = 1
- blI3-1995 bI3-2000
Fou' =72 Fou' =7.72
B [Qke = 1951 |5 Q k2. = 1.496
D on.mm.= 90 [ D on.um.= 108
L Pu =44 P n, = 376
PBw. = 224 P6H. = 265
[p.cr = 99.5 [p.ca. = W
20 Toww. = 1M Town. = Tl
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bII3-2001 bII3-2006
Feu' =0 Fev' =0
Qe =0 Qke. =0
D on.mm.=0 D on.um.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Town. = Tl Toww. = Tl
bI13-2002 bI3-2007
Feu' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.um.= 0
Pu =0 Pu=0
PBK. = 0 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
Town. = Tl Toww. = Tl
bII3-2003 bI3-2008
Fou' =0 Fov' =0
Qke. =0 Qke. =0
D on.um.= 0 D on.mM.= 0
Pu=0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = 1 Tows. = Tl
m bII3-2004 bI3-2009
Fou' =35.34 Fev' =0
Q k2. = 9.577 Qke. =0
D on.mm.= 90 D on.um.= 0
\ Pu =2827 Pu =0
Px. = 188.5 PBH. = 0
15 [p.ca. = I [p. ca. =ocobas
290 Town. = Tl Toww. = Tl
bII3-2005 blI3-2010
Fou' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.um.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
Toww. = Tl Toww. = Tl
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BII3-2011 BI3-2016
Feu' =0 Fou' =29
8 K2, = 00 8 K2, = 0.;26
ON.MM.= b < H ON.MM.=
Pu=0 |- ”L“L?f P h = 214
PBH. = 0 P6H. = 91
[p. ¢ =ocobas [p.ca= IV
Toww. = 1M Tows. = Tl
= bll3-2012| ——— blI3-2017
Feu' =0979 Fou' =1337
Q k2. = 0265 | o Q k2. = 3.623
N D onwm=25 | R D on.um= 99
o P u =952 Pu =334
PBx. = 45.4 PBx. = 361
[p.er. = ¥ [p.cx. = W
Toww. = 1l 87 Town. =
blI3-2013 = bll3-2018
Fou' =0 Fon' =1.207
Qke. =0 Q k2. = 0,327
D on.um.= 0 @ D on.um.= 34
Pu=0 P u =136.8
Pn, = 0 : Pbu, = 644
[p. ¢ =ocobas = [p.ca. =V
Town. = Tl Toww. = Tl
100 .
bll3-2014 bl3-2019
Fou' =0 Fou' =719
Qke. =0 [ 0 ke, = 1.948
D onmm.=0 S D on.um.= 143
Pu=0 x P n =538
PBH. = 0 P6x. = 265.8
[p. ¢ =ocobag “ [p. c1. = ocobas
Town. = Tl Toww. = Tl
B blI3-2015 bII3-2020
Fou' =10.479 Fon' =2935
: Qe = 284 | =2 o |0 = 075
N D on.um.= 129 D on.um.= 66
P u =830 P H =29.3
Pw. = 182 PBx. = 83.7
[p.cv = [p.ca. = W
105 Toww. = 1 o0 Tows. = Tl
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bII3-2021 bII3-2026
Fou' =687 Fev' =0
— | Q k2. = 1.862 Qke. =0
AL i i I &t | D onwm.= 150 D on.um.= 0
‘ — | P n. =462 Pu =0
| 145 P6n. = 282.2 PBH. = 0
[p. e = [p. ca. = ocobas
Town. = Tl Toww. = Tl
| BlI3-2022 bII3-2027
Fou' =5.68 Fou' =0
o QK = 1.54 Qke. =0
D on.mm= 4 D on.um.= 0
Pu =2145 Pu =0
PH. = 125.5 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
39 Tows, = 1l Tow, = Tl
| blI3-2023 bl3-2028
Fou' =4.843 Fov' =0
A [ Qke = 1312 Qke. =0
o (D onMM.= 51 D on.mM.= 0
P u =232 Pu =0
1 [PBH. = 71,5 Ph. = 0
[p. ¢ =ocobas [p. ca. = ocobas
489 Toww. = 1 Tows. = Tl
bII3-2024 blI3-2029
Feu' =0 Fou' =265
Qe =0 © Q ke =072
D on.um.= 0 N D on.um.= 47
Pu =0 Pu =1733
PBH. = 0 PBH. = 32.2
[p. ¢ =ocobas [p.ca. = W
Town. = Tl 135 Toww. = Tl
bII3-2025 blI3-2030
Fou' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.um.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
Toww. = Tl Toww. = Tl
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blI3-2031 bII3-2036
Fou' =0 Fou =0
Qke. =0 Qe =0

D on.mm=10 D onum.=0
PH =0 Pu=0

PH. = 0 PH. = 0

[p. ¢ =ocobas [p. ca. = ocobas
Tows, = 1l Towt. = 1l
BII3-2032 BII3-2037
Fon' =0 Fou' =11.37
Qke. =0 @ Q ke, = 3.08

D onmm=0 — D on.um.= 162
Pu=0 P u = 305.7
PG, = 0 PBH. = 500.4
[p. ¢a. =ocobas \&7 Ir [p. ¢1. =ocobas
Town. = I 271 Towr. = I
BII3-2033 " BII3-2038
Fou' =0 o |[Fou' =916
Qxe. =0 a 1 | Q ke = 248

D onum.=10 [ D onmm.= 128
PH =0 K P 1 =631.8
PBH. = 0 PBH. = 115.5
[p. ca. =ocobas 1203 [p. ca. =ocobas
Tows. = 1l Towi. = 1l
bII3-2034 N_‘ blI3-2039
ot =0 | © T
Qe =0 T 0 ke = 3001
D on.um.= 0 = D onmm.= 171
PH =0 T 169.8 P =4259
PH. = 0 | | PBs. = 300.9
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
blI3-2039 blI3-2040
Fon' =0 Fou’ =1.968
Qre. =0 S Q kz. = 0.533
D on.mm=0 D on.um.= 43
PH =0 P u =180.2
PH. = 0 PBH. = 74.4

[p. ca. =ocobas 30 [p. cr. = VI
Towh, = 1 Tow. =
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BI3-2041) T BII3-2046
Fou' =3297 - Fov' =395
o Qe = 089 | o 0 ke = 1.07
y Donmm=48 | = D on.um.= 86
P =180.2 P u = 335.1
PBx. = 96.7 P6x. = 38
40 [p.cn = W [p.ca. = W
Town. = Tl = Tows. = Tl
bII3-2042 blI3-2047
Feu' =0 - Fov' =9.106
Qke. =0 0 Q k. = 2.468
Donmm=0 | D on.um.= 131
Pu=0 P u = 344.6
PBu. = 0 196.3 PBu. = 196.8
[p. ¢a. =ocobas ATpoca = VI
Toww. = Tl Toww. = Tl
bII3-2043 blI3-2048
Fou' =0 Fov' =0
Qke. =0 Qka. =0
D on.um.= 0 D on.mm.= 0
Pu=0 Pu =0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Tows. = 1l Towi. = 1l
BI3-2044| BII3-2049
r Fou' =307 @ Fou' =1.984
% S 1Q ke = 0832 | Q k2. = 0.538
2 Donwm=63 | ° D on.um.= 40
P u. =190.6 Pu =1246
- PBH. = 63.8 - Pk, = 22
[p.cn = W [p.ca. =V
Towr, = 11 =8 Tows, =
bII3-2045 180 bII3-2050
Fou' =3.963 Fou' =7.797
o M 4 | Qke = 1074 | Q ke. = 2113
® Donmm=5 | S D on.um.= 180
H; L 8 [ph=pg | P 1, = 608
P6x. = 68 PBH. = 488.1
43 [p.cn = W [p. ca. =ocobas
Town. = Tl Toww. = Tl
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BII3-2051 BII3-2056
= o [P0 =20 | T e | 24T
f o |Qke = 0602 | Q k. = 0.66
D onmmu=139 | D on.um.= 60
Py, = 207 "I = P =197
58 PBH. = 69 PH. = 127.7
[p.cv = 58 [p.ca. = W
Town. = Tl Toww. = Tl
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BII3-0 BII3-0
Fou' =0 Fou =0
Qke. =0 Qke. =0
D on.mm.= 0 D onum.=0
Pu =0 Ph =0
PH. = 0 PH. = 0
[p. ca. =ocobas [p. ca. = ocobas
Tows, = 1l Towt. = 1l
BII3-2162 BII3-2167
Fow' =11.662 Fou' =292

o Q ke, = 316 = Q ke = 0.792

S D on.um.= 132 D on.MM.= 39
P n =7209 P u =283.2
PO, = 497 ﬁ 5 PBH. = 0
p.cr. = ¥ [p. ¢a. = ocobas
Toww. = I 18 Toww. = 1l
BII3-0 BII3-0
Fou' =0 Fou' =0
Qe =0 Qke. =0
D onum.=0 D onmm.= 0
Pu=0 P =0
PB. = 0 PBi. = 0
[p. ca. =ocobos [p. 2. =ocobos
Tows. = 1l Town. = 1l
BII3-0 = |BII3-2169
Fou' =0 Fov’ =2.673
Qke. =0 0 Q ke = 0.724
D onm.= 0 ” D on.wm.= 42
Pu=0 P 1. =166
PH. = 0 PBH. = 167.6
[p. ca. =ocobas [p. ca. = ocobas
Toww. = 1 ce Toww. = 1
BII3-0| 7 bII3-2170
Fou' =0 Fou' =11.84
Qre. =0 o Q ke = 321
D on.mm.= 0 ™ D on.um.= 100
Pn=0 P =412
PBH. = 0 PBH. = 187.7
[p. ca. =ocobas [p. ca. = ocobas
Town. = I 202 "[Tow, = 11
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BII3-2171 = BII3-2176
Fou’ =6.382 Fon' =8305
N = Q ke = 1.73 Q ke, = 2.251
8L D onwm=114 | D on.um.= 78
‘ P u =285.2 Pu =215
113.7 PBH. = 173.9 PBH. = 296.9
| { Tp. ¢x. =ocobas [p. ca. = VI
Toww. = N Tows. = Tl
bII3-0 22 blI3-2177
/
Feu' =0 Fov' =382
QK =0 4 “& Q ke = 10352
Donmm=0 |3 D on.um.= 116
Pu=0 Pu =3288
PBi. = 0 é\ 7 )| Pbu. = 248
[p. ¢a. =ocobas -~ [p. e = IV
Town. = Tl Toww. = Tl
30 BII3-2173| 1 A Ry | BII3-2178
Fou' =1.781 §3 | Fon =1.064
Q ke = 0483 || [ FFTRZZZZZA | Q ke = 0288
- D onmm.=38 | D on.um.= 30
o Pu =183 Y > va ~ A | P H = 1158
PBH. = 0 ﬁ PBh. = 52.4
[p.ca = [p.ca. = W
Toww. = 1 =3 Tows. = Tl
bII3-2174 =e blI3-2179
Fou' =193 F oM =1.665
Q k2. = 0525 Q k2. = 0.451
= D onmm=131 | D on.um.= 39
o) P =2921 : Pu =147
PBH. = 80.85 H PBH. = 75
130 [p. ¢ =ocobas [p.ca. =V
Toww. = N Tows. = Tl
bII3-0 bII3-0
Fou' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.um.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
Toww. = Tl Toww. = Tl

) | (R 91410




bII3-0 bII3-2186
Fou' =0 m_ Feu' =1.506
Qe =0 0 Q k2. = 0.408
D on.mm.=0 D on.um.= 39.9
Pu=0 P u =105.1
PBH. = 0 PBH. = 95.7
[p. ¢ =ocobas 329 [p.ca. = W
Town. = Tl Toww. = Tl
bII3-0 bII3-0
Feu' =0 Fou' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.um.= 0
Pu =0 Pu=0
PBK. = 0 PBH. = 0
[p. ¢a. =ocobas [p. ¢1. =ocobas
Town. = Tl Toww. = Tl
bII3-2183 BII3-0
Fou' =335 Fov' =0
Q k2. = 091 Qke. =0
2 /( % D on.um.= 39 D on.um.= 0
P =968 Pu =0
Px. = 50.3 PBH. = 0
32 | [ Tp. ¢2. =ocobas [p. ca. =ocobas
Toww. = H Tows. = Tl
bII3-2184 bII3-0
Fou' =5418 Fev' =0
P S 1Q ke = 1.468 Qke. =0
D on.mm.= 30 D on.um.= 0
Pu =1934 Pu =0
PBH. = 37 PBH. = 0
36 [p. e = [p. ca. = ocobas
Toun. = H Toww. = Tl
bII3-2185 bII3-0
Fou' =133 Fou' =0
Y Q k2. = 0.36 Qke. =0
Y D on.mm.= 33.3 D on.um.= 0
Pu =938 Pu =0
Px. = 84.4 PBH. = 0
33.3 [p.ca = [p. ¢1. =ocobas
Toww. = Tl Toww. = Tl

""Am

910




BII3-0 BII3-0
Feu' =0 Fev' =0
Qe =0 Qke. =0
D on.mm.=0 D on.um.= 0
Pu =0 Pu=0
PBH. = 0 PBH. = 0
[p. ¢ =ocobas [p. ca. = ocobas
Toww. = N Tows. = Tl
bII3-2192 bII3-0
Fou' =5.534 Fou' =0
Qke. =15 Qke. =0
D on.mm.= 70 D on.um.= 0
P u = 4858 Pu =0
P6H. = 163.4 PBH. = 0
n [p. ¢a. =ocobas [p. ¢1. =ocobas
26 Toww. = 1 Town, =
o bII3-2193 bll3-2198
R o
ke, = 0. ke, = 1.
™ r D onwm=36 | - - ! U D on.um.= 160
© % Py =1928 |8 P b, = 304)
5 PBH. = 0 160 | [ PBH. = 311.7
[p. ¢ =ocobas [p. c1. = ocobas
L—a =&z Toww. = 1l Toww. = H
BII3-0| ——=—— |BI3-2199
Feu' =0 Fov' =592
Qe =0 Qke. = 1.6
D on.um.= 0 ™~ D on.um.= 85
Pu =0 ™ Pu =5175
PBH. = 0 PBH. = 275.2
[p. ca. =ocobas] 1+ [p.ca. = W
Toww. = N Tows. = Tl
bII3-0 120 bll3-2200
Fou' =0 Fou' =584
Qke. =0 Q k2. = 1.58
D on.mm.= 0 D on.um.= 124
Pu =0 Pu =300
PBK. = 0 Pk, = 284
[p. ¢a. =ocobas [p. c1. =ocobas
Toww. = Tl Touw. = H
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BlI3-2201 BI13-2206
T 7 Frow' =2.416 Fow' =19.15
< r" =\ Qe =065 | & Q ke. = 5.19
ol ] D on.MM.= 68 D on.mm.= 149
coa Pu =2/93 Pu =434
' | PBn. = 65.7 PBH, = 393.2
Mp. cn. = VI 12986 | |Ip. c1. = ocobs
Town, = 1l | Toww. =V
bII3-2202 16 bII3-2207
. - Fow' =2.529 . Fov' =434
= IS Q k2. = 0.685 ' 0 ke = 1177
D on.mm.= /0 10 D on.mm.= 67
L % P u. = 2659 ® }Ec% Py, = 343
H 1 PBH. = 176.6 PBH. = 0
[p. ¢ = ocobag [p. ¢ = ocobag
32 Towt, = Tl i b Towh, =
bII5-2203 bII3-2208
Few' =0 Fou® =7.795
Qe =0 = @ Q ke, = 2112
D onmm.= 0 D on.mm.= 100
PH =0 100 P =2342
PBH. = ( PBH. = 291.8
[p. ¢, = ocobag [p. ¢ = ocobas
Touw. = 0 Towh. = Tl
p14 bII3-2204 bII3-2209
Few' =0.903 616 Fou' =2.242
Q k. = 0.245 Q k2. = 0.608
D on.mm.= 14 [ =] o |D on.um.= 62
P =4 H |[PH =145
PBH. = 28.3 PBH. = 151
N I B =hs) |'p =V I'p o=Vl
Towh. = 1l Toww, = 1l
bII5-2205 bII3-2210
Feu* =0 Fouw' =247
Qke. = 0 of |Q ke = 0.67
D on.um.= 0 ™ 1D on.mm.= 66
Pu =0 Pu =143
PBH. = 0 65 PBH. = 175
[p. ¢1. =ocobas [p.cr = VI
Town. = 0 Touw. = 1l
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blI3-2211 bII3-2216
Fow® =32 Fou' =0

" J/=’§J] Q ke. = 0.8/ Qke. =0

“ — D on.mm.= 90 D on.um.= 0

90 P w = 219.1 PH =0
PBH. = 130.3 PBH. = 0
I'p cn. =Vl rp =
Town. = 1l Touw. = 0
BII3-2212 BII3-2217
Fou' =0 Feu' =0
Qke =0 Qke. =0
D on.mm.= 0 D on.mm.= 0
Pu =0 Pu =0
PBH. = 0 PBH. = 0
p.cn. = 0 [p.cn. = 0
Towh. = 0 Towh. = 0
blI3-2213 bII3-4218
Fou' =0 Feu' =0
Qke. =0 Qwe. =0
D on.mm.= 0 D on.mm.= 0
Ph=10 Ph=0
PO, = 0 PB. = 0
[p.cn. = 0 [p.cn. =
Toww. = 0 Town. = 0
BII3-2214 BII3-2219
Fou® =1.353 Feu' =0
N Q k. = 0.367 Qre. = 0
D on.mm.= 33 D on.mm.= 0
H Pu =130.8 Pu =0
o4 PBH. = 63.7 PBH. = 0

lp. o= IV lp.cn= 0
Tow. = H Toww. = 0
blI3-2215 bII3-2220
Fou' =0 Feu' =0
Qke. =0 Qke. =0
D on.um.= 0 D on.mm.= 0
Pu =0 P =0
PBH. = ( PBH. = (
p.or.= 0 p. e = 0
Towh. = 0 Toun. = 0
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bII3-2221 bII3-2226
Fev' =0 Feu' =0
Qke. =0 Qke. =0
D onmm.= 0 D on.mm.= 0
Pu =0 Pu =0
PBH. = PBH. = 0
p. e = 0 [p.cr = 0
Town, = 0 Towvw. = 0
bII3-2222 bII3-2227
Feu' =313 Fou' =0
7 o 10 ke = 0.848 Q ke =0
4 N D on.mm.= 57 D on.um.= 0
Pu = 1848 Pu =0
PBH, = 121 PBH. = 0
46.2 [p.cn. = VI [p.cn. = 0
Toun. = | Touw. = 0
bII9-2223 blI3-2228
Few' =0 Fou' =0
Q ke =0 Qke. =0
D on.um.= 0 D on.mm.= 0
P =0 Pu =0
PBH. = 0 PBH. = 0
p.cn.= 0 [p.cn. = 0
Touw. = 0 Toun. = 0
bII3-2224 bII3-2229
Few' =0 Fou' =0
Qe =0 Qke. =0
D on.wm.= 0 D on.mm.= 0
Pu =0 PH =0
PBH. = 0 PBH. = 0
p.cr.= 0 [p.cr= 0
Touw. = 0 Tow. = 0
= bII9-2225 bII3-2230
Feu' =2.397 Few' =0
Q ke = 0.65 Qke. =0
X D on.um.= 62 D on.mm.= 0
0 P u = 163.1 Pu =0
PBH. = 128 PBH. = 0
[p.cr. = VI fp.cr= 0
Toun. = | Touw. = 0
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bII3-2231 bII3-2236
12
Fem' =0.768 Feu' =072
Q ke. = 0.208 — Q ke, = 0.195
_ D on.mm.= 14 ~ 1 D on.um.= 24
- Pu =416 - Pu =768
PBH. = 15.7 PBH. = 5.8
|-p o= |V 22 rp =
Town. = 1l Toww. = 1l
blI3-2232 bII3-2237
Feum' =0 : Fou' =0.649
Qke. =0 S Q k2. = 0.176
D onmm.= 0 e — D on.uM.= 25
Pu =0 65 Pu =815
PBH. = ( ' PBH, = 44.8
p.er= 0 [p.ca =V
Tow. = 0 Town. = I
blI3-2233 blI3-2238
Fem' =0 Fou' =4.241
Qke =0 ~ Q ke = 1.149
D onmm.= 0 NS D on.wm.= 78
Pu =0 Pu =235
PBH. = 0 PBH. = 99
p.ev= 0 [p.cr. = V
Tow. = 0 o4 Town. = I
bI[3-2234 blI3-2239
Feuw' =0 Fou' =0
Qke. =0 Qke. =0
D on.wm.= 0 D on.wm.= 0
Pu =0 PH =0
PBH. = ( PBH. = 0
p. o= 0 [p.cr =
Town. = 0 Toww. = 0
blI3-2235 bII3-2240
Fom' =1.04 Feu' =0
= Q k2. = 0.282 Qe =0
D on.mm.= 30 D on.mm.= 0
25 Pu =947 Pu =0
PBH. = 76.7 PBH. = 0
p.cr =V [p.cr = 0
Toww. = 1l Touw. = 0
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bII3-2241 77 bII3-2246
Fow =0 Fow® =2.208
Qke. = 0 0 Q k2. = 0.598
D onmm.= 0 % @ D on.um.= 36
P =0 P . = 2004
PBH. = L PBH. = 0
p. e = 0 [p. ca. =0cobas
Towt, = 0 14.4 Toww, = 1l
48.6
blI3-2242 - bII3-2247
Few' =5.112 ‘ Fou' =2.869
Q ke. = 1.385 Q ke. = 0.774
Bl ™ D on.mm.= 114 D on.mm.= 73
= Pu =328 i P u = 305.2
H H PH. = 276.7 PBH. = 89.9
[p. cn. =0cobas [p.cn. =V
Toww. = I L J Town. = I
blI3-2243 bII3-2248
Few' =0 Fou' =0
Qke =0 Qke. =0
D on.um.= 0 D on.wm.= 0
P =0 Pu =0
PBH. = 0 PBH. = 0
p.en.= 0 [p.cn. = 0
Touw. = 0 Toun. = 0
bI[3-2244 bII3-2249
Few' =0 Fou' =281
Qke. =0 2 = Q k. = 0.762
D on.m.= 0 L D on.mM.= 50
Ph =0 d Pu =223
PBH. = ( 30 PBH. = 83.9
[p.cr.= 0 [p.cn. = VI
Toun. = 0 Toww. = 1l
30
blI3-2245 7 bII3-2250
Few' =0 29 9 Fon® =5.364
0 ke =0 I 0 k. = 1.454
D on.um.= 0 - 1 © D on.mm.= 87
Pu =0 S P u = 367.3
PBH. = PBH. = 158.5
p.cr.= 0 [p.cn. = VI
Touw. = 0 ﬁL‘ Touw. = Tl
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bII3-2251 bII3-2256
Few' =0 74 3 . Fou' =3.04
Qke. =0 % Q ke. = 0.824
D onmm.= 0 ) D on.mm.= 60
Pu =0 § 7 P = 1738
PBH. = PBH. = 1675
|-p er.= 0 44403 |'p e, =V
Town, = 0 Toww. = 1l
blI3-2252 bII3-2257
Few' =0 Fou' =0
Qe =0 Qke. =0
D onmm.= 0 D on.um.= 0
PH =0 PH =0
PBH. = ( PBH. = 0
p.en. = 0 p.en. = 0
Tow. = 0 Tow. = 0
Bll3-2253] = BlI3-2258
Fowt =0 A Fow' = 0813
ke =0 /é? Q ke, = 0.22
D on.um.= 0 D on.um.= 16
Pu =0 Pu =503
PBH. = 0 PBH. = 172.6
p.c= 0 216 [p. c1. =0cobos
Toun. = 0 Touw. = 1l
BII3-2254 BII3-2259
Few' =0 Fou' =0
Qe =0 Qke. =0
D on.m.= 0 D on.wm.= 0
Pu =0 PH =0
PBH. = 0 PBH. = 0
[p.cr.= 0 [p.cr= 0
Toun. = 0 Tow. = 0
bII3-2255 bII3-2260
Fow' =3.204 Fov' =0

Dg 0 Qe = 14 0 =0

o ) D on.mm.= 47 D on.mm.= 0

/Z P = 156.1 Pu =0
49 PBH. = 67.2 PBH. = 0

[p.cr =V fp.cr = 0
Touw. = H Touw. = 0

nrrnm
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bII3-2261 . bII3-2266
Fow' =394 ' Fow = 1.304
Q ke = 1.07 Q k. = 0.353
D on.mm.= 58 u D on.um.= 42
P u = 1821 ¥ Pu =176.9
PBH. = 168.1 PBH. = 0
lp.en = IV M. ca = VI
Town, = 1l Tow. = H
bII3-2262 bII3-2267
Few' =0 Fou' =0
Qe =0 Qke. =0
D onmm.= 0 D on.mm.= 0
PH =0 PH =0
PBH. = ( PBH. = 0
fp.cn. = 0 [p.cn. = 0
Town. = 0 Touw. = 0
(... [fB2s BlI3-2268
A Fou' = 1471 Fou' =0
S Q ke = 3.99 Qke. =0
D on.um.= 102 D on.mm.= 0
|1 £| P u = 3928 Pu =0
. 4 | PBH. = 213.2 PBH. = 0
80 fp. e =V [p.cn. = 0
Toun. = 1l Touw. = 0
- BII3-2264 BII3-2269
w Few' =13.123 Feu' =0
o Q k2. = 3.56 Qe =0
D on.mm.= 89 D on.mm.= 0
@ E| P h = 3528 Pu =0
4 4 PBH. = 174.8 PBH. = 0
60 [p.cn= V [p.cn. =
Toun. = 1l Touw. = 0
3 o | blI3-2209 bII3-2270
Qs & - -
Fen' =8.05 Few' =0
Q k2. = 2.182 Qke. =0
D on.mm.= 105 D on.mM.= 0
Pu =3299 Pu =0
PBH. = 314.2 PBH, =
p.en = IV p. e = 0
Toww. = I Touw. = 0
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BII3-2271 BII3-2276
Feu' =323 Fou' =6.281
J 0 ke = 8.756 of [Qxe =17
1 ol 1D onmm.= 192 N D on.mm.= 52
P H = 3945 P H = 1633
190 PBH. = 513.3 PBH. = 71.3
[p. ¢1. =Ocobag| | 44 Mp.ct = V
Tows. = H Toun. = H
BII3-2272 BII3-2277
Few' =0 Fou' =0
Qe =0 Qke. =0
D onmm.= 0 D on.mm.= 0
PH =0 PH =0
PBH. = ( PBH. = 0
fp.cn. = 0 [p.cn. = 0
Touw. = 0 Tow. = 0
34 bII9-2273 bII3-2278
Fem' =2.296 Fou' =0
Q k2. = 0.622 Qke. =0
@ D on.mm.= 54 D on.mm.= 0
Pu =184 Pu =0
PBH. = 167 PBH. = 0
[p.cn. = VI [p.cn. = 0
Town. = I Toun. = 0
bII3-2274 | BlI3-2279
Few' =0 Fou' =12955
Qke. =0 < | QK = 3511
D on.mm.= 0 < | D on.mm.= 80
Ph =0 P u = 3923
PBH. = 0 PBH. = 52
p.en= 0 /3.3 [p.on =V
Tou. = 0 Toww. = Tl
= bII9-227H bII3-2260
Fou' =24.44 Few' =10.76
Q ¢ Q k2. = 6.63 ~ Q ke. = 2.92
- (] D on.um.= 133 N D onmm.= 55
P u = 4912 P u = 169.1
PBH. = 301.8 PBH. = 131.3
=2 .on = V —140 o=
70 Towr. = Tl Towr. = T
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bII3-2261 bII3-2286
Fov' =0 Fou' =0
Ok =0 Qe =0
D onmm.= 0 D on.um.= 0
Pun =0 PH. =0
PBH. = PBH. = 0
|-p eh.= 0 rp e = 0
Towh. = 0 Towh. = 0
bII3-2282 bII3-2287
Feum' =0 Fou' =0
Qe =0 Qke. =0
D onmm.= 0 D on.um.= 0
PH =0 Pu =0
PBH. = ( PBH. = 0
p.cr. = 0 [p.cn. = 0
Tow. = 0 Tow. = 0
bII3-2263 bII3-22060
Fem' =0 Fou' =0
Qke =0 Qke. =0
D on.um.= 0 D on.wm.= 0
PH =0 PH =0
PBH. = 0 PBH. = 0
p.ev= 0 [p.cn. = 0
Tow. = 0 Toun. = 0
20 bII3-2264 blI3-2289
Fom' =1.468 Fou' =5.445
Qke. =039 | & Q k2. = 1.476
D on.wm.= 3/ d D on.mm.= 82
& P 1. = 198.6 P o= 2057
PBH. = ( 5 PBH. = 209.9
[p.cr. = VI [p.cr. = N
Towr. = 1l Tow. = 0
bII5-2289 bII3-2290
Fem' =0 Fem' =3.365
Qe =0 < 0 ke = 0912
D onmm.= 0 D on.mm.= 78
Pu =0 76 Pu =1745
PBH, = PBH. = 161.9
p. o= 0 [p.cr =V
Towh. = 0 Touw. = 0

nrrnm
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bII3-2291 bII3-2296
Feu' =0 Fou' =0.825
Qke. =0 < Q ke, = 0.224
D on.mM.= 0 — D on.um.= 24
P =0 P . = 86.01
PBH. = 0 sa.p PBH. = 25.13
p.cr = 0 Mp.cr = VI
Tow. = 0 Toun. =
18 blI3-2292 bII3-2297
7 Fem® =1.577 Fou' =0
0 ke. = 0427 Qke. =0
. D on.mm.= 24 D on.um.= 0
— P =8397 Pu =0
PBH. = 41.6 PBH. = 0
A L p.cr= V lp.cr= 0
Towd, = Tl Toun. = 0
%, bII3-2293 bII3-2298
Fom' =12.482 F cv’ =5.668
Q k2. = 3.383 - Q k2. = 1.536
o | D onwm= 120 —— ~ | D onmm.=100
Pu = 4434 Pu =4419
PBH. = 495.4 = j— PBH, = 122.2
p.ca =V 51 | [p. c1. = VI
Toun. = Tl Touw. = 1l
BII3-2294 BII3-2299
Fom' =8.846 Fou' =0
Q ke. = 2.397 8 K. = 00
' o | D onmm.= 154 ON.MM.=
1 [ L8 o, T Py, =0
154 PBH. = 336 PBH. = 0
[p. ca. = VI [p.cr =
Toun. = Tl Tow. = 0
69 bII3-2295 bII3-2300
PSP =99 F o =0
Qxe =27 Qke. =0
o D on.mm.= 114 D onmm.= 0
@ P = 3944 Pu =0
PBH, = 399.6 PBH. = 0
[p.ca. =V [p.cr = 0
Toun. = Tl Touw. = 0

nrrnm
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50 bII3-2301 bII3-2306
Fou' =5.473 Few' =0
Q ke = 1.483 Qke =0
0 D on.mm.= 118 D onmm.= 0
S P u. =360 PH =0
PBH. = 276.7 PBH. = 0
[p.ca. = 1l p. o= 0
Tou. = ocobas Tow. = 0
[ bII3-2302 blI3-2307
Fou' =255 Fou' =0
Q ke = 0,691 Qke =0
D on.mm.= b1 D on.mm.= 0
P u =231 PH =0
P6H. = 39,4 PBH. = 0
[p. e =V p. e = 0
Toww. = Tl Tows. = 0
. 63.4 | blI3-2303 bll3-2308
Fou' =274 Fov' =1,278
Q k2. = 0,743 = | Q ke = 0,546
D on.mm.= 64 D on.mm.= 40
pnz 20t |l ; 0| [Pw = 1226
PBH. = 52,5 PBH. = 62
[p.ca. =V 34.5 [p. cr = VI
Toww, = Town. = 1l
65.6 bl3-2304 bll3-2309
Fou' =7.263 7 Fov' =11,838
" / Q ke = 1.97 pk Q ke. = 3,208
N / D onmmw=67 | @° D on.mm.= 173
Pu =23735 || P H. = 476,1
PBH. = 0 169.8 PBH. = 504.5
p.cn.= IV fp.ca. = VI
Tows. = H Tour. = ocobas
bII3-2309 bll3-2310
Fov' =0 V=Z"zn Fem' = 3,063
Qe =0 & @ Y Q ke = 0,83
D on.mm.= 0 == D on.mm.= 28
Pu =0 P H = 160,9
PBH. = 0 PBu. = 40,3
[p.crn= 0 4 lp.cr= IV
Ton. = 0 Town. = 1l

n"ﬂm
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BI3-2311 BlI3-2316
Fem' =5.592 Feu' =0
A 1Q ke = 1515 Qke. =0
™ |D onmm.= 95 D onmm.= 0
P =460.3 Pu =0
PBH. = 227.5 PBH. = 0
[p. e = VI p.c.= 0
79,7 Toww. = 1l Toww, = 0
blI3-2312 bII3-2317
Feu' =0 Feu' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.mM.= 0
PH =0 Pu =0
PBH. = ( PBH. = (
p.cn. = 0 p.en. = 0
Tow. = 0 Touw. = 0
blI3-2313 = blI3-2318
Few' =0 A Fou' =5247
Qke. =0 N Q ke, = 1,422
D onmm.= 0 " /@ D on.mm.= 67
Pu =0 | P u = 3049
PBH. = 0 i PBK. = 207,8
p.en. = 0 [p. 1. =ocobas
Tow. = 0 Lo Toww. = Tl
bII3-2314 bII3-2319
Feuw' =0 Feu' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.mm.= 0
Ph =0 Pr =0
PBH. = 0 PBH. = 0
p.ev.= 0 p.ca.= 0
Tow. = 0 Touw. = 0
blI3-2315 bII3-2320
Fow' =0 Fow' =1.624
Q ke =0 " Q ke = 0.4
D onmm.= 0 S e D on.mM.= 43
Pu =0 P = 160.1
PBH. = 0 PBH. = 56.2
p.er.= 0 p.cr =V
Toww. = 0 30.0 Toww. = 1l

n"ﬂm
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blI3-2321 bII3-2326
Fev' =0 Feuw' =0
Qke =0 Qke. =0
D onmm.= 0 D onmm.= 0
PH =0 PH =0
PBH. = ( PBH. = 0
p.en.= 0 p.ca. = 0
Tow. = 0 Toww. = 0
blI3-2342 bl[3-2327
Fou' =0 Few' =13.818
Qke =0 ke = 3.745
D on.mm.= 0 D on.mm.= 141
Pu =0 PH = 3822
PBH. = PBH. = 647.8
fp.cn. = 0 [p. c1. = ocobas
Town. = 0 Toww. = 1l
BIl3-2323 BII3-2328
Fov' =0 — —— | F o' 29912
Qke. =0 Q ke. = 2.686
D onmm.= 0 = D on.mm.= 98
PH =0 P H = 310.2
PBH. = 0 PBH. = 336
p.en.= 0 90 fp.ca = VI
Toww. = 0 Toww. = 1l
bl[3-2324 bll3-2329
Fov' =137 Few =0
Q ke. = 0.371 Qke. =0
D on.mm.= 41 D onmm.= 0
P H =96 PH =0

40 PBH. = 88 PBH. = 0
[p.en. =V p.ca. = 0
Tow. = 1l Toww. = 0
blI3-2349 bl[3-2330
Fow' =0 Fow' =2.607
Qke =0 - Q k2. = 0.706
D onmm.= 0 N D on.mm.= 98
PH =0 P H, =263
PBH, = PBH. = 189.7
p.en.= 0 65 fp.ca. = VI
Town. = 0 Toww. = 1l

n"l\m
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blI3-2331 bII3-2336
Fou' =0 Fev' =0
Q ke =0 Qke =0
D on.mm.= 0 D on.mm.= 0
Pu = Pu =0
PBH. = PBH, =
p.ev.= 0 fp.ca. = 0
Toww. = 1l Touw. = 0
blI3-2332 blI3-2337
Fou' =0 Feu' =0
Qke. =0 Qke. =0
D on.um.= 0 D on.mm.= 0
Pu =0 Pu =0
PBH. = ( PBH. = 0
fp.cn. = 0 fp.en. = 0
Town. = 0 Town. = 0
blI3-4333 bII3-4336
Fem' = 2.541 Fev' =0
[ Q ke = 0.689 Qke. =0
@ | D on.mm.= 8 D onmm.= 0
= =1 |[P s = 1854 P b= 0
= =a PBH. = 90.9 PBH. = 0
<0 [p. e = VI p.c.= 0
Towr. = 1l Toww. = 0
bl[3-2334 blI3-2339
Fou' =0 Fev' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.mm.= 0
Ph =0 Ph =0
PBH. = 0 PBH. = 0
p.ev= 0 fp.ca. = 0
Towh. = 0 Touw. = 0
blI3-2339 bII3-2340
Fou' =0 Feu' =0
Qke. = 0 Qke. =0
D on.mm.= 0 D onmm.=0
Ph=0 Ph =0
PBH. = PBH. = (
p.ev. = 0 fp.ca. = 0
Towh. = 0 Touw. = 0

nrrnm
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blI3-2341 blI3-2346
Fev' =0 Fev' =0
Qke. =0 Qke. =0
D onmm.= 0 D onmm.= 0
PH =0 PH =0
PBH. = ( PBH. = (
p.en.= 0 p.cr.= 0
Tow. = 0 Tow. = 0
blI3-2342 bll3-2347
Fow’ =6.309 Fov' =0
= Q k2. = 1.764 0 ke =0
=l 1 D on.um.= 116 D on.mm.= 0
Pu = 3418 PH =0
114.3 PBH. = 295.6 PBH. = 0
[p.cn. = VI p.en. = 0
Tow. = 1l Tow. = 0
blI3-2343 bll3-2348
Fov' =5.709 Fev' =0
> = 0 ke. = 1.547 Qke. =0
ic—d D on.mm.= 96 D on.mm.= 0
Pu =3078 PH =0
94.3 | | PBH. = 255.6 PBH. = (
[p. e = VI p.c= 0
Towr. = 1l Towr. = 0
bl[3-2344 bll3-2349
Fev' =26.12 Fev' =0
Q ke = 7.08 Qke. =0
D on.MM.= 65 D onmm.= 0
¢ o | P o= 2042 Py =0
%0 | PBH. = 94.3 PBH. = (
fp.ca. = I p.cr.= 0
Tow. = 1l Tow. = 0
blI3-2349 bll3-2350
Fow' =0 Fov' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.mm.= 0
P =0 Pu =0
PBH, = PBH. = 0
p.en.= 0 p.c= 0
Town. = 0 Tow. = 0

n"ﬂm
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blI3-2351 bII3-2356

Fev' =0 Fow' =1.6

Qke =0 0 k2. = 0.4

D onmm.= 0 & D on.mm.= 26

Ph =0 PH =1208

PBH, = ( PBH. = 43,7

p.ev.= 0 20 fp.cr. = VI

Towr. = 0 Toww. = 1l

bll3-2352 bll3-2357

Fou' =0 Fen' =0

Qke. =0 Q ke =0

D on.mm.= 0 D on.mm.= 0

P =0 Pu =0

PBH, = ( PBH. =

p.cn. = 0 fp.en. = 0

Towr. = 0 Toww. = 0

bll3-2353 bll3-2390

Fou' =0 Fev' =0

Qke. =0 Qke. =0

D on.mm.= 0 D on.mm.= 0

Ph =0 Ph =0

PBH. = ( PBH. = (

p.cr.= 0 p.c.= 0

Towt. = 0 Touw. = 0

bll3-2354 bll3-2399

Fev' = 2.66 Fen' =0

Q ke = 0.73 Q ke =0

D on.mm.= 30 D on.mm.= 0

P u =189.9 PH =0

PBH. = 165.2 PBH. = 0

[p. c1. = ocobag fp.c. = 0

Towr. = H Toww. = 0
18 bll3-2359 bll3-2360

Fou' =0.86 Fev' =0

Q ke. = 0.4 Qke. =0

= | D onmm=25 D onm.= 0

Pu =948 PH =0

PBH. = 48.4 PBH. = 0

[p. e = VI p.ca.= 0

Towr. = Tl Toww. = 0

nrrnm
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bII3-2361 bII3-2366
Few' =0 Feu' =0
Qke. =0 Qke. =0
D on.mm.= 0 D on.mm.= 0
Pu =0 Pu =0
PBH. = ( PBH. = (
p.en.= 0 p.cr.= 0
Touw. = 0 Touw. = 0
bII3-2362 bII3-2367
Few' =0 Fou' =0
Qke =0 Qke. =0
D on.mm.= 0 D on.mM.= 0
PH =0 Pu =0
Pu. = PBH. = (
fp.cn. = 0 p.en. = 0
Touw. = 0 Touw. = 0
bII5-2363 bII3-2368
Few' =2.317 Few' =0
Q k2. = 0.628 Qke. =0
2 1) onum= 32 D on.mM.= 0
P =8038 Pu =0
2 PBH. = 572.3 PBH. = (
) p.en = IV p.c= 0
Toww. = I Touw. = 0
BII3-2364 BI13-2369
Fou' =44 Feu' =0
Qe = 1.2 Qke. =0
o D on.mm.= 68 D on.mm.= 0
P =2707 Pu =0
PBH. = 291.6 PBH. = (
60 [p.cn. = VI p.cr.= 0
Town. = I Touw. = 0
BII3-2365 BlI3-2370
Few' =0 Fou' =0
Qe =0 Qke =0
D onmm.= 0 D on.mM.= 0
PH =0 Pu =0
Pu. = PBH. = (
p.en.= 0 p.c= 0
Touw. = 0 Touw. = 0

n"ﬂm
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BII3-2371 es2 | BII3-2376
Few' =0 Fou' =3.166
Qe =0 0 ke. = 0.858
Donmm=0 |& D on.mm.= 74
Pu =0 N P u = 289.1
PBH. = ( PBH, = 179.8
poean= 0| [p.cr. = VI
Touw. = 0 Town. = Tl
bII3-2372 64 bII3-2377
Fow' =0 Fov' =2.844
Qke. =0 Q ke. = 0.771
Donmm=0 | | | D on.Mm.= 72
Pu =0 < | P H o= 2632
PBH. = PBH, = 159.7
fp.cn. = 0 [p.cn = VI
Touw. = 0 Toww. = I
1 bII5-2373 = bII3-2376
Fem' =5.267 Feu' =301
5 Q ke = 1427 | <| | Q k2. = 0.816
@ D onmm.= 56 > 1D onwm.= 70
P u =161.5 Pu =281.4
PBH. = 58.6 PBH. = 149.9
48,55 p.en = IV fp.cr. = VI
Toww. = 1l Toww. = 1l
bII3-2374 58 || bII3-37Y
— [|Fen =272 Fou' =4.377
Q ke. = 0.74 Q ke. = 1.19
<D onwm=84 | D on.um.= 94
Py = 388 \0 P u = 3857
PBH. = PBH, = 255.3
| fp.ca. = I [p.cr. = VI
set Touw. = H — Town. = Tl
bII5-237H bII3-2360
Fow' =0 Fou' =377
Qke. = 0 Q ke = 1.022
D on.mm.= 0 D on.mm.= 76
Pu =0 P u = 2669
PBH, = PBH. = 291.1
p.en.= 0 fp.ca. = VI
Tow. = 0 Toww. = Tl

9N




bll3-2381 86.5 blI3-2386
Fov' =0 Fou' =591
Qke. =0 Q k2. = 1.61
D onwn=0 |o D on.um.= 91
PH =0 PH = 3458
PBH. = 0 :/rfl PBH. = 99
p.en.= 0 [p.cr. =V
Toww. = 1l Towh, = 1l
blI3-2362 bI[3-2387
Fev' =2.168 Fou' =0
Q k. = 0.588 Qke. =0
& D on.um.= 26 D on.um.= 0
° P . = 81.7 P =0
PBH. = 62.8 PBH. = 0
[p.cn. = | [p.cn. = 0
Towr. = 1l Toww. = 0
blI3-2383 = bll3-2388
Fov' =1.885 Fou' =1.66
N Q ke. = 0.511 Q ke. = (.46
Q D onmm=32 |3 D on.mm.= 42
Pho=1005 [* Pu =1719
PBH. = 88 PBH. = 83.3
p.en = IV U (Tp.cn. = VI
Tow. = 1l Toww. = 1l
: - blI3-2304 > bIl3-2389
For’ =303 ™ [For =847
0 Q ke. = 0.82 Q ke. = 2.29
® D on.mm.= 57 - D on.wm.= 113
P . = 3024 = PH = 3215
R PBH. = 0 PBH. = 368.1
45 [p.en. = IV [p.cr. = VI
| Touw. = 1 T ey W Touw. =
blI3-2385 bll3-2390
Fow' =839 Fow' =0
0 Q ke. = 2.3 Qke. =0
* D on.mm.= 90 D on.mm.= 0
P = 2736 PH =0
PBH. = 270.3 PBs. = 0
Ve p.er = V p.cr = 0
63 Tows. = H Tows. = 0

nrrnm
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bII3-2391 bII3-2396

Fev' =0 Few' =0

Qke =0 Qke. =0

D onmm.= 0 D onmm.= 0

PH =0 PH =0

PBH. = 0 PBH. = (

p.ar.= 0 p.cr.= 0

Towr. = Tl Tow. = 0

bll3-2392 bll3-2397

Fou' =0 Fen' =0

Qke. =0 Q ke =0

D onmm.= 0 D on.mm.= 0

Pu =0 Pu =0

PBH, = 0 PBH. = 0

p.cr = 0 p.en. = 0

Towr. = 0 Tow. = 0

Bll3-2393 bll3-2398

Fou' =0 Fev' =0

Qke =0 Qke. =0

D onmm.= 0 D onmm.= 0

P =0 PH =0

PBH. = 0 PBH. = 0

p.ar.= 0 p.c= 0

Toww. = 0 Toww. = 0
2o | 132394 BlI3-2399

Feu' =1.119 Fen' =0

Q k2. = 0.303 Qke. =0

D on.mM.= 25 D onmm.= 0

Pu =972 PH =0

PBH. = 83.5 PBH. = 0

[p. e = VI p.c.= 0

Towr. = Tl Tow. = 0

bll3-2395 bll3-2400

Fou' =0 Fev' =0

Qke =0 Qke. =0

D onmm.= 0 D on.mm.= 0

Pu =0 Pu =0

PBH. = 0 PBH. = 0

p.er = 0 p.en. = 0

Towr. = 0 Toww. = 0

nrrnm

DA N




